Simplification
(Previous Year Questions)

Simplification (CPO-2020)

1
The value of 8 —= 3 + 6 of 2 + (4+40fzj+ 8

1
+(4X8+ijéis:

8_3+60f2+(4+40flj+8+(4x8+ljxl
4 4
T /T 90 |
7 7 97 97
A -7 B 7 © (D) %~
The value of

6.35xX6.35x6.35+3.65%x3.65%x3.65

63.5x63.5+36.5-63.5x36.5
equal to:

6.35x6.35x6.35+3.65x3.65%x3.65

63.5xXx63.5+36.5-63.5%x36.5 T o
A H
(A) 0.01 (B) 10
1 (D) 0.1
40—%of32
The value of 3 is :
37——0f(34—6)
4
40—%of32
3 = I =1
37——0f(34—6)
4
A)l B) O C 1 D L
() B0 (©-5; (D
1 3 .1 1 7 o9
5_+—of 5—-7— —
4. The value of( 4 70 2] ( 8 QOjX

1
5+ 20f i

L (50l

( 1. 34 —j:(slqlgijxﬂ_
7 9 8 20 21

(5 2of — )WHFTSIWHT{I

35
(4)0 B) 54

15
(€)-2 (D) 5g
The value of

0.325x0.325+0.175x0.175+25 x0.00455
5% 0.0065x%x3.25-7%x0.175x%x0.025

05
1.5 is:
0.325x0.325+0.175%x0.175 + 25 x 0.00455

5% 0.0065x%x3.25-7%0.175x%x0.025

Ewmﬂ |
15 Eif|

(A) 3 (B) O
(C) -1 (D)-3

sliol 13 Siiall;
The value of 3 2of §+ 8 7 RE

1 3 1 .3 .
3%+2— of 1i + (—+—Xlzj T A FG L |

2 5 8 7
55 25
@A) 54 (B) 54
35 5
€ o4 (D) 5%
The value of 2%_2— fl% (% lxljj

1 1 3 (3 1 .3
2§+2—0f1— (g —x1— jwmﬂaﬁw\'?

2 5 7 4

e 5 25

) 24 (B) 24

o5 o 38
() 24 (D) 24
The value of
O.325><O.325+O.175><O.175+25><0.00455+E

5x0.0065%x3.25-7x0.175x0.025 1.5

is /=1 A 0 ?
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10.

11.

12.

13.

(B) 3

7
(©0 (D) 5

1 1 3 1
The value of (5+20f§j + (5—+—0f—j =

4 7 2
51—71—9i XE is :
9 8 20, 21

= HH 0T L2

35 o 15

) 22 B) 28

(C)—=2 (D) 8

4.35x4.35x4.35+3.25x3.25x3.25

The value of

1S
4.35x4.35x4.35+3.25x3.25%x3.25

43.5x43.5+32.5x32.5-43.5x32.5

43.5x43.5+32.5x32.5-43.5x32.5 PTHM F
(A) 0.0076 (B) 0.76
(C)0.076 (D) 7.6

Th al f g;iofi_ixll B 8
€ value o 310 9 5

is :
2 3 4 4 1 8
x1 A

25 14
(A) Y (B) EY
17 49
© 5 D) 75

Thevalueof-7+[5+1+2-{4+(40f2+4)+ (4
+4 of 2)}]is:
-7+[5+1+2-{4+(4of2+4)+(4+4of2)}]
A T 2

40+§of32
4

The value of 3 is :
37 + ZOf(34_ 6)

40+§of32
4

3 T A 1A R
37+Zof(34—6)

14.

15.

16.

17.

18.

3 9 3 3
@A -log Bl ©255 Dl
The value of
5.35x5.35x5.35+3.65%x3.65x3.65
53.5x53.5+36.5x36.5-53.5x36.5 5 caual
to:

5.35x5.35x5.35+3.65x3.65%x3.65

53.5x53.51365%x365-535%x36.5 '
Bk

(A) 0.9 (B) 90

(C) 0.0 (D)9

1
Thevalueofl—3+60f2+(4+40fz)+8+(4

1.1,
x 8+ Z)Xg is:
1—3+6of2+(4+40fl)+8+(4><8+l)xl
4 4’7 8

1AM 719 FL

69 7 69 7
(A) -~ (B) — ©) (D) 3
The value of

427 x 427 x 427 + 325 x 325 x 325
42.7x42.7+32.5x32.5—42.7x32.5 >
427 X 427 x 427 + 325 x 325 x 325

42.7%x42.7+32.5%32.5-42.7x32.5 1 1
A H

(A) 75200 (B) 75.2

(C) 7520 (D) 752

Thevalue of 7+ [5+1+2-{4+ (40f2+4)+ (5~
5 of 2)}] is.
7+[5+1+2-{4+(40f2+4)+(5+5of2)}]=ram
Elkead

7

(4) 5 (B)-7
7
© 3 (D)7
2 3 4 4 1 8 31

The value of 3710 of §—§X1§+E+Z+§
1S.
2 3 4 4 1 8 3 1 .
37 10% 9 5 g s Tty TR

17 29 14 49
A5 B 5 © 5 12
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[ ]
Solution _05
1.5
1 1
1. (D)8-3+60f2+(4+40f —)+8+(4x8of ) __[0:825+0.175]* 1
4 4 (0.325)2-(0.175)* 3
1 32x 4
8_3+6x2+(4+40f1)+8+( 3 j (0.325+0.175) 1
8 3-10x4-84 16 (0.325-0.175) 3
1 _5_ 1
8—3+12+5+16 15 3
11 _ 50-5_45_
8-+ 5+16 15 15
1 1 .1 1 (3 1 .3
+ = . (C) 3= - 2— 0f1—+(_+_><1_
24+ 7 3723 8 77 4
%6+1_ 97 10 5 f§+(§+lj
4 4 3 2%57°(8 4
1 (6.35)° +(3.65)° 0 1.5
2. D) 100 (6.35) + (3.65) - 6.35 x 3.65 - V4
5 5 20+15
_a+h’ 6 8 24
a’+b*—ab A
3
(a+b)(a2+b2—ab) T 24
a’+b’-ab
7 1
= a+b=6.35+3.65 (A) g—gx%+(§+zj
19 o1
=700~ O 7 15
100 7. 1.5
3748
3
107,552 40.24 16 L 7.5
. “37-21 16 12 8 24
3. (4 37_%@8 37-21 16
(0.325)° +(0.175)" +2(0.325x0.175)
(A) P 2
(QAEJ (E_ﬁx QOJE . (0.325)" —(.175)
4 14)79 8 189)21° RUTI (a+b)’
I _p? = (a+b)a-b
49 [46 5711 a (a+b)(a=b)
2 19 6l217° _atb
a—b
49 18 11 500 5
2 77 21 50 15
=3-5=-2 50 5 55 11
= - T > ="
5. (1) 0:325%0825+0.175x0.175+25x0.00455 15 15 15 3
) 5x0.0065+3.25-7x0.175 x 0.025
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12. (D)

(E;ij;(ﬁ_ﬁ;@jxg
G=D+13T"12)9 8 2021

ﬁ;(ﬁ_ﬁ)xﬁ
=5+ 579 ) a0
77] 11

49
A Vo
18) 21

:>5+7*(

49 18 11
2 77 21

63
+ — +3=
=5 21:>5 3=8

=5+

a®+ b’
a’+b*—ab
(a+b)(a’+b”* —ab)
(a2 +b’ —ab)

4.35%x4.35%x4.35+3.25x3.25%3.25
"~ 10(4.35%4.35+ 3.25x3.25—-4.35x 3.25)

_ (4.35+3.25)
10

=76
2 3 4 4 10 8 3 3 1
XX ————
371009 579 15 4 4 2
2 4 4 10 8 3 3 1
33 5 9 15 4 4 2
2 30 4 10 15 3 3 2
374 5978 4 41

8 15 3 3
5 —X—-"4=

98 4 2
5 5533

3 4 2

60-20-9-18 49
12 12

—7+{[5+1+2—{4+(2)+%H

40+3x8 64 _ 3

13.0) 3773%7 58 29

5.35x5.35x5.35+3.65x3.65%x3.65
100 [5.35 x5.35+3.65x3.65-5.35x% 3.65]

14.(C)

a®+b® a+b
(a2 + b? - ab)100 = To00

(5.35+3.65)
: B ——

=0.09
100

15.(4) 1—3+12+(4+(1))+8+(4><8><4)><é

=1 1+l+16
T4

2
4—1+2+64_@
= 4 4
3 3
16. (&) 2P 4,y

a’ N b? _ab
100 100 100

— (427 + 325)100
= 75200

17. (B) 7{5+1—2—{“(8%}(&%)}}

=7+ 5+l—{(4+2)+1}
2 2
7 2_6_1}
2 2
7. 11—12—1}
2
T
-1

18 @ 2,0 4,10 15 3
- (B 3712 5 9 8 4

_g 15,38 __ 5.3
VT 9 T2 T¥T3 2
30-10+9 29

6 6
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Simplification

(CPO — 2019)

What is the simplified value of/¥Ra1 A1 10 & :

7l+210f1§— §+lx1§ _S
3 2 5 \8 7 4, 24

1 1
22 ©1 D5

What is the simplified value of/ TR 9 Fd &

@2 (B

2 15 2 1 3+4
4-——— [x—+—of 2 ———
1+ 1L 16 3 4 3°%14°
1
—+2
3
a2 & o2 i
A1z Bz ©5z O

(320+ 342+ 530+915)+(20+ 22 -x+ 18) =43,
then the value of x is :
a5 (320 + 342 + 530 +915) = (20 +22-x + 18) =
43 %, 1 x = A FAENT 2

(A) 11 (B) 23
(C) 26 (D) 15
1
The value of 7—74\@ is closest to :
1
725 T T W o fem €72
(A) 4.1 (B)4.2
C)1.2 (D) 3.7

The value of lies between :

0.325x0.325+0.175x 0.175— 25 x 0.00455
5x0.0065 % 3.25—-7 x0.0175x 0.025

0.325x0.325 + 0.175 % 0.175 — 25 x 0.00455
5% 0.0065 x 3.25—7 x 0.0175 x 0.025

frer A R ?

(A)0.25and 0.35  (B)0.05and 0.15

(C)0.15and 0.25 (D) 0.35and 0.45

The value of 5+[5+8-{4+(4of2+4)-(2+4
of 2)}] is:
S+[5+8-{4+(4of2+4)-(2+4 of 2} I AA I

RISt

T |
() > CE
8 7
(©) = (D) =
29 23
The value of (5%+;0f%j+(5%—7§+929—0j X

11 1
— 4+ 2_20f—) 1 :
21 ( 2) 1

(51+§of1j+(51—7z+93jx2+ 2. 20fL
1 7%2)° P98 ) 2

1 A 1 RIS

A 2 B) 5 C)3 D Z
@5 B5 (©3 @Oj
What is the value of

0.74x1.23x0.13
(0.37)°+(0.41)°~ 8(0.39)° °

0.74x1.23x0.13 ;
(0.37)°+ (0.41)° - 8(0.39)° T 1 I FIfr
-1
3

(A) (B) 1 (C)-1 (D)

[N

A student was asked to find the value of

20f4+[3><30f4]
{4 (3 3) 9} 3 9 5 5
STl S X5 % his
9 \5 2) 25 2,345
3 4 6

2
answer was R What is the difference between

his answer and the difference between his
answer and the correct answer?

i;[i;ijxi
TH foramet =1 5 l35° 55 |
{20f4+(3><30f4ﬂ
3 9 55
2,35 =1 9 TR % fau et T
<L 92
3 4 6
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10.

11.

12.

13.

m|ww§ o7 | SHeh ST 3T TeT ST & s =l ST

T i ?

A i B 1 C 1 D ﬂ

@ B ©¢ (D3
5-[2+3(2-2%x2+5)]+5

The value of is

4><4+40f(4+4+40f4)

5-[2+3(2-2%x2+5)]+5

= G J1 w2
4x4+40f(4+4+40f4) ’
3 3
A) 4~ B) 72
(A %30 (B)
3 2
C) 3— :
(©) 315 (D) £

The value of 9 x [(9 —4) +{(8 = 8 of 4) + (4 + 4 of
2)}] is
9x[9-4)+{8+80f4)+ (4 +4 of 2)}] RIHF M@
Eaisel

15 15
(A) 20 (B) 60 ©) o (D) &
4 2
The value of
4.669 x 4.669 ~ 9 x (0.777)°
(4.669) +(2.331) +14(0.667)(2.331) 5 (1 ~
k), where k = ?
4.669 x 4.669 9 x (0.777)°
(4.669) +(2.331) +14(0.667)(2.331) 7 ™ 1
k) d k=2
(A) 0.666 (B) 0.647
(C) 0.467 (D) 0.768
b2t
The value of 3 4 ° lies be-
[1 1_1}[1;1 1)
55 5/ \5 55

tween :

3]

3 4 6 3

[1 fl;lj;[l;lxlj 1 7 foreer we § g 2
5%575)7\575

5 55

(A) 10.2 and 10.8 (B) 4.2 and 4.4

14.

15.

le6.

17.

18.

19.

(C)8.2and 8.8 (D) 0.4and 0.9

The value of ,/11+ 218 is closest to:

J11+ 218 =1 A foReer e § 2
(A) 4.8 (B) 4.4
(C) 3.8 (D) 4.1

The value of/=1 H1F T Q|

1 1)1 .1 1.1 .1
35722, R

3 1.1 olis T 1 1°

S x— X+

10 63 973 6
A 2 B 2 C +
A 5 ®) 5 © 75
027
(D) 5

(0.18)* + (0.21)°

The value of

(0.39)* +81(0.07)* ©

(2.4)" +3%(11.52)+9
(2.4)° +6(2.4)" +3x(17.28)

lies between:

2.4)" +3%(11.52)+9
L (24) +3x%( )+ =1

" (2.4)° +6(2.4)" +3x(17.28)

(0.18)% + (0.21)°
(0.39)° +81(0.07)

T forerer oiter feorm 7 2 (A) 0.4 and 0.5
(B) 0.7 and 0.8
(C) 0.5and 0.6 (D) 0.6 and 0.7

The value of /g — /17 — 2./72 is closest to:

6 - 17 - 2J72 =1 A foReer feram € 2
(B) 2.7

(C) 2.1 (D) 1.7

The value of 8 +[(9-5) + {4 +20f4) - (8 +8 of
16) + (4 x 2+ 8)}]is:  8+[(9-5)={(4+20f4)
~ (8 +80f 16) + (4 x 2 + 8)}] T M I FTC |

(A) 2.4

o2 g2 32 23
(A) 5 (B) 53 23 D) 3
The value of

17.35+%of55—7

2 1

(42+6><8.35)—$of(§—g)+[291+(80+8)] :
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7

17.35 + L of 557 (21+21_1j+21><52+120f 41
3 (2 1 A F - 3 26/ 3 38 3 4
(42+6><8.35)—7Of(7—7)+[291+(80+8)] 1 1 1 1 3 ) . His an-
7 \8 5 3-+4-of 5-+5 - x—+2=
A) 1 (B) 3 5 2 3 3 4 3
(C) 2 (D) 4 swer was 6 /7. What is the difference between
5 the correct answer and his answer?
56+ - of27 -8 L1 1) 13 a1
20. Find out the value of - 33f29 > : ooy (2§+25—gj+2§x5§+1§0f 4Z
_° of (29— -
5019719 hid sLealoslosly2, g2
5 2 3 7374 73
56+ 20f27_8 AT FreRTe o FoTT =e1 TR o | SR SR 6 /7 o1 | HE S
3 TR SEeh ST o ot SiaL 91 I |
T AT FA RIS |
15—%0f(29—14) T 9 5 ) 6
(A) 72 (B) 1 © % [ D5
(A)12  (B)11 (C)10 (D) 15
21. If /0.00576 xy =2.4, then what is the value| 26. The value of /9 011642 is closest to:
of y?
afe \/0.00576 xy =2.4 ¥, Ay FAF FNE ? 9-2y11-62 19 fereh e &2
(A) 2400 (B) 3600 (A) 2.7 (B) 2.9
(C) 1200 (D) 1000 (C) 2.4 (D) 2.1
5 5 27. The value of
(2.8)" +(2.2) \ .
22. What is the value of 3 4-3+2x(4-2)-3+4x3+2+4
(28)° - 28 x 22 + 484 413 ax(2-4)x 413 dofa 1S
3 3
(2-8)" +(2.2) m_ . 4-3+2x(4-2)-3+4x3+2+4
(28)" — 28 x 22 + 484 ' 4+3+4x(2-4)x4+3+40f3 1AM A
(A) 0.5 (B) 0.01 e
(C) 0.05 (D) 0.02 39 -
A-32 (B)32 (O — (D)=
(0.321)° +(0.456)° — (0.777)°
23. The value of 557 5.107)(0.76)(0.777) 1
1 T T FITT 2 28. The value of 17 + 1242 is closest to .......... .
(A) 60 (B)-6
C)-3 D) 30 1
) ®) 7\/— =1 A e e § 2
24. The value of 17 +12v2
5-2:4x[5-(3-4)]+5x4+2 of4 (A) 1.4 (B)1.2
[5-(3-9)] ort (C)0.14 (D) 0.17
4+4+8 of 2x(8-5)x2+3-8+20f8
- , (0.013)° +(0.007)(0.000049)
' 29. Thevalueof (e 5 013(0.013-0.007)
P s |
(A) g (B) 3 ©) 35 2 )
25. A student was asked to find the value of (0.013)” +(0.007)(0.000049)
(0.007) +0.013(0.013-0.007) 71 11 ¥
Eal L
(A) 0.06 (B) 0.02
(C)0.07 (D)0.04
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Soluytion
1 31 3) 5 5 1 4
1 (©) 737250 “E‘(g ?“Z)‘ﬂ 131 13
Using BODMAS Rule 2107
2 5 8 (3 1 7] 5 3 (60—xj =43
—_— X —| -4 —X— |——
3 2 5 \8 7 4) 24 49 = 60-x
§_4 (3 1] i = x=11
3 8 4) 24 1
4. D) T—=
z(5) 5 P r-as
12 \8) 24
- 1 Y ><2+£
S - 2 2-J3 2+3
12 24 (2-+3) 2> R
24
:>£=1 =2+ /3 (. J3 =1.73)
=2+1.73=3.73
(0.325)% +(0.175)° -2x0.175 % 0.325
s @A (0.325)° - (0.175)°
2. (D) 1_;2 1529 7
4-—= 16 3 4 27+64 (0.325-0.175°  (0.325-0.175)
T+g— R (0.325)* - (0.175)* ~ (0.325+0.175)
—+2
3
0.15
.................. | T = 05 0.3
Solving Ist column '
6. (C) 5 +[4+(40g2 ~4)-(2+40M2)]
Using BODMAS Rule
- 1
- 2 || 7 S+[13-#4+(2)- |3
4- = 4-=
3
5 +[13-6- )]
(245 1
= 13 - 13 5+[14—6+ Z]
Using this value in original equation 1
8 15 2.9 7 S+[7+ 7]
X -—— —_
13716 3 4 91
5 [§] 5%x4 _ @
8 1.3 1 U= "o T 29
13716 2 13
21.3, f E_§;189
8.2 1 . B |37y o 8 20 /"
137163 13
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2 fl
(20f 5)
Using BODMAS Rule
21 14 46 63 20 11
—X— | | ———X X—+2
4 3 9 8 189) 21
49 (46 5) 11 499 (77 11
2 "9 82122 |18 )f a2
49 18 11
—— X—X——+2
2 77 21
7><3_|_2
7
=3+2=5
Solving denominator
(0.37)* + (0.41)° - 2% (0.39)°
=(0.37)*+ (0.41)° - (0.78)
As we know,
(a+b+c)
a3+b3+(:3—3abc=T
[(a=b)*+ (b-c)? +(c-a)]

If atb+c =0

a’+ b3+ c® = 3abc

= (0.37)° + (0.41)* = (0.78)°
= -3 x (0.37) x (0.41) (0.78)

0.74x1.23x0.13 -1

=7 3x037x0.41x0.78 3
First solving

20f%+(3><§0fi)

3 5 5
=gxi+3 é><i

3 O 5 5
_i_(ﬁj_ixé_S_O
T 27 \25) 27736 243
Second

4.(3.31,2
9 (5 2) 25

I
|
X
|
X
|
RS

Third

2 3 .5 2 3 5
Z.2%6f2 = 22242
34 6 3 476
_ 2.5
3 8
2 8 16
_2.,8_16
375 15

Putting respective values at original place

2s5)
i)

2 50 15

2
=X
5

5-[2+3(2-2x2+5)-5]+5
4><4+40f(4+4+40f4)

Solving numerator
5-[2+3(3)-5]+5

10. (A)

= 5-[6]=5
_s_6_ 19
- %" 575

Solving Denominator
4x4+40f(4+4+16)

17
4 x4 +4of

Y
4xa+17 = 2
' 17
2)
5 19x17

323 _ 43
80 80
11.(B) 9[(9-4) + {8+ 8 of 4) + (4 = 4 of 2)]

oo-[(3)-m]

—X—X =
5 243 16
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, 23. (B)
4.669 x 4.669 —9(0.777)
12. &) (46697 +(2.331) +14(0.667)(2.331) 24. (A
25. (D)
2 2
2 (4.669) 2—(2.331) 26. (C)
(4.669) +(2.331)" +2.(4.669)(2.331)
4-3+2%(4-2)-3+4x3+2+4
a’-b> a-b 27. (©) 4+3+4x(2-4)x4+3+40f3
(a+b)2 T a+b By rule of BODMAS
N 4-3+2x2-3+4x3+2+4
_ 4.669-2.331 4+3+4x(2-4)x4+3+40f 3
4.669+2.331
9.338 :4—3+2><2—3+4><3+2+4
= — =0.334 4+3+4(-2)x4+3+12
Given that 3 3
0334 = 1-k 4—§><2—3+4><§+4
K = 0.666 = 3 3
4+ > x(-2)x4+—
1_{19_[19_@} ! 12
B ® 3 L4 \6 6 _ 4-3-3+6+4 8
. 1 1 1 1 1 1 = _
[X+j+[+xj vV A 16— 24+1
5°5 5/ {5 55 4 4
51 8X4_ _g
= 12 =4.25 =- - - 5
It will lies between 4.2 and 4.4 1 1
A 28. (D) =
14. (B) X = J11+2V18 \/(\/g)2+(\/§)2+2><\/§\/§ \/(\/§+\/§)2
X = \/32+(\/§)2+2><3.\/§ 1
oy
= (3+\/§) Vo -8 o
= Now we take rationalization
x =3+1.414
X = 4.414 1(~9 - V8)
15. (C) = (Vo +8)(\Vo - 8)
16. (D) Jo-J8
=1 =3-2.82=[18] ~ [17]
17. (A)
3 3
0. (A - B (0.007)* +(0.013)* -~ 0.013 x 0.007
- W Nowlet, 0.013 =x,0.007 =y
20. (B
(B) <+ v (x+y)(x*+y° - xy)
21. (D) :>X2+y2—xy:> <2 4y _xy
22. (C) =0.013 +0.007 =0.02
m HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



Simplification (CPO — 2018)

675x675x675+325%x325%x325
67.5x67.5+32.5x32.5-67.5%x32.5

is

euqual to:

Frafafea # & forass aeR &

(A) 100 (B) 10,000
(C) 1,000 (D) 1,00,000

Two numbers are in the ratio 4 : 5. If their HCF
is 16, then the sum of these two numbers is:

T T 4 : 5 o 31U § T | FlS S HewH THTad
(HCF) 16 ®, 9157 S Seisti =l I grm:

(A) 144 (B) 124
(C) 160 (D) 150
5 = 7 (o] 5 10 5 1s equ O:

Frefafaa & @ fres e #:
A Z B 8
(A) (B) =

34 41
©) 55 (D) 55

Two numbers are in the ratio 4:7. If their HCF
is 26. then the sum of these two numbers will
be:

S HE 4 : 7 % ST ¥ © | 9 S HCF, 26 &, a1 57

HEAST o1 =T B 2
(A) 312 (B) 364
(C) 338 (D) 286

The square root of which of the following is a
rational number?

Frrefetiaa & | fereren arige T TiEE 9e e ?
(A) 5823.82 (B) 22504.9
(C) 2460.14 (D) 1489.96

5.75%5.75%5.75 + 3.25 x3.25 x 3.25 _ 4
57.5x57.5+32.5x32.5-57.5x32.5 > ¢d4

to:

5.75%x5.75%x5.754+3.25x3.25x3.25

57.5x57.5432.5x32.5-57.5x32.5 0N
s
(A) 0.009 (B) 0.0009

10.

11.

(C) 0.9 (D) 0.09

5 2 3,4 1
56+{2§_{3Z(3g+9§jﬂ is equal to:

5 2 3(,4 .1
5€+{2§—{3Z(3g+9§jﬂ T B

44 43 22
WL BT Qg D
The value of

1 1 |5 (2 3 4
33{%‘{5‘(5*5‘%}}}

1 1 |5 (2 3 4
33{%‘{5‘(5*5‘%}}} A e

6 9 11 13

A) g B) 1o © 15 ©OF

Two numbers are in the ratio 5:11. If their HCF
is 24, then the sum of two these numbers is:

AN 5 : 11 % STE H ¥ | A 3T Ao THIadR
(HCF) 24 % | 4t 57 <1 st =1 3 g |

(A) 384 (B) 408

(C) 120 (D) 264

6.75x6.75x6.75-4.25x4.25x4.25
67.5x67.5+42.5x42.5+67.5x42.5
equal to/ IR T —
(A) 2.5

(C) 0.0025

is

(B) 0.25
(D) 0.025

1 [ 1[5 (3 1 4],
5 1°27 16" 5710 15 isequal to/ &

TECR

21 7
(A) 10 (B) 5
7 8
(©) 3 (D) 3
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12.

13.

14.

15.

l1e6.

17.

18.

5 2 15 4 1
The value of 3g+{3§_{7(53+145jﬂ is

equal to:

135214 s

6 3 145 2
9 foreer SR © 2
37 35 19
@A) = B & (€)6 (D) =

Two numbers are in the ratio 6 : 11. If their
HCF is 28, then the sum of these two numbers
is:

T HEAT 6 @ 11 % STUM | T | AfS Sk Head GHIadH
28 ¥, 1 37 <A sl i AT g

(A) 476 (B) 448

(C) 392 (D) 420

63.5x63.5%x63.5+36.5%x36.5%x36.5
6.35x6.35+3.65x3.65-6.35%x3.65
equal to/ SR §:
(A) 10,000

(C) 100

(B) 1,00,000
(D) 1,000

The square root which of the following is a ra-
tional number?

Frefefea & @ frae Triga t 1i@a e e ?

(A) 5535.36 (B) 3152.88
(C) 72905.2 (D) 67508.5
The value of
6L_ 41_{5_(§+i_1j} .
s 1" 2 16 5 10 15)[| is/F FE—
(A)2.5 (B) 1.8 (€)2.1  (D)2.8

17 1 |5 4 41
%4_ 33— g— 3——95 is equal tO/W

The value of 3 x 3— [6-{12+15+(7-2)}] is equal
to:

3 x 3— [6-{12+15+(7-2)}] WM T:

(A)-15 (B) 18

()0 (D) 15

19.

20.

21.

22.

23.

1 5 -5,
—+—X— isequal to:

The value of 376°8

1 5 -5
—+—X— T Y F1G IS ?
3 6 8 R

(A)1 (B)
To what power - 3 should be raised to get- 2187?
e TF o TR — 3 ! =10 &g Y fof — 2187 W &1 <y ?
(A) S (B) 7

(C) -7 (D)-5

The HCF and LCM of two numbers is 6 and 5040

respectively. If one of the numbersis 210, then
the other number is:

T Hemstl w1 .91, S SE. 9. A 6 3R 5040 ® 14
T G 210 T, 0 gE e 9 Hifed ?

(A) 256 (B) 144

(C) 30 (D) 630

Which of the following statement is true?
Frafafed § 9 R FF TE T |
(A) LCM of two natural numbers is divisible by
their HCF. /
T AreRfareR Gl i LCM % HCF & e § |
(B) HCF+LCM of two number = Product of the
two numbers /

HCF+LCM < |&sil sl I = S Sesii shi
HERETSI

(C) Two prime numbers are co-prime numbers
if their LCM is 1. /

T T HEATE e HeATt € Afg ST LCM 1 % |
(D) HCF of two numbers is the smallest com-

mon divisor of both numbers. /

T wesT i HCF Sl Semsti o Hod Biel |

ST ¢ |

7 -4 x3-(-10) x 8 = (-4)} is equal to:
x 8+ (-4)

7-{4x3-(-10) x 8 = (-4} TH FNT ?
(A) - 1 (B) 53
(C) 0 (D) 15

3 2
gx 4{7 —{gx(ls + Z)H isequal to :
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25.

26.

27.

28.

29.

30.

gx4{7_{%x(13+2)H FAFE?
1 2
@1 B €@ 25 (DO

A and B start walking together from a point.
Their steps measure 72 cm and 84 cm respec-
tively. What is the minimum distance they
should walk so that each takes exact number
of steps?

A 3R B foig & T 9o 1ot I T T | ST el it

AT A 72 T 3T 84 [t ¥ | =gean Rt ol =l
T T o FHeHl ohi T THTHAM G& B
(A) 2.7 m (B) 3.54m
(C)6.3m (D) 5.04 m
J4 + V144 is equal to:
4+ 144 FIAR T ?
(A) 3.74 (B) 14
(C) 12.17 (D) 4

The product of two numbers is 45360; if the HCF
of the numbers is 36, then their LCM is:

T HeEsTl = TUHEA 45360 T H.AY, 36 § A A

AT BT

(A) 252 (B) 630

(C) 126 (D) 1260

4 x(-8+(-2)+3x5isequalto:
(-4) x (-~ 8) = (=2) + 3 x 5 FHAFEN :
(A) -1 (B) 1

(C) 31 (D)-31

A car consumes 5.4 litres of petrol to cover 60.48
km, how many kilometers be covered with 22
litres of petrol ?

T R 5.4 TX T2 o STHM § 60.48 Tt =01 f &
AT T, T 22 I U % T R e = gt 7

AT 2

(A) 246.4 (B) 238.62

(C) 240.24 (D) 243.5

The cube root 0of 3375 is equal to :
3375 1SS SIT :

(A) 35 (B) 25

(C) 55 (D) 15

31.

32.

33.

34.

35.

36.

37.

3 5[1 (8 4\
Z+§ ZX 5 3)|isequalto:

13 3

24 B 7

1 1
© 3 D) 15
10-{17-12 + (5+9 x 2 - 17)}is equal to:
10-{17 - 12 = (5 +9 x 2 — 17)} =1 |9 1 EF1 7
(A)-5 (B) 5
(€7 (D)-7
13+{40f2-3 +4 x (6 —4)}is equal to:
13 = {4 of 2 -3 + 4 x (6 — 4)} =1 917 1 &I ?

1

(&) 27> (B0 (013 (D) 1

The smallest number that should be added to
8212 to obtain a perfect square is:

T gU = (perfect square) W &% & fag, T 8212 H
HIA-H T BIS! AT SISt St =1y :

(A) 123 (B) 69
(C)112 (D) 54
14-6x%x2 |
15-3+3 18 equal to:
14-6x%x2 3.
15+3+3 TR T
4 1 62
@z (B © 7 (D6
(24 +6-2)+ (3 x 2 + 4) is equal to:
(24 +6-2) + (3 x 2 + 4) TWHT :
(A) 1 (B) 24
(C) 16 (D) 20

A, B 3R C U foig 9 T W1 e g i © | Sk Hed
HAM: 42 cm, 56 cm R 64 cm ¥ | =gFaH A g

T L AM(H T o HSH il T U & 2
(A) 15.60 m (B) 14.06 m
(C) 14.58 m (D) 13.44 m
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38.

39.

40.

41.

42.

43.

The product of HCF and LCM two numbers is
3321. If one of the numbers is 369, the HCF of

the numbers is:
T FeEmeT % 7.9, (HCF) $iX (LCM) =i oFw%a 3321
? 1 3fs et ¥ 9 = 369 T, 9 Semsi a4, (HCF)

S
(A) 27 (B) 3
(C) 21 (D)9

15-{5+24 +(3x9-15)} is equal to :
15-{5+24 +(3x9-15)} F o ¥ :

1 1
(B) 11 (©) 6

An oil merchant has 3 varieties of oil of vol-
umes 432, 594 and 702 litres respectively. The
number of cans of equal size that would be re-
quired to fill the oil separately is :

T qeT SR 3 91 SR 432, 594 3R 702 et & da
=t 3 T ® | a1 =i oo | 9 % U Sty g9 E

(A) -2 (D) 8

TR % food Y e & -
(A) 13,15, 17 (B)8,11,13
C)8,13,15 (D)6,9,11

4) x {1020 + 85 x 3 -22}is equal to :

)
)

4) x {1020 = 85 x 3 = 22} ¥ IR T :
A)- 402 (B) - 56
C)912 (D) 72

A gardener planted 1936 saplings in a garden
such that there were as many rows of saplings
as the columns. The number of rows planted
is:

T AT 3 T ST H 1936 98 56 TR ST § T e =
TRl Sht T & W i e 99 B | @ TR TS SR

i T 0w |
(A) 46 (B) 44
(C) 48 (D) 42

0.72x0.72x0.72—-0.39x0.39 x0.39
0.72x0.72+0.72%x0.39+0.39x0.39
is equal to/ ¥ SR TIT 7
(A) 0.39
(C) 0.33

(B) 0.36
(D) 0.45

Solution

1. (D)

a’+b
a’+b?—ab
at+b=675+325=1000

=a+b

675X675 X675+ 325%x325%x 325
(675)" +(325)" — (675 x 325)

= 1000 x 100 = 100000

I**no. —» 16 x 4

[I"no. - 16 x 5
Sum of numbers = 16 (4 +

But, x 100

=16 x9=144

= — = x 7 +

5)
1
5

Istno. = 26 x 4
IIndno. = 26 x 7
Sum of these no. =26 x4 +26 x7
=26(4+7)
=26x11=286
1489.96

[(5.75)" +(3.25)" ]
[(5.75)" +(3.25)" = (5.75x3.25) | x 100

=[5.75 + 3.
[5.75 +3.25] x

=9

X =
100 0.09

35 [8_[15[19 19
6 |3 |4|5 2
35 [8 15 2
___X_
3 475

6 6

el
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s B

=15
9. (A) Number are
5% 24, 11x24
Sum of nos. = 24(5+11)
= 24X16
=384

(6.75)" (4.25)°
100x[(6.75) +(4.25)*+(6.75)(4.25)]

10. (D)

6.75-4.25
100

2.50
= 100 =0.025

w2 |7 2_(1_1)
' 5 |2 |6 10 15

=

26 [7.12
~ 5 7|2 30
% %
530
6 _21
30 10

[Using a*-b® = (a-b) (a+b?+ab]

s .2 [15(.4 1
2|35 -1=]52+14—
a0 (1355 e5)f

Using BODMAS Rule

23 [11_[15(29 29)|]
6 T3 lals 2
23 11 [15(29 2]
6 13 |4\5 29)f]

23 [11 (15 2
6 |3 |45
23 [11 3}: 23+22-9_36

- % 13 2 6 6

13. (A) Let both nos. are 6x, 11x
HCF is 28
=3 x =28
= both nos. are 6 x 28, 11 x 28
= Sum of both nos. are
=6x28+11x28

=6

=28(6+11)
=28 x17=476
14, (A a’+b® (a+b)(a2+b2—ab)
y () a2+b2_ab a2+b2_ab
=a+b
Similarly, here
a =63.5
b= 36.5

[(63.5)" +(36.5)" | x 100
[(63.5)" +(36.5)" - (63.5x 36.5) | ~

([63.5 + 36.5] x 100 = 10000
15. (A) 5535.36

6. (© 6k - {41_{5_[33_1)}}
: 5 2 |6 \5 10 15

R Ca |

Using BODMAS

2[5
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17. (D)
18. (B)
19. ()
20. (B)
21. (B)

186-135+12 _ 198-135 63
30 30 30

+_
S 6 5

17 {16 5 2}
_+ -
30

17 18 5

o s e

30 5 6

17+108-25 125-25 100 _ 10
30 ~ 30 30 3

3x3 - [6-{12 + 15 + 5]

Using BODMAS

=9-[6-{12+ 15+ 5)|

=9-[6-{12+ 3}

=9-1[6-15]

=9-6+15 = 24-6 = 18.

1 5 5
37678
Using BODMAS

1.6} -5
375)%g

N
578 7 4

(-3)7=-2187
= (-3)"=(-3)’

=[x=7]

As we know,
First No. X Second No.=LCM X HCF
210 x b =6 x 5040

22.
23.

24.

25.

26.
27.

28.

29.

30.

31.

6x5040

=b=""710
= 144

(A)

(D) 7= (4 x 3~ (- 10) x 8+ (- 4)

=7-[12 - (-10) x (-2)]
=7-[12 -20]
=7+8
=15

(C) %X4{7—{%X(13+Z)}}
Using BODMAS

3 2 3
Zx4|7-1Zx15 2 _

3 12 2
=55 75
(D) Required Answer
=LCM (72, 84)
=504 cm
= 5.04 meter

D) 4++/144 = J4+12 = J16 =4
(D) As we know,
Product of both numbers = LCM x HCF
45360 =LCM x 36
45360

LCM = —— =1260
= v 2

(A) (4 x(8) +(-2) +3 x5
Using BODMAS Rule
(4) < (4 +3x5
=-16+15
=-1
(A) 5.4 Lt. to Cover = 60.48 km.

60.48

1 Lt. to Cover = 54 km.

= 22 Lt. to cover = x 22 km

= 246.4 km
(D) (15)° = 3375

o 3253

Using BODMAS

3 5|1 4 3 5 1
1 2{4 15} 172775
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31 11
= —4— = —
4 6 12
32. (A) 10-{17-12 +(5+9x 2-17)}
Using BODMAS

=10-417-12=+(5+ 18- 17)}
=10-417-12+6}
=10-{17-2}
=10-17+2=-7+2=-5
33. (D) 13+ {4 of2-3 +4 x(6-4)}
=13 +{4x2-3+4x2}

=13 +{8-3+8}
=13 2 {13}
=1
34. (B) 69
= 8212+69
=4/8281
=91

14-6%x2 14-12
15+3+3  5+3

35. ()

36. (A) (24+6-2)+ (3x2+4)

Using BODMAS

=(4-2)+(6+4)

=2+10=12
37. (D) Minimum Steps

= LCM (42, 56, 64)

1344 cm
13.44 m

38. (D) As we know,
Multiplication of number = LCM x HCF
369 xb = 3321
b — Second unknown number

_ 3321

369
15-{5+24+(3x9-15)}
15-{5+24 +(12)}
15-(7)=8
HCF of (432, 594, 702) = 54
Required number of cars
_ 432 _g 594 11 702 13

54 ’ 54 ’ 54
41. (B) (-4) x {1020+ 85 x 3 -22}
-4 x {12 x 3 - 22}
-4 x 14 = -56
42.(B) Let no. of rows = no. of columns = x
= x%=1936

39. (D

~

40. (B

~

=>x=44

a’-b (a—b)(a2+b2+ab)
a’+b’ +ab a’+b*+ab
=a-b

= Here, a=(0.72)%, b= (0.39)®
= Required Answer = 0.72 - 0.39
=0.33
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IfN=(J7-.3)/(J7 + 3), then what is the
value of N + (1/N)?

AN = (7 - V3)/(J7 + 3) & AN+ (1/N) =
A M E 2

(A) 242
(C) 10
What is the simplified value of (2 + 1)(2% + 1)(2*
+1)(28 + 1)?

(2 + 1)(22 + 1)(2* + 1)(2° + 1) o1 TLcAIHa 7H TR ?
(A) 281 (B) 21°-1

(C) 2°-1 (D) 21

Which one among 10+4., J11+4/3,
J7 ++/7 is the smallest number?

VIO +4, V11443, J7 +7 ¥ a4 =t s
HAHE?

(A) V10 + 4
(B) V11++/3

(C) J7 +7
(D) All are equal /& s &

What is the value of 22 + 62 + 102 + 142 - 12 - 52
-92.13%?

22+ 62+ 102+ 142-12-52-92- 132 HH FMT 2
(A) O (B) 15

(C) 30 (D) 60

IfN=(J/6 - J5)/(\J6 + 5),then what is the

value of N + (1/N)?

)
)

TN = (6 - V5)/(J6 + 5)T AN+ (1/N) =
HE T ?

(A) 10 (B) 11

(C) 12 (D) 22

What is the simplified value of (3 + 1) (3% + 1)
(3*+1) (38 +1)(3'° +1)?

(3 +1) (3% + 1) (3*+1) (38 +1)(3'° +1) = WXeltwd A
FNE ?

(4) (32 -1)/2 (B) (3:°-1)/2

(€) (3-1)/2 (D) (3¢ -1)/2

Which value among 11 + /5, /14 + V2, /8

+ ./8 is the largest?

10.

11.

12.

JI1 + 5, 14 + 2, /8 + /8 # 5o st wien
HEAEE ?

(A) V11 + 5
(B) V14 + 2
(C) V8 +/8
(D) All are equal /5t sRTa &
(0.5)° —(0.1)’
(0.5) +0.5x0.1+ (0.1 *

What is the value of

(0.5)° —(0.1)’
(0.5Y +0.5x0.1+(0.1)

> HAAFNE ?

(A) 0.1 (B)0.4
(C)0.5 (D) 0.6
7]
IfP= m , then what is the value of P +
(1/P)?
(N7 -6)
Ik P = m ?, @ P+ (1/P) 1 | 1 g1 ?
(A) 12 (B) 13
(C) 24 (D) 26

Which value among 32%, 23 and 7'%° is the
largest?

3200, 2300 &Y 7100 F [od T T FIF HI § ?

(A) 3200 (B) 2300

(C) 7t (D) All are equal

Whatisthe value of 32+ 72+ 112+ 132+ 17%- 12
-52-92_.11%-15%?
32+72+ 112+ 132+172-1%2-52-92-112-15%=

HE T ?
(A) 5 (B) 72
(C) 92 (D) 184

(0.7)° - (0.4)
(0.7)° +0.7x 0.4 +(0.4)"

What is the value of

(0.7)°(0.4)
(0.7 +0.7x 0.4 +(0.4)

FIHAF TR ?
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13.

14.

15.

l1e6.

17.

18.

19.

(A) 0.3 (B)0.4

(C)0.7 D)1.1

If1/N=(J6 + 5)/({J6 - J5), then what is
the value of N?

A% 1/N=(6 +5)/(J6 - J5) &, T NHam T
®?

(A4) 6 - {30 (B) 6 +30

(C) 11-230 (D) 11+2/5

What is the value of positive square root of 69 +
2857

69 + 28./5 I LI T 1 7 T ?

(A) 7+25 (B) 7-2J5

(€) 2+75 (D) 2-75

311 + 312 + 313 + 314 ig divisible by i
314 312 4 313 4 314 F s g
(A)7 (B) 8

(C) 11 (D) 14

Which value among {/7 , 311 and /1257 isthe
largest?

U7, Y1190 1257 H TIE I T HE G R ?

(A) 11 (B) 47
(C) ¥1257 (D) All are equal

What is the value of
1 1 1 1 1 1
\/1+2_2+3_2+\/1+3—2+4—2+\/1+E+5—2?

1 1 1 1 1 1
1+2—2+3—2+ 1+3—2+4—2+ 1+Z+5—2 R HH
FNT?

18
5

4 7
(A) (B) 3 © 3
What is the value of (203 + 107)? - (203 - 107)%?
(203 + 107)2 - (203 - 107)2 I 9H FA T ?

(A) 85886 (B) 86884

(C) 43442 (D) 87884

411+ 412 + 413 + 414 jg divisible by .
4114 412 4 413 + 414 ¥ fasmfsm grm
(A)7 (B) 14

(C) 17 (D)9

20.

21.

22.

23.

24.

' 1.1y + (0.7
What is the value of (1L1f —1.1x 0.7+ (0'7)2 ?

(1.1¢ +(0.7)°
(1.1 -1.1x 0.7 +(0.7)° T T M 2
(A) 0.4 (B) 0.7
(C) 1.1 (D) 1.8

1 1 1
What is the value of 999§+ 999g+ 999E+

9991 4 999 L 5
20 30

9991 4 9991 4 999 1 4 999 L | 999 L
2 6 12 20 30
o1 /I 1 BT 2
1 5
A) 999 = B) 999 =
(A) 6 (B) 6
C 49951 D 4995i
(©) 5 (D) 5

IfN=(J7 - J5)/(J7 + 5), then what is the
value of 1/N?

AN = (7 - J5)/(J7 + J5) %W 1/N F 7 o
®72

(A) 6 - /35 (B)6 + 35
(C) 7 + 35 (D)7 - 35
What is the value of
11t iteinn et it
2 6 12 20 30
1 1 1 1 1
111=-+111>-4+111—+111— +111—
2T e T 2t g T g T
B ?
1 5
111= 111=
(A) A (B) 6
5 1
555= 555~
(C) c (D) 6

IfN=(J8 + 6)/(J8-6), then what is the
value of N - (1/N)?

TN = (/8 + J6)/(V8-6) T T N- (1/N) =
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25.

26.

27.

28.

29.

(A)8 /3 (B)14

()7 (D)0

Which one among 3/6 , 2/5 and §/12 is the larg-
est?

Y6, Y5 TN Y12 A AT IS FAE?

A) Y6 (B) ¥5
(C) Y12 (D) All are equal/¥sft
IR
What is the value of positive square root of 14
+6 /57
14 + 6 /5 =1 ¥ S A F1 R ?
(A)3+ /5 (B)3- 5
(©)5+ 3 (D)5- 3
(0.7)” +(0.3y

What is the value of (0'7)2 _0.7x03+ (0_3)2 ?

(0.7)” +(0.3y
(0.7)* -~ 0.7 x 0.3 +(0.3)
(A)2.2  (B)0.8 Q)1 (D) 1.4
If x=7+2J10, then what is the value of

x/§+%?

T FHAF TR ?

1
AR x = 7 + 2410 B, A \/§+§ I HE FET ?
(B) %(2J§+\/§)

(D) %(2\/§+J§)

Which of the following relation(s) is/are true?
rrafafea # & % W/ Say vt g/ § 2
Ly7+J3>5+5
L J5+5>42+8
L 5 + 5 > V7 + 3
(A) Only /=1
B) Only II and I11/aa II @2 111 34t
)

(
(C) Only I and III /%= I e 111 {41
(D) ALl 1, IT and III/1, II Qe 111 @eft

30.

31.

32.

33.

34.

35.

36.

Ifa=1+ /3,b=1- /3 ,then what is the
value of a? + b? ?

Aca=1+/3,b=1- /3 B, A a’+b> FAAFT

g2
(A) 4 (B) 8
()0 (D) 2

What is the unit's place of 121%3?

12'% 1 TS T FT G ?

(A) 2 (B) 4

€6 (D) 8
If(3+2./5)?=29+K,/5, thenwhatis the value
of K?

AR (3 +2,/5)2=29+K /5 B, AKFATFNE ?

(A) 12 (B)6
(C) 29 (D) 39
what is the simplified value of
1 1
3+\/§+3_\/§+3+\/§?
1 1
3+\/§+3_\/§+3+\/§ T TR T T T ?
A2+ 3 (B)2- 3
(€)4-3 (D) 4+ 3

1
Ifx=5+2,/6 then what is the value of Jx + ﬁ ?

afE x=5+0./6 &I, A \/;Jr% FHAFNE 7/ ?

(A) 243 (B) 342
(©) 246 (D) 642

Which of the following relation(s) is/are true?
[.3% >33

I1. 33 > 333

I1I. 3% > 333

Frrefetiaa & @ = q/d gea wei e/ ¥ ?
(A) Only I and I1/%=@ [ a2 11

(B) Only II and 111 /%= 11 q2 111
(C) Only/Faa 11

(D) AlL 1, IT and IT1 /=7 1, 1T @e 111

Which of the following expression(s) is/are
true?
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37.

38.

39

40.

41.

Frefafaa & & i /e 9§ = w8/ § ?

(A) Only I /%@ 1

(B) Only I and II1 /3@ I &R 111

(C) Only I1/%Fa& II

(D) All expressions are true /9t =ik &t &
Which value among /8, 3/4 , (/64 is greatest?
Y8, Y5, Y6a W U TN IS HEAT B H T ?

(A) /8 (B) ¥4 (C) Y64
(D) All are equal /& I &

What is the value of (1004)% — (998)3?
(1004)2 — (998)? =1 &H F & ?

(A) 11012 (B) 12012

(C) 120012 (D) 1212

If 1652 = 27225, then what is the value of
J272.25 + 2.7225 + {/0.027225 ?

I 1652 = 27225 %, @ /272.25 + 2.7225 +

J0.027225 FAFFE ?

(A) 12.25 (B) 34.65
(C) 19.8 (D) 18.315

What is the value of ,37:20J3 -

\J61+283 7

J37+2043 — J61+28/3 FIHAFNE?
(A) -1 (B) 1

(€) 2 (D) -2

Which of the following relation(s) is/are false?
[. (27)'/3> (13)'/2 < (47)/°

I1. (23)/° < (49)'/2 < (52)'/°

III. (53)'/° < (41)Y/% < (37)'/2

(A) Only I11 / %&a 111

(B) Both I and Il / Si [ iR II

(C) II and IIT only / II qer III

Solution

5
i)

N=( +
1_(\/7-1-\/5)
then N_(ﬁ_\@)

1 (V7-43) (V7+4B)
N*NT (7 B) (V7 -B)
(V7= ] (7]

B (xﬁ+ 3)(x/7—\/§)

_ 20

T4

=5

R+ EE+1)2"+1)(2°+1)
2-1)

j[(z —D(2+1)(2° +1)(2" +1)(2° +1)]
22-1) (22 + 1) (2* + 1) (28 + 1)

24— 1) (24 + 1) (28 + 1)

28— 1) (28 + 1)

2~ 1)

(VIO +V4) =14 +2/40
= 14+ 2./40
(\/ﬁ+\6)2=14+2@

= (V7 +7) =14 +2/49

22+ 62+ 10%+ 142 12— 52 - 92— 132
2212+ 62-5°+ 10°- 92 + 14°— 132
(2+1)(2-1)+ (6 +5) (6-5) + (10+9) (10-9)
+(14 + 13) (14 - 13)

3+11+19+27

=60

645

Study Center : Jaipur * Gopalpura ¢ Lalkothi ¢ Jhotwara  Ambabari « Udaipur ¢ Alwar



Mother's Previous Year Questions | Simplification

N+ —-=7? J7 -6
N _ N7-N6
s 9. D) P= = ¢
5
1 (E5) N I
N (V6 -] Pt T T VT 6
) (\/6_\/3) (J€+J§) _ 7+6-2J42+7+6+2J42
VINT (] T () 1
, , P+ = =26
(V6 -V5) + (V6 +5) P
10. (A) 320, Q300 7100
(\/g-l,-\/g)(\/g_\/g) (9)100, (8)100, (7)100
(3200> 2300 > 7100
_6+5+2/3046+5+2J30 _ 11. (D) 32+ 72+ 112+ 132+ 172 - 124 52-92— 112
= I - 152
6. () (3+1)(3+1)(3+ 1) (3 +1) (35+1) ?;24;9+ 121 + 169+ 289 -1 -25-81 - 121

. (@)

Eqn. (1) multiply and divided (3 - 1) 516 -332 =g

0.7)" +(0.4)°
_ (32 -1)(8"+1)(8° +1)(3'° +1) 12, (A) 2( ) +(0.4) .
(3-1) (0.7) +0.7x0.4 +(0.4)
2 2
_ %(34_ 1) (34 1) (35 + 1) (35 + 1) (0.3)+[ (0.7 +0.7x 0.4 +(0.4)" ]
(0.7 + (0.7 x 0.4) +(0.4)
= l(38— 1) (38 + 1) (3 + 1) [a®-Db° = (a—D) (a* + ab + b?)]
2 =0.3
32 _
- Lgetyeery - P 1 (645
2 13. () Y (\/g ﬁ)
7. (C) 11+5,414++/2, /8 +8 then
(VI1+V5) =16 +2J55 qo Y65 6-\5
) " 6+V5 65
\/ﬁ + \/5 =16+ 2\/2_8
( ) 6-30-+/30+5
(V8 ++B) =16 +2/64 630 +430-5
39 =11-2430
- (0.5 ~(0.1)° 15 (B av+ae e 3 s g
( ) (0.5)2 -i-0.5><0.1+(0.1)2 311 (1 + 3L+ 32+ 33)
—b*=(a-h) (a2 + ab+ b? 31 x 40 — Divided by 8
4 3 12
(0.5-0.1)[(0.5)" +0.5x0.1+(0.1)"| 16. () 7. 311, 1257
= 12 12 12
(0.5)° +0.5x0.1+(0.1)° (7ys - (1) 7 (1257)12
=(0.5-0.1) (7), (11)%, (1257)"
=0.4 343, 14641, 1257
ﬁ HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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17. (D)

18. (B)

19. (C)

21. (D)

\/ 1 1 \/ 1 1 \/ 1 1
l+—+=—+ 1+—+— + 1+—+—
4 9 9 16 16 25

|49, 169 | 41
36 V144 V400
7 13 21 33

+ — + =
6 12 20 10
(203 + 107)? - (203 -107)2
2032+ 107+ 2+ 203 x 107 -2302 - 1072+
2 x 107 x 203 = 86884
411 + 412 + 413 + 414
41 [1+4+ 16 +64]
411 x 85
.85 1is completly divided by 17
a’+ b= (a+h)(a2+ b2-ab)

(11) +0.7)
(11) -1.1x0.7 +(0.7)

a’+b’ (a+b)(@*+b*—ab)

a’—ab+b> (a?—ab+b*)
=a+b=1.1+0.7=1.8

9991 +9991 +999 - +999 — +999 —
2 6 12 20 30

(999 + 999 + 999 + 999 + 999) +

11 1 1 1

T

(2 6 12 20 30)

30+10+5+3+2]

4995 + ( 0

4995 + e 4995E
60 6

(V7-8) 1
N=>_ J — =
NN
1_V7+V5 7445 12+2/35
N J7-J5 J7+J5  7-5

1
N—6+\/35

t1.1 1 1
(IL1xS)+ | 5% 5% 15720 " 30

30+10+5+3+2
(555) + 50

555i
6
) (\/§+\/g)
RN
. 1
F1nd0utN—N=?
B-16
So that — = NN
1 _8+V6 V8-6
NN B-6 Bre
_ (\/§+x/6)2—(\/§—\/6)2_16\/§
5 -
316, 245,612
L.C.M. =

1 1 1
(6)3.(5)2, (12)e
So that,

(6)% (5)°, (12)!
36, 125,12

14+6+5 =?
(9+5+6\/§)

= (3+\/§)2 =3+45

(0.7 +(0.3)°
(0.7)* ~0.7x 0.3 +(0.3)’

a’+ b= (a+b)(a?-ab+ b?
So that

(0.7+0.3)[(0.7)" - 0.7x 0.3+ (0.3)" ]

(0.7) = 0.7 x 0.3 +(0.3)°

1

B2

=0.7+03=1
x=7+ 2J10
\/;=\/7+2\/E
_ 1. x
Ve = srand 2 R E R
V542
-3
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AT.Q.

1

< (3} B

_ 35 +3V2+/5 -2
3

- §(2£+J§)
I=/7+J3=.5+5 Both side

square

- (V7448 >(45 + 5]

=7+3+2/10 >5+5+ 225
=10+ 2V10 % 10+ 225

So statement (i) is incorrect

EquationIl = \/5+./5>./2+./8
(V5+5) > (V2 + 8

=5+5+9,/25>2+8+8
=20>18

J5+45 > 7 + /3 Both side Square
=5+5+2/25>7+3+ 221
=20> 10+ 2,21

a=1+3,b=1- /3
AT.Q.

atb=1+/3+1- /3 orab=(1+ 3)(1-
J3)
ab=-2

atb=2 Both side square

(a+ b = (2

a*+b?+2ab=4

a*+b?+2x(-2)=4

a2+h2=8

(12)'* Unit Digit (2)° unit digit
2t=2
22=4
23=8

t=16
This cycle will continue

123
Divided the power by 4 = e =Remainder

32. (A)

is = 3 = Unit digit = 8
(3+245) =29x12/5
AT.Q.

(3+2V5) =9+20+12\5

(3+ 2\/5)2 —29+12J5

Then k= 12

3+3 + 1

1
+
3-J3 3+3

1 3+4/3 1 3-43
= 3+\/§+H3_\/§x3+\/§]+(3+\/§x3_\/§

- 3+\/§+K3+\/§+3_\/§H

6 6

6

= 3+\/§+{—3+\/§+3_\/§}

=443
x=5+2/6

Jx= 5+ 2%
==(5+3)

11 B\
wd T B B2
AT.Q.

=&+%

= V3+2+43-v2 = 243
Eq.1=33%> 33°
(311)3 > 333
as 3''> 33 So (3'1)° > (33)°
Eq. Il = 33%> 333
Eq. [l = 3% > 333

(311)° > 333
Eq.1J5+J5>2+8

Both side square
(V5 + \/5)2 > (V2 + Jg)g

5+5+ 225 >2+8+ 216
20> 18

|
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41.

Eq. 11 V3 +V7 >V2+8

Both side square
(V347 > (2 + 8]

3+7+ 2\/2_1>2+8+2\/E
10+ 2/21 > 18
EqHI \/g+\/g>\/§+\/7

Both side square
(VB+B) > (V3+7)

5+5 0425 >3+7+ 221
20 > 10 + 221

/8, 4, W64
AT.Q.
LCM -6

l><6

85 =64

17><6
42 =64

l><6

645 =64
(1004) - (998)°
. a—b?=(a+b)(a=b)
(1004 + 998) (1004 — 998)
(2002) (6) = 12012

J272.25 +4/2.7225 +/0.027225
=16.5+1.65+.165=18.315

J37 + 203 — 61+ 283
51+ (V12 -7+ (412
5+412-7-12

=-2

1 1 1
Eq. 1= (27)5 > (13)5 <(47)6 L.CM.=6

Le Le L
(27)57 >(13)2 < (47)s
272> 13% < 47 = False

1 1 1
Eq. 1l = (23)5 < (49)5 < (52)6 L.CM.=6

L L Lo
(23)3" <(49)2" <(52)s
232 < 493 < 52 = False

1 1 1
Eq. IIT = (53)s < (41)s <(37)2 L.C.M.=6

1 1 1
(53)6° <(41)5 <(37)2°
53> 412 < 37° =True
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Simplification (MAINS — 2020)

1 6 3
The value of (1—+2—0f5—) <

3 7 5
6z+4lof5l = E><22+§0f1l = k
5 2 3 4 3 9 5 ’
where k lies between:
ll+290f5§ x 6g+4lof5l .
3 7 5 5 2 3
3 2 5 1
—x2Z+Zofl1=| = T
(4 375° 5] k 8, @l k % 9F *
T fem R

(A) 0.07 and 0.08

(B) 0.007 and 0.008
(C) 0.0007 and 0.0008
(D) 0.7 and 0.8

6 1 2 1
The value of (2—0f4—+—j><5— =

7 5 3 9
(§X220f1+lj is:

47°3%%7,

6 .1 2) 1 (3 .2 .1 1
090fa2 2 51 L [2x0Zoft it
( 7975 3)X59 ' (4 322 4)““
Bk
(A) 25 (B) 19
(C) 23 (D) 21

1 [(20.35)" - (8.35)" |x0.0175
— 4+ * e
The value of & oo 1 (1.05)(27.65)

[(20.35)"~(8.35)" |x0.0175

1 “

-+ <Rl AT ey

4 (1.05) +(1.05)(27.65) T

A) — B 7

( )20 (B) 20

C 3 D S

(€) 20 (D) 10

If x = \/1+§ - \/l—g, then the value of
V3 -x

N (corrected to two decimal places) is:
X

Zlﬁ‘(x—\/1+7— 1-7%,?‘?[ \/§+XW‘THSHH
L | (IS % ) TIE qh TR

(A) 0.25 (B) 0.17
(C) 0.19 (D) 0.27
222

If =a+ b, with a, b > 0, th
4\/§_ma\/§,\m a,b >0, then

what is the value of (ab) : (a+ b)?

2242 ,
BRI 4\/§_m=a+ J5b% &l a,b>0,%, @

(ab) : (a + b) =1 A F EFT 2

(A)7:8 (B)7:4
(C)4:7 (D) 8:7
The value of

(2.53)% +(2.47)°

i k
25.3x25.3-624.01+24.7 <247 5 ° " 10%
where the value of k is:
(2.58)° +(2.47)°
| HAH 5 X

25.3%x25.3-624.91+24.7 x24.7
10%% | k =1 | fore 21 2

(A)-2 (B)-1
1 (D) 2
The value of
L, L, (3 1,2
9+13737 476 |3 3)Y9[ls
<Rl HIT FATd <k |
ay 540 o) 340
(A) 773 B 173
480 ) 2540
173 D) 773

The value of ——+— 4L+ 4 L 1
evaue ol 75" 42 " 66 286 130 170

is:

3 1 1 3 1
—t—+—+ + +
70 42 66 286 130 170

B ?

7 11 9 3
(A) 35 (B) 35 (C) 35 (D) 35

%1 719 fwmaan
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5 —
9. The value of 15 + 8 - s of s 26—7\/§:b+a\/§ b> 0% 7 b )W
—-a
J14+543 11 - ’
S BaHE D o
(A)5 (B) 25
5 8 9 9.3 5 5) 3 (€) 12 (D)o
15+8—Zof EXE + 8 2 3277 +§
J38-5J3 a+bJ3
z)ﬂgﬂmﬂ‘@'rﬂ? )1 11. f\/m_ 23 > b>0, then the value
(C) 2 (D) 3 of (b—q) is:
V26 -73 _b+a3 q&_\/SS—s\E_mb\E b> 0% (b )
— . = , b> , -a
10. f\/m 11 , b >0, then what is the /26+7\/§ 23
I Toham g ?
value of \/(b-a) ? (A) 7 (B) 18
(C) 29 (D) 11
Solytion
1 .6 3 2 1 12x28.7x175 1 1 9
. 1-+2—-0f5 6—-+4—0of 5 A =y =
1. ® (3 7f 5] (5 4 j 4 1.05x28.7x10000 4 5 20
3 2 5 1
—x2—+—0of 1= |=k V3 J3
(4X23 9Of 5] 4. (D) =\/1+7—\/1—7
4 20 _28) (32 9 3,85 6
I Sl W =
2 2
2 2
(——w) S s [
\ 4 2
=\12)"\15)7 _V3+1 J3-1
1 2 2
12><15 3 135 0.0074 * 2
2 2 1.1 L ¥3ox V31 (V34
2. (C) (2— f4g—§jx5——(—x2§of§—zj \/§+X \/§+1 T
(@Of&z} E_(i §f1_1) N3 = 2o 1732
775 73)79 (a3 =0.268
2242
=(12X§) 9 (4 3 4] JEN-EN TN
2242
=18x£+4=18x£xl=23 \/_
9 9 4 2(3+J§)
2 2 4\/7_ - 5
1 [(20.35)° - (8.35)" [x0.0175 2
A) —+
W 3 (1.05)" +(1.05)(27.65) 222
1 12x28.7 x175 = 4f5_ [6+25
4 1.05(1.05 + 27.65) x 10000 J2
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44 44
= 8- (5+1) T 8-(V5-1)
44 44 x(7++/5
=m—a+x/§b = 7£_5 )

44
= 2—4(7+\/§):a+\/§b
11 11
=a= o x7,b=—
ab:atbh=7:8
(2.53)% +(2.47)°
25.3x25.3-25.3x24.7+24.7x24.7
(2.53)2+(2.47)°
" 100%([2.53%2.53-2.53%x2.47 +2.47 x 2.47)
since a*+b® = (at+b)(a?+b*-ab)
2.53+2.47 5
100 100

9; l+l+l+l;[ixgj
@A 715737476 1279
L1l 12><9}
276" 10
9] _ o, [50+15+108
5 ’ 60

=5x10"

1 1
2 3
(5 1
_+_
|6 4

=9+

173} . 60 _540
*173 " 173
3 1 1 3 1 1
—t—+—+ + +
70 42 66 286 130 170
9 5 1 3 1 1
——t——t—+ + +
210 210 66 286 130 170
9 3 1 1
+ + +
110 286 130 170
132 1 1 _ 132411 1

+ +
11x130 130 170 ~ 11x130 ' 170
17 1 _18 9
170 170 170 85

15 5(8 9) (9 3\ (5 7\ 3
B S-Sl 35 e XTIt
8 43716) \8 4/ \32"5) 8
15 15 27 7 3
8 8 32 32 8
20 3 5 3

32 8 8 8

V26-7J3 _b+a3
N farshs 1

V521443 b+a3

- _
J28+1043 11

J49+3-2x7x3 _b+a

= 254342

=0,

><5><\/§ -

11

_b+a\/§

o

11

7—x/§_b+a\/§

:>5+\/§_

11

=

= b1 35+3-123

(- 6)5- ) prass
22

2

—b=19,a=-6

Vb—a =19

V3853 _

(-6) =

a+b\/§

J26+ 743

76 -2 x1x/75

23

11

=19-6.3

_ a-i-b\/';'T

=
J524+2x7x3

J75 -1y

23

_ a+b\/§

= Ja+ 3y
53-1_a

23

+b\/§

:>7+\/§_

23

—\/g):a+b\/§

- (5\B-1)(7
46

353 -7-15+3
el =

23

a+b\/§

46

36\/_ 22 _

a+b3

23

=>a+bf =-11+18 f3
on comparing,

=-11,b=
b-a=18-

18
(-11)=

29
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Simplification (MAINS — 2019)

1 3+2f 3-2V2
a+by2, th
4-V8 3-2v2 3+22 » Hhen

what is the value of (3a + 4b) ?

1 3+2f 3-2V2
4— f 3-2J2 3+22

(3a+ 4b) =1 A HIfSC |

1
(4) 987 (B) 97

afg

a+by2 g,

1
(C) 995 (D) 98
The value of 3+ 180f3x6+21x6+18-3+2
+3-3+90f3 x9is:
3+180f3x6+21x6+18-3+2+3-3+90f
3 x 9 =AM @ HITU

29 47
(A) 5 (B) &5

35 41
©) o5 (D) 5

V1875 1200 ) 175
Let x = | 3888 768 | Ji792 ‘lhen
Jx is equal to:
V1875 1200 ) 175

T = | Gess | 768 ) W7oz ©l M x
........ F AL |

5 4
A) 75 (B) 5

7 5
©) 15 D) 5
The Value

iof2i><lg— 31—2l + 31+4lof5l is
7 5 3 2 6 5 2 3

iof2i><lg— 31—2l + 31+4lof5l
7 5 3 2 6 5 2 3
T | [T HITT |

(A) 10 (B) 15

1 1
1— 7—
(© 15 (D) 75
45 1 .
Ifa = 71Where a, b and c are posi-
at+——
b+ 1
2
C_i
5

tive intergers, then what is the value of (4a—-b
+3¢)?

45 1 .
A oo = ], 91 a, b 3R ¢ YFHS qulish
2
¥
5
g, 9l (4a—b + 3c) = HFE 7@ HieQ
(A) 6 (B) 4
(€) 5 (D)7
The Value of
0.0203x2.92  _ (12.12)-(8.12)
0.7x0.0365x2.9 ~ (0.25) +(0.25)(19.99) **
0.0203x2.92  (12.12) ~(8.12)"
0.7x0.0365x2.9 ~ (0.25)° +(0.25)(19.99)
1 A 1 IS |
(A) 0.05 (B) 0.1
(C) 0.5 (D) 0.01
15(\/ﬁ+\/5)
The expression is equal

V10 ++/20 + /40 - /5 -/80

to:

15(\/E+\6)
E2SER m-;—@-;—m-ﬁ-@ .........
(A) 54242 (B)5-2.5
© 5(3+242) (D) 10(3+245)

If \/11-3/8 = a+ b2, then whatis the value of (2a
+3b)?
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A J11-38 =a+by2 © T (2a + 3b) 1 7 @ 27 x(0.25)° +125(0.05)’
Fifer | (0.75) —0.25x0.5 ™ 7 o0 Fiferu]
(é) S ([B)) 73 (A)1 (B)0.25
© (D) (©)0.75 (D)0.5
9 If 1 - 2 where x, y and z are natural 7+3\/7 7-35
) 1 79’ 'y 13. The value of lies between :
X+ 3+v5 3-8
y+
1 7+3J5 7-35
Z+ — _
4 31 d5 g5 T % o= T |
numbers, then the value of (2x + 3y -z)is: (A)2and/3X2.5 (B) 3 and /3R 3.5
29 . . (C)1.5and/ 3R 2 (D) 2.5 and /3R 3
afg 11 =%%,Wx,y3ﬁ12mq@m
X+ ——F— b b 11
2 =
y+—5 14. fa 07fmdthevalue0f ERUYE
T b b 11
i er;c:—=0.7%,a‘ra +—— 1 9 e i |
F, d1 (2x + 3y - z) 1 T @ a +b 34
(A)1 (B)4 (A1 (B)0.2
Qo (D)2 05 (D)0.3
10. The value of
8+2\f
1 ..11.1 .1 1(1 1.1 15. 3 N a\/3=b, then the value of a +b is equal
CEDWEIVEE I W S X
5 2 738 2 4 42 8 4 to:
1 1 .11 1.1 1(1 1 1 8+243 _
3= +4—0f 5—+—+—o0f — iox= b
5Tyt 4(2 8><4j EIRIEIEIG] q&"sf 5 aV3-b ¥ @ a+ b % 79 9@ Fifw)
it | (A)18 (B)15
“ 5 h 13 ©)16 (D) 24
60 15 1
7 3 16. If 2=x+—1,thenthevalue of xisequalto:
(©k~ D)7 1+
8 4 1
5+—
11. Thevalueof4+120f[3+40f{(4-2)x6+2}]-2%6 2
+8+3is:
4+120f[3+40f{(4-2)x6+2}]-2%x 6+ 8+ 3T AN Afg 2= x+——— ¥, @ x 1 HHA A FHC
T e | 1+ 1
1 1 3ty
4— 7—
(A) 6 (B) 6
A ®)1
1 1 vy
© 2 D) 3 13
3 3
@ ©)
27 % (0.25)° +125(0.05)" 13 15
12.  The value of (0.75)2—0.25><O.5 is: D111 )
17. Evaluate: E+£+@+@+143
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18.

19.

20.

21.

1,11 1
— =t s
1535 63 99 143 o !

4 7
(A) 29 (B) 29
5 10
© 29 (D) 29
If — = 0.2346, find the value of ————

4263 € Vatte ot 5 0004263 °
iy 263 =02346 %, W s 0004263 0.0004263 11 A ST
(A)4.263 (B)2.346
(C) 2346 (D) 4263

Ifx = \/—\/§+«/3+8« |7 + 43 where x >0, then the

value of xis equal to :

g x = \/—\/§+«/3+8«/7+4\/§ ST x>0 %, @ x#

I T I |
(A)2 B)3
(oL (D)1
8+215 1
The value of 5 - 1 8+ 2415 is equal to:
8+2415 1
- N Yo 1 AT 1 IS |
A 2 B)1
(4) 5 (B)
Q= D)+
© 5 (D) ;
Evaluate the following :

5-[96+40f 3 - (16 - 55 = 5)]

5-[96+4 of 3 - (16 - 55 + 5)] =l A1 @ ST |
(A)O (B)3

©2 (D)4

Solution

3.

©

D)

©

1 3+2f 3-22

4-J8 3-22 3+202 = a+by2
4478 (3+242) ) (3+242)
R

4+\/§+9+8+12\/§_(9+8_12\/§)

8
4+8
8

NG

1,1,
2 22

1

1 1+96

N |

97

1
"2 k22
1,97V2

4

3+ x%=98—

+
2N

7

—+i+24\/§

+2442

1
2

1

+17+122 17 +122

6 3
3+54x6+21x% E—E+3—3v27><9

ﬁ+21 i—§+3—i><9
54 18 2 27
1+7—i+3—1
3 2
= 1+9—é

3 2
_2+54-9 47

6 6

253 y 163 y 57

4243 203 1647

Study Center : Jaipur * Gopalpura ¢ Lalkothi ¢ Jhotwara  Ambabari « Udaipur ¢ Alwar



Mother's Previous Year Questions | Simplification

_25 |3 5(\/E+J§)2
16 V243 " T 105
x=%xé =10+5+ 2J10x5
. =15+ 1042
=13 =5 (3+2V2)
5
=375 2
12 8. O (3-+2) =3-42
4 4 2 (.1 .1 1 1 1
Zof2—x12-[32-22||. [3=+4—o0of 5=
4(A) {70 573 ( 2 6ﬂ ( 5°45° 3) a+by2
a=3b=-1
4,14 5 (7_13)] (16 9 16 2a+ 3b
7"5 73 (2 6)] \5 273 2x3+3x(-1)
- 6-3=3
_8_[8ﬂ;[16;24j 9. O) x=2y=12=5
| 3 6 5 §_l_ 1 y 1
8 4 16 79 79 5,21 , 1
3 3] \5x24 a 29 29
21
4.2
315 _ 1 A 1
2+ 18 2+ 12
x15=10 S =
3% 2 +21 1+g
s o Y2 4
: a|b|c B 1_5 1
4(1)=5+3(2) B
4-5+6 x=2,y=1,z=5
=5 =2x2+3x1-5=2
0.059276 0.0625+ 4.9975 6 9 16 1 (1) 1(1
6. (A) X 10. (A) —roX—t—=|—|-=[=
0.074095 4% 20.24 @A) 533 e s 3o
O.SXS‘L E i_l 1
4x20.24 ey
=0.05
;.2 1 _60+8-15 53
- 15(10 +V5) 15 4 60 60
V10 4245+ 2410 -5 - 45 11. (A) 4-120f[3+4 of (6)-2x6-8+3
15(\/E+\5) 4:12_9,%,3
(vio - V5) °
8 3.5_25_,1
5(Jﬁ+£)xm+¢g 3 2 6
J10-V5 10 +45 12. (A)  (0.75)+(.25)°
(0.75)2-0.25 % 0.5
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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13. (A)

1. ©

15. (A)

16. ©

(0.75+0.25)((0.75)> + (0.25)2 - 0.75 x 0.25)

(0.75)2-0.25x 0.5
0.75+0.25=1

(7 +3V5)3 ~5) = (7 - 35)(3 +V5)

9-5

%[21—7J§+9J§—15—@1+7J§—9J§—1a]

1

%(—14J§—%18J§)

8+2J§X3J§—5
3J3+5 33-5

24./3 +18 —40—-104/3
2

1ﬂ%ﬁ%ﬂ\@—n

a=7
b=11
a+b=18

2=x+ E
11
11

=x+ —
2x13

-191—7J§+9J§—15—21—7J§+9J§+1a

17. ©

18. ©

19. (A)

20. (B)

_26-11 15
T 1
1 1 1 1 1
=ttt ——
15 35 63 99 143

0 1 1 1
—t—t—+—
105 63 99 143

2 1 1 1
—t—t—+—
27 63 99 143

7 1 1
63 99 143
1 1 1
9 99 143
12 1
_+ —_

99 143
156+9 165 5

1287 1287 39

1 _ 10000
0.0004263  4.263

J—J@+JS+847+4J§
J—J§+Js+16+8J§

5 [V E)

= J-B+a+3
Jz =2
8+2J15 1
T4 8+2415
20(8-+2V15)~(8+2V15) ~ 4
B 4(8+2415)

160+ 40+/15 — 60— 60 — 3215 — 4
4@+2$ﬁ)

4(8+2415)
=4@+2$E)=1

=10000 x 0.2346

[6)]

21. (©) 5-[96=40f3-5]

5-[96+12- 5]
5-3=2
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Simplification (MAINS — 2018)

7+8x8+80f 8+8+8x4 of 4 .
The value of 4 e a4 44 0f2 5~

7+8x8+80f 8+8+8x4 of 4
1 dofdidxd-d_d-dofp MAME:

(A)7.8 (B)4.6
(C)8.7 (D)6.4

The value of 224 +11.567 - 33.59 is:
224+11.567-3359 FHAFE :

(A) 032 (B) 0412
© o031 (D) 0412
(253)" +(247)’

The value of is 50 x

25.3%x25.3—-624.91+24.7 x24.7
10%, where the value of kis :

(253)" +(247)’
25.3%25.3-624.91+24.7 x 24.7
SE Kk FAFE
(A)3
©2

WA 50 x 10° ¥,
(B)4
(D)-3

If (x/§+ J5- \/g) x k =-12, then what will be the value
ofk?

=fe (x/§+\/§—x/§)xk=-12,a‘rkamm=rw3ﬁm?

(A) V2 +5+3
(B) (\/§+\/§+\/§)(2 \/ﬁ)

© (V2+5-3)(2+5)
(D) (V245 ++3)(2- 5]

The
(E 22 fl_lj
4 3 2 4

12} 1 (3 1
200f41.2 Spa2olll :
( 795 3)"1 (4 3% 2 4] HATE

(A)5 (B)8

value of

10.

O © 3

1 6 3 2 1 1
The value of (1§+2— Of5§j +(6—+4— 0f5—j X

7 5 2 3

3 .2

(4 25—5 of1— j=1+k,wherekh'esbetween:

(11+2é of5§j+(63+41 of51j X
3 77 5 5 2 3

3 2 5 .1

ST 7

(A) -0.07 and / 3TR -0.06
(B) -0.08 and/ 3 -0.07
(C) -0.06 and /3R -0.05
(D) -0.05 and /3R -0.04

The expression \/10 + 2(\/6 ~15- \/ﬁ) isequalto:

i \[10+2(V6 — 15 -10) freaferfm & & e
TRE ?

(A) 34v2-5 B 3-\2-5

O B-V2+5 D)V2-3-5

(0.545)(0.081)(051)(5.2)
The value of ) 354571 (0.221) —(0.545) ™

(0.545)(0.081)(0.51)(5.2)

(0.324)° +(0.221)’ —(0.545)° ¥
(A)-1 (B)1
©3 (D)-3

The value of 0,56—0.723+0.39x0.71S:
056—0.723+0.39x0.7 FHAE :

(A) 0.154 (B) 0.154

© 0158 (D) 0.158

The value 0f 9x6+24+8+20f5-30+4 0of 4 +27 %
5+9is:

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions | Simplification

11.

12,

13.

14.

15.

Ox6+24+8+20f5-30+40f4+27 x5+ 9FHHAFT

647 243
) % ®)
493 259
© ©) 5

If \/10—24/21 ++/8+ 215 = /a + /b, whereaand b

are positive integers, then the value of /31 is closest
to:

A 10— 2421 +/8+ 2415 =Ja+b # a s b
IR YU, W \fpb 1 R A T

(A)4.6 (B)5.9
©e6.38 (D)7.2

The value of \/28 +104/3 — \/7 —4./3 isclosestto:

V284103 —7— 43 1 " Frefefaa & 4 frae

a9 T e 2
(A)7.2
(C)6.5

(B)6.1
(D)5.8

The value of 047 +0.503-0.39 x0.8 is:
047 +0.503 —0.39 x 0.8 1 HI 11 & ?

(A) 0.615 (B) 0.615

© 0.615 (D) 0.625

he value of —= 210 —,/ﬁ_z— S

The value o \/§+\/§—\/7 \/§+2 \/7_2 is:
2410 \5-2 3 59

ia—F7 2 72 T

(A) 2+42 (B) 2.5

O V2 D) J7

Thevalueof 24 x2+12+12+60f 2+ (15+ 8 x 4) of (28
+70fb)is:
24x2+12+12+60f2+ (15+8 x 4) of (28 + 7 of 5) I
A FNE ?

8

1
(A) 45 (B) 4%

16.

17.

2 32
4 3 (D) 4 75

A student was asked to find the value of

9é+1110f1+(11x1é+§)><210f%+é0fg His
9 3 6 3 55 6 3 2 3

1
answer was 191- What is the difference between his

answer and the correct answer ?

T Tazmet =1
9é+1110fl+(11xlé+§j><210fg+é0fg w7
9 3 6 3 5 5 6 3 2 3

M e % fou et T | SEE 3 19% ST | S5
T TR Tt S H foman ST ® 2

3 2
(A) 71 (B) 65

1 1
© 75 (D) 65

(4.6)" +(5.4)" +(24.84)° .
(46) +(54) +24.84

The value of

(4.6)" +(5.4)" +(24.84)°
(4.6)" +(54)" +24.84

(A)24.42
(C) 2542

FIHAF TR ?

(B)24.24
(D) 25.48
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Solution _ (12X§XQJ 4
7+8x8+80f8+8+8x40f4 29
L. D) 4 40fa+ax4-4-4- 402 =

_ 71416 24 4 6. (A (i;Qxﬁj (Q;EXEJ
%+4X1_§ 15 3 75 5 273
(Exﬁ;ﬁ Ej
2. (D) 22.4 + 11.567 - 33.59 43 95
4 1 32 1 3 8 3
= (22+11—33)+(i+56—2—5—4j (E Ej (? 2—4] x (Z 3 Ej
9 990 90
_ 440+562-504 408 _ (i_ijx(g)
- 990 © 990 1215
1
3 @) (253)° +(247)° = 1573 *8=1+k
" Y 053%25.3-624.91+24.7x24.7x 24.7 Is
= K — = +
50 x 10 e =Ltk
500((253)" + (247)" - 253 x 247 ( 15)
k=|1-—
7 1072((253)" + (247)° - 253 x 247) 14
= 50 x 10¥ k= - — =—0.0625
= 50 x 10% = 50 x 10X 16

= K=3

4. B) (V2+V5-3) xK=-12

7. (&) |10+2(<6 -5 -10)

(a+b+cP=a2+b*+ c*+2(ab +bc+ ca)

-12 X(\/EJF\EJ”@) here, we can write \/10+2(\/6—\/§—\/E)
Y 4 (\/§+\/§_\/§) (\/§+\/§+\/§) in form of (a +b + ¢)as,
~12(v2 + 5 + 3} = \/(\/§+\/§_\/§)2
= K= [(7+2410)-3] = J3+2+5+2J6 - 215 -2J10
_12(V3 + VB +3) (2-10) =\/10+2(£—£—Jﬁ)
= K= (4 +2J10 ) % (2 ~J10 ) Which is same as above expression
8. (A) a®+b*+c*=3abcifa+tb+c=0
—12(\/§+\E+\5)(2— 10) Here,
=K= =D a=0.324
b=0.221
— K= (V2 ++5+3)(2-V10] c=-0.545
- 0.545x0.081x0.51x5.2
5. () (220f4é+§)Xlé+(%><2§0fé+%j :>_—:i3><0.324><0.221><0.545

{[zolejoz} 10 [Sx[8x1j~ 1) o (n BL_716 36 7
= — X— |F¥=| x — =|— ke Sl B . -t X
7°5) 3] 9 T\4a"\372) 4 W 507990 T90 9

H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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10.(A)

11.(B)

12. ©

13. (D)

1. ©

561 N
990 990

153

990 0.154

Ox6+-24+8+20f5-30+40f4+27x5+9

9:6+-24+8+10-30+16+27%x5+9

9x6 i_§+27x5

24 10 16 9

9 4 15

_+___

4 5 8

90+32-75+600 647
40 40

716 28x11
990

+ 15

{3+ (5] 287

+\/(J§)2 +(\/§)2 +2v543 = Ja +Jb

=7 -3+5+J3=Va+b
V7 +45 = Ja+b
=a=7b=5= /ab =59

J28+1043 —\7-43

= (5)2+(\/§)2x2x5x\/_ - 1/22+(\/§)2 -2 %

23
= (5+\/§)—(2—\/§)
=34+./3x2=3+2x%1.732

=3+3.464
=6.464 = 6.5

43 498 36 8
9 990 90 9
971 32x11

990 990

619

~ 990

2J10(\5+2+7)
(VB +2+7)(VB+2+7)

_2I0(F 4T
e

=0.625

15. (A)

16. (A)

17. (D)

= (VB+v2+47)
[V5-2

[\5-2
J5+2 (\/§+2)(\/§—2) =\5-2

3 (ﬁ+2)_3(ﬁ+2)_
ﬁ—zx(ﬁu)_ 3 =742

Putting values in ques.

= 5+\/§+\/7—(\/g—2)—(\/7+2)

=2
24x2+12+12+60f2+ (15+8 x 4) of (28 + 7 of
5)

15 4
24 x2+12+12+12+ | 5 [X| =

2 5

X2 r12-6

12 1
4+ =4—

12x6 6
85341(495]1324
— e —X—F| =X=X— [X—X—+=X—
9 3763753/ 6 3 3
§><i+(4)><E+§

9 17 9 9

5rdx 2
= 8

5+E—§

2 2

, 77 23
Diff.— =3

31 .3

_%7_
— 3y
(4.6)" +(5.4)" +(24.84)°

(4.6)" +(54)" +24.84

_ a’+b* +a’b’

a’+ b’ +ab
=a’+Db*-ab
=(4.6)*+ (547 -4.6x54
= 2548
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Simplification (MAINS — 2017)

Which of the following statement(s) is/are True
P

ﬁwi%ﬁaaﬁﬁﬁ-—r—wﬁww%/%?

(0.03j+(0.003)+(o.ooo3)+(o.oooo3j )
L1702 0.02 0.002 0.0002 ) ~
0.6.

1. (0.01)+(0.01)2 + (0.001)2= 0.010101

A) Only I/ %aa I
B) Only II/ %3 I
C) Neither I nor II/ A1 I T8 11
D) Both I and II/1 e II St
What is the

1 1 1 1

(0.7 (0.017 (0.5  (0.05) °

(
(
(
(

value of

1 1 1 1
(0.7 (0.01F  (0.5)  (0.057 T IIFNE?
(A) 10504 (B) 10404
(C) 10004 (D) 11400

Which of the following statement(s) is/are true
P

mﬁﬁﬁ-—rwﬁww%/%?

A e M

II. 14§+51—21>111+12§—7l
4 4 "2 8 8 4

(A) Only I/ == I

(B) Only 11/ &= 11

(C) Neither I nor II/ I @ I A& II

(

D) Both I and II/1 e II S
Which of the following statement(s) is/are true
?

freafafea d A P oy S w8/ B ?

3 9 7
. < <
110 308 225

1 3 6
II. 99—+992+99—+ ..... 99—-=279
7 7 7 7

(A) Only I/ e I

(B) Only 11/ &= 11

(C) Neither I nor II/ I @ I A&V II
(D) Both I and I1/1 ge1 II St

1 1
Iff(x) = < %21’ then what is the value of f{1)+

f(2) + f(3) + ...... f{10)?

afE f(x) = i— %%,a‘rf(m f(2) +f(3) + ...... f(10)

X
A L ?
9 10
(A) 10 (B) 11
11 12
©) 15 (D) 73

Which of the following statement(s) is/are true
P

frafafea § @ A oy S FeA g e/ B 2

I. J121++12321+1234321=1233
II. J0.64 ++/64 +/36 +0.36 >15
(A)Only I/ %@l  (B) Only 11/ e 11
(C) Neither I nor II/ @ I A&V II

(D) Both I and II/1 = I <t

1
What is the value of (2+‘/§)+[2+\/§j+

[ ! j+(2_ﬁ)?

2-42

1 1
(2+\/§)+[2+\/§j+ [2_\5]+(2—\/§) = °H
FNE ?
(A) 2 (B) 4
(€8 (D)6

5.6x0.36+0.42x3.2 5

What is the value of

0.8x2.1
5.6 % 0.36 +0.42 x 3.2
0.8x2.1 A E
(A) 2 B)1
3
©3 o 5

What is the value of

(1.2)> +(0.8)> +(0.7)> -2.016
(1.35)[(1.2)" +(0.8)" +(0.7)° ~0.96 - 0.84-0.56 | ?
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10.

11.

12.

(1.2)> +(0.8)> +(0.7)> -2.016
(1.35)[(1.2)° +(0.8 +(0.7)° ~0.96 -0.84-0.56| ¥

HE T ?

1 1
(A) 7 (B) 5
©1 (D) 2

What is the unit digit of (217)"° x (819)>* x
(41(D)%** x (34(B)*12?
(217)413 x (819)% x (41(D)°** x (34(B)®'2 = ThTE

SFFNE ?

(A) 2 (B) 4

(€)6 (D)8

What is th 1 fS = #4- 1 +
at 1s € value o = 1)(3)(5 1x 4

1 1 1 1
+ + + +
3x5%x7 4x7 5xX7x9 7x10
20 terms, then what is the value of S?

1 1 1 1

S = + + +
1x3x5 1x4 3x5x7 4x7

1 1, 20 Wik, @ S wHA
5x7x9 7x10 7 ’
FNE?

6179 6070

15275 ( )14973

7191 D 5183

15174 )16423

Which of the following is true ?
frfafaa & 9 FH-T 9 € ?

1 1 1
L2 " 429~ 5

1 1 1
> > —
L9 "2~ 6
11 1

M- 5”2~ 420

1 1 1
Iv. E > E > %
A) Only I/ %aa I

B) Only II/ %3 I
C) Only 111/ %= I11
D) Only IV/ &aa IV

— — p— p—

13.

14.

15.

1e6.

17.

Which of the following is True?
frfafaa & 9 FHA-T w9 T ?
L J11>V7>%Y45 1. J7 311> 445

II. 7 >445>311 IV. a5 7> 311
(A)Only I/ %@l  (B) Only II/ & 11

(C) Only 111/ =@ III (D) Only IV/ e IV

What is the value of 14° + 163 + 183 + ... + 30°?
14° + 16° + 18° + ... + 30° I HF F1 & ?

(A) 134576 (B) 120212
(C) 115624 (D) 111672
What is the value of

\/4600+\/540+\/1280+\/250+«/36 ?
\/4600 + \/540 11280 + 250 + V36 1 A F

g2

(A) 69 (B) 68

(C) 70 (D) 72

If N = 0.369369369369... and M =

0.531531531531..., then what is the value of

b))

afe N = 0.369369369369... a4 M =
1 1
0.531531531531... %, a1 ~N) FHHAAFNE ?
11100 111
2419 ) 100
1897 2419
3162 D) 17600
oA - 0.216 + 0.008 4B -
T 0.36+0.04-0.12 2B B
0729-0027 ot ic the value of
081+009+007° then what 1s the value o
(A>+ B2 ?
b A o 0.216 + 0.008 5 -
A = 036+004-0.12 O -
0.729 - 0.027
2 2\2 7
0.81+0.0010.27 & (A + By o T
(A) 0.8 B) 1
(C) 1.4 (D) 2.2
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18.

19.

20.

21.

A - 1 1 111
T 1x2 1x4 2x3 4x7 3x4
1 to 20 t th hat is th
7><10 ..... upo erms, en wnat 1s e
value of A?
foA - 1 1 111
A T 1x2 1x4 2x3 4x7 3x4
1 .
..... 20 9Ei Tk B, A1 A = HA R E ?
7 %10
A 379 5 171
()308 ()140
c 379 420
( )310 ( 341
1 1 47 47
= 3-x4-+34———+—— =
If A 4 4 32 16 and B

2%+ 51.55-11

5 10’ then what is the value of A

-B?

3l,ql g4 27 47
4”7 4

afe A = 32 16

991 B =

1 1 11
2_4+5_+55__— — ?
5 5 10 2, A A-B R HHE RN 7

5
A 5 B) 1
C)o Di
© D) §

Which of the following statement(s) is/are
true?

I[. (65)'° > (17)'/* > (12)'/®

II. (17)4% > (65)'/° > (12)'/®

II. (12)'/2 > (17)Y* > (65)'/°

frrfefaa wem woml § 9 FiF-w8 vt /2 2
[. (65)Y° > (17)/* > (12)'/®

II. (17)4% > (65)'/° > (12)'/®

II. (12)'/2 > (17)Y* > (65)'/°

(A) Only I/ e I

(B) Only 111/ == 11

(C) Only 11/ / Faa 11

(D) None of these/ T | IS T8l

0.02  0.002

1
What is the value of —+ +.

0.2
upto 9 terms.

22.

23.

24.

25.

1 1 1

——+———
0.2 0.02 0.002
(A) 222222222

(C) 555555555 (D) 525252525

What is the

3.6x1.62+0.48x3.6 5
1.8x0.8+10.8x0.3-2.16 °

3.6x1.62+0.48%3.6
1.8x0.8+10.8x0.3-2.16
(A) 2.4
(C)4

+.ees O TG TH B HA FNE 2
(B) 111111111

value of

FIHAF TR ?

f—— =
b

) O ) S o O

1 1
(1—;) =1+ < then what is the value of x ?

o ool -

1
(1——j =1+ és‘r,a‘ranﬂw%?

7
(A) 6 (B) 8
()5 (D)7
What is the value of
1 1 1 1
+ + R T + —F ?
3x7 7x11 11x15 899 x 903
1 1 1 1
+ + R T — T
3x7 7x11 11x15 899 x 903
T IR ?
21 18 25 29
B 500 B 205 © 301 P37
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26.

27.

28.

29.

30.

31.

What is the value of 121+412321+

J1234321 + /1234543217

V121 +4/12321+ 1234321 + /123454321 F1
T IR ?

(A) 12345 (B) 123456

(C) 12344 (D) 123454

Which of the following statement(s) is/are
TRUE?

Frrefafad & @ FF-9y S FeA aa T/ § 2
1. 33%> 3%

I1. 333 > (3(°)°

(A) Only I/ e I

(B) Only 11/ &= 11

(C) Both I and II/1 &R II St

(D) Neither I nor II/ Fd [ A&V II

[fP=22+6%+10°+14°+...94°and Q = 12+ 52
+ 9% + ... 812, then what is the value of P - Q?
ACP=22+62+ 102+ 14%+... 942 9N Q = 12 + 52
+92+ . 81°%, @ P-QHUAFNT?

(A) 24645 (B) 26075

(C) 29317 (D) 31515
IfA(1j+(1j+(1j+ upto 8

0.4) (0.04) (0.004) T pto

terms, then what is the value of A?

AL (014j (0.134]*(0,()104] - N

EAARATFNE?

(A)27272727.5 (B) 25252525.5
(C)27777777.5 (D) 25555555.5
IfM=0.1+(0.1)2+(0.01)2and N=0.3 + (0.03)?
+ (0.003)%, then what is the value of M + N?
afc M=0.1+(0.1)2+ (0.01)2 7= N = 0.3 + (0.03)?
+(0.003)2 ¥, @ M + N o1 719 1 & ?

(A) 0.411009 (B) 0.413131
(C) 0.313131 (D) 0.131313
1
P = 95x07° Q7 g6 xog MMAR= 5y, then
which of the following is True ?
96

TP = 55x07° 2= 96x08 "MR" ﬁ g @
Frefafad § 4 FA-T w2

A)P<Q <R (BJR<Q<P

(Q)Q<P<R (D)R<P<Q

32.

33.

34.

Which of the following statement(s) is/ are
true?

frafafea d @ SA-9/ A FeA g 2/ 8 ?

I. 111+17§_51_2i:@
2 4 5 10 20
9 11 12
II. > >
1078 1127 1219
149 153 157
I1I. > >
151 155 159

A) Only I/ %aa I
B) Only II/ %3 I
C) Only 111/ %= I11
None is true/ﬁ% T TRl B

(
(
(
(D)
h1ch of the following statement(s) is/ are true
ﬁwi%ﬁaaﬁﬁﬁ-—rwﬁww%/%?

2 3 5
305 “245 " 43

3 2 7

NN VN
(A) Only I/ e I
(B) Only 11/ &= 11
(©)
(

C) Both I and II/1 &R II S+
D) Neither I nor II/ I a1 I T8t II

o GHEHERHE) e
32 e
- G-OBOE
CRCREENENEN

FNE ?

A 207 5 339
) 560 B) 1120
o 113 oy 82

(€) 350 (D) 175
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35.

36.

37.

38.

39.

Which of the following statement(s) is/are
TRUE?

frafafea o @ FR-9/ S FA g 2/ 8 ?

L. (64) +[(0.0064) + [0.81) +/(0.0081) =
9.07

II. /(0.010201) +,/(98.01) +/(0.25) = 11.51
(A) Only 1
(B) Only 11
(C) Both I and I1

(D) Neither I nor 11

Which of the following statement(s) is/are
TRUE?

Frrefafad & @ wF-97 9 oA @ 8/ T 2
1. (0.7)% + (0.07)% + (11.(A)? > 123.8

II. (1.1(B)? + (10.(C)2 + (1.05)? > 108.3
(A) Only I/ e I

(B) Only 11/ &= 11

(C) Both I and II/1 &R II St

(D) Neither I nor II/ Fd [ A&V II

Which of the following statement(s) is/are
true?

frafafea o @ FR-9/ S FA g 2/ 8 ?

1 1 1 1 12

I. + + +.e. + = —
1x3 3x5 5x7 11x13 13

1 1 1 1 12

1. + + +.ot =—
1x2 2x3 3x4 12x13 13

(A) Only I/ e I
(B) Only 11/ &= 11
(C) Both I and II/1 &R II gt

(D) Neither I nor II/ I @ [ A& II
Which of the following statement(s) is/are
TRUE?

frafafea o S FR-97 @ FA g 2/ 8 ?

3 5 7
I. =< —<—
71 91 99

11 12 13

LT >

135" 157 " 181

A) Only I/ %aa I

B) Only II/ %3 I

C) Both I and I1/1 s II <
D) Neither I nor II/ I a1 I T8t II

11
(
(
(
(

1 1 1
If1+ (§j+(§j++(2—oj= k, then what is

40.

41.

oot (515 -+ (56
ae 1+ (3)+(3)rr(a5)= x ¢
ARORAREE

(B) 2k

(k+1)
2 (D) 2

Which of the following statement(s) is/are
TRUE?

Frreferiaa § | sia-ay 4w w8/ € ?
L V5+5>7+3

II. J6 +7 >8 ++/5

L. /3 +y9>6 +6

(A) Only I /%aa I

B) Only I and 11/ e [ aen 11

)

(
(C) Only Il and I1I/ & 1T qen 11
(D) Only I and 111/ %= [ qen 111

43 NN
Ifa= ——==——F db= —=—"F, th hat i
a \/g_\@an Bz’ en what is
the value of a? + b?=ab ?
J3 +42 J3-2 .
Qﬁa=7fﬁwb=7f%,?ﬁa2+b2=ab
NEEND) J3+42

FIHF FAE ?

(A) 97

(©) (46)+1

(B) (2v3)+2

(D) 98
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Solution
1 0.03 N 0.003 N 0.0003 N 0.00003 (I1)0.8 +8+6+0.6
: 0.020 0.02 0.002 0.0002 =154> 15
3 3 3 3 So Both I & II are correct.
263636 " 20 7 D) (2043) (2B s L]
19 2+42 2-42
_2—0—06 —...(D =4+i=6
= 0.01+0.0001 +0.000001 =0.010101 ..... 2
(IT)
So both I and Il is correct 8. (A (5:6x0.36)+(0.42x3.2)
0.8x2.1
1 N 1 N 1 N 1
= (10)2 + (2)2 + (100)? + (20)2 0.8x2.1
= 10504 =l2+.8=2
3 4 5 999 999 (1.2)° +(0.8)" +(0.7)° ~2.016
3. ) O5*3%4 908 2 9. (D) {1.35[(1.2) +(0.8)" +(0.7)" ~0.96 - 0.84-0.56 |
=499.557497 (1
M a’ +b’ +c¢’ - 3abc
3 1 1 1 7
(If) (14 + 5 - 2)+Z+Z_§ 175 §(a+b+c)[ag+b2+02—ab—bc—caJ
1 3 1
(11+12_7)+(8 g_Zj 16% (a+b+c)(a2+b2+C2—ab—bc—ca)
So I and II both are correct - %(a +b+c) (a2 +b* +c® —ab-bc- Ca)
3 9
4. A () — —3 =2
110 x 308 10. (D) (217)%2 x (819)% x (414)%%* x (342)812
3 9 Unit digit of every numbers =7 x9 x 6 x 6
_— — = =
TR0 110 T a0 So. & = unit digi
9 7 11.®
308 <3325 L1 1
025 < 2156 So —u < O 2B
2025<2 ° 308 " 225
L 2 3 p (i) Y12 = (12)5 LCMof3,4,2,=12
(II)99><6+( o+ =+ —j
594 +3 597’7 o ! () 929 = (29)%
+ =
So only I is correct and II is false. . L
(i) V5 =(5)
5. B f(1)+f(2)+£(3)+....1(10)
4 3 6
o, 1111111 2 (29 9
T2 2 3 3 4 77 10 11 \ A l
.1 10 20736 24389 15625
11 11 1 1 1
20736 24389° 15625
6. (D) (I) V121++12321++1234321 (i) (id) (iii)

11+111+1111=1233
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17. (B)

11 1
= —=>——>——
J5 7 127 429
Y11, V7, Y45
111
113,72, 454
LCM of 3,4, 2= 12
(1)’ (7)° (45)°
N N N
14641 117649 191125
J7 445 >311
14° + 16° + 18° ... 30°
8(75+8°....... 159)
HN(NJr 1)]}2
19+ 25+ 33 ... N= || =5

{2 2]

= 8((120)" - (21)*)
=8x141x99=111672
\/4600+\/540+\/1280+\/250+\/% =68

N = 0369 369 1999

999 N 369
531 1 999

999 ° M 531

1 1 999 999 900
1,722 299 999l -
N M 369 531 369 x 531

11100
2419

A~ 0.216 +0.008
© 0.36+0.04-0.12

w1

M= 0.531

(0.6)" +(0.2)°
" (0.6)° +(0.2)° —(0.6)(0.2)

= A=0.38

e 0.79 - 0.027
~ 0.81+0.09+0.27

(0.9)° -(0.3)°
= (0.9)2+(0.3)2+(0.9)(0.3) BT 06

(A + B2)? = [(0.8) + (0.6 = [1F = 1

18. (D)

A

1 1 1 1

+ + + +
1x2 1x4 2x3 7 %10

upto 20 terms

;

1 1 1
+ +oeennn
x4 4x7 27 %31
1 1 1 1 1
= 1-——+———+...... +
2 2 3 10 11
1 1 1 1 1
1-—+———+..... +——-—
4 4 7 27 31
1 1{ 1} 10 30 420
11 3 31 11 3x31 341
_18 17 1 47 47 13-47+94
4 434 32 16 32
60_15
32 8
5 11 1 11 3
B= —t+—X———=—
2 2 55 10 2
po15_3.3
-8 2 8

I.
(6

II.
I1I

(65)6 > (17)1 > (12)
5 >(17)° > (12)* x

(17)° > (65) > (12)" x
. (12)" > (17)° > (65)2

So only III is right.

1

0.2

1 1
2 0.02 0.002

Acc. of pattern

10 100 1000

2

+— ... i
> 2 9th term will be

1000000000

2

then addition will be

=

5+50+500.......... 500000000
3.6x1.62+0.48x3.6

M 1 8%0.8+10.8x0.3—2.16

=n

_ 36x162+48x36 ><100
T 18x8+108x3-216 " 1000
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36(162+48) 1 26. (C)  V121++/12321++/1234321+ /123454321
=12344
36x200 1 27. (A) 333> 3%
= 0= e1a 10 332> (3))"
SR 333 > (27)1 = (27)!! > 333
So, I is false.
1 5 1. 333 > (39 = 333 > 27°
23. () — 71 —% = 273> 333
1+71 So Il is false.
1+—1 So, neither I nor II.
1+ 28. (B) IfP=22+62+ 102+ 142+ ........ 942 and
X Q=12+52492+ ... 812
on revercing P-Q=(22-19+(6%-5%) + (10°-99) + ........
| . | . (822 - 812) + 862 + 902 + 942
> 1+ 7 =5 = 1+—1=(g—1j = 3+11+19+.c 163 + 862 + 902 +
1+— +—
N X 942
; 21
on revercing = [6+20 x 8] + + 862 + 902+ 942 =
1 5
—_— == 1 5 26075
= 1+ 1+l 3 > —1:§—1
X 1+ — 29.(C) A= E_i_ 100 N N 100000000
‘ N . T U —
on revercing
11111110
13 1 _ = =2777777.5
:>1+;—5:>x—5:>x—2 4
30 (A) M=0.1+0.01+0.0001
e Y e DY Y LYYt N = 0.3 +0.0009 + 0.000009
24. (B) ) S B Y T M + N =0.411009
1 1 31.(B) P= & Q= L R= L
[1——j=1+; - (B) 95x97’ 96 x98 "’ 97
From Pand R
= zxéxzxgxgxixg:]+l 96 >i
2 4 6 8 3 5 7 X 95 %97 97
9 1 1 1 96 > 95
=>§:1+; =273 >x=8 and from Q and R
(97)% > 96 x 98
25 (@ L, 1 1 = (97)2> (97 - 1) (97 + 1)
O 35T X T 8995903 = (97)2>(97)* -1
So,R<Q<P
l{ ! + u + i ! } 2 3 2 1 439
= 413x7 7xIl 11x1577 899x903 32.(A) 11— +17—-5—-2—=—+
4 10 10 20
S ] oS3 _,u35 6
4.3 7 7 11 11 15 899 903 = 2 10 = 20 20
11 1 1] 301-1 1]300
= 5w = 35 = i) R
20 20
25 So as per options only (1) is correct.
= 301 33. (A) Multipy /3
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2 23 83 Semme b
35 315 12415  CoeRase
(After multiplying 4./3 m numerator and
denominator to make same base)

3 3J3 183 Samme b
2\/5 QJE 12\/E—ame ase
5 55 153

= = — Same b
4J3 415 12415 ame base
Now comparing numerator

2<3<5
35 245 43
5 2 1 3
_X_
5 2
3 2
_X_
3

5
X_
5 3
5 3 113
—+

M 113 3 113
—= X

N 210 5 350

(i) 64 +0.0064 + /.81 ++/0.0081 =9.07

8+ .08 + 0.9 + 0.09 = 9.07 its true

(ii) 4/0.010201 +/98.01++/0.25 =11.51
0.0101 +9.9 + 0.5 = 10.501 [it is not true]
So only [ is follow

() (.7)?+ (0.07)% + (11.1)2 > 123.8

49 + 0.0049 + 123.21 = 123.70 [It is not
true] 123.80

(i) (1.12)?+(10.3)2+ (1.05)? > 108.3
1.2544 +106.09 + 1.1025=108.44 > 108.3
It is true.

21 1 1 1
G 5 + + +oennn.
2|1x3 3x5 5x7

38. (C)

T 13
Alternative

12
but in question given 13 not true.

1 1 3 1
Difference | First last
11 _1,_6
~ 21 13] 13

1 1 1
(i) Difference {First - last}

11 1] _112] 12
2-1/1 13| 1/13| 13
H i<i<l

@ 7191 99

Multiply by 100

300 500 700
< <

is true

71 91 99
~4 <~5<~6 [itis true]
11 12 13

N L
i) 35”157 " 181
Again multiply 100

1100 S 1200 S 1300
35 157 181
~8>~7.64>~7.18 [itis also true]
1+—+l+ — =K
Stgte 20 =
l+1+ +L—K 1
Stgte 20 - K-
Divide by 2
1 1 1 k-1
—t = f . — =
4 6 40 2

(i) /5 ++/5 >7 ++/3 — Square both side

20> 10 +2 /21 (True)

(i) 6 + 7 + 2./42 + 8 + 5+ 240

13+ 2442 >13 + 2/40(True)

(i) 12+2427 >24

63 >12 (Wrong)

R CERCINERR
B2 B

b=5_02J6,ab=1
a2+ b2 - ab
=98-1=97

2.6

=5+
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Simplification (CHSL — 2019)

The difference between two numbers is 43 and
their product is 50. Find the sum of their
squares.

T WA % o= %1 3T 43 STR 351 UFTA 50 ¥ | STF

T =R AT I R |
(A) 1947 (B) 1946
(C) 1948 (D) 1949

1 1 7
If 2 of 5 of anumberis 35, then find 3 of the

number.

. 1 1 . 7
af¢ T we F 27 5 35 %, d 9 §& H s e

2 ?
(A) 624.5 (B) 723.5
(C) 715 (D) 612.5

Find one-fifth of three-eighth of one-third of
11760.

1 3 1 “
11760 % 3 =+ g T g TR

5
(A) 598 (B) 294
(C)645 (D) 467
If x is the square of the number when
2 3

1 2 1
(§0f61+?) of 1? is divided by 111, then

the value of 81x is :

5 4 7

T 1 A x | 1 8 1x =1 /M 1 ity |
(A) 36 (B) 16
(€)9 (D) 4

(21+3) = 2 (3x+7) %6
2y ! 2
BTN | en

value of /2 — 40x is:

« [T TETT + -

J2-42x 1AM I@ FHIGQ |

2 1 3
(—0f6—+—j of 1; Eal 11% ¥ faurfsa e uE

10.

11.

12.

B)6
(D) 4
Find the value of x, if 91 + 90 = 9g¥x .

A 91 +00% = 9gV* T, T x T HF I H |
(A) 4 (B)3
(G0 (D) 2

Simplify the expression.

25 [16 ~{14-(18- m)}}

e 25—[16—{14—(18—@)}} D

g
(A) 14 (B) 15
(C) 17 (D) 16

The value of 7+ [44 +4 + {9 x 2 -14 + 7} + 5 x 2]
is :

7+[44+4+{9x2-14+ 7}+5x 2] FIHF F@ H |
(A) 55 (B) 33

(C) 67 (D) 44

What is the value of the following ?
71 =1 A1 = g
-15+90+[89-{9x8+(33-3x7)}]
(A) 5 (B) 3

(€) 4 (D) 2

Which ofthe following options is completely di-
visible by 11

e | | = w11 9 ol s e ?

(A) 963391 (B) 116571

(C) 809781 (D) 107611

Find the value of 2.1 +2.25+[63 -{7.5x8 + (13
-2.5x 5)}].
2.1+2.25+[63-{7.5x8+(13-2.5x 5)}|w a1

AT |
(A) 2.8 (B) 2.9
(C) 3.0 (D) 3.1

The value of [0.9 - {2.3-3.2 - (7.1 -5.4 -3.5)}]
is :

[o.é -{2.3-3.2-(7.1-5.4-3.5)}] % 94 9@ H |
(A) 0 (B) 1.8
(C) 2.6 (D) 0.18
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13.

14.

15.

l1e6.

17.

18.

3opal, 18 17] 289 (3 2Y
IfA= ;0 g*nga of 767|473 | | then

the value of 8A is :

3 .1 18 17 289 (3 2Y
=|-of4-+—+— — | ==
A {70 5725 24} 0{16 (4 3”%“3'

8A =1 qH F1d |
(A) 231 (B) 321
(C) 132 (D) 213

Evaluate 45-50f(6.3+9)+7 x 0.5.

45 -5 0f (6.3 +9) + 7 x 0.5. =1 A A HITSC |

(A) 40 (B) 45

(C) 50 (D) 42

The value of (72 + 34) = 2 + [{(75+ 15) + 6} x 2] is

(72 +34) + 2 + [{(75 + 15) + 6} x 2] T HF 1@ HIfoTq |
(A) 74 (B) 75
(C) 86 (D) 78

The value of 4 + [3{35+(42+10+2x3-40)}+7 |

1S
4 + [3{35+(42+10+2x3-40)}+7 | 1 =T ok G 2

(A) 157 (B) 167
(C) 185 (D) 163

s (u_13Y
The value of 9 |4 & +

3 .4 5 47
7—of8—+1=-——| {g:
[ n 5 7 3} -

4 (11 13Y 3 4 5 4T
S5—+|——— | |+ |T=of 8—+1=——
|:9 (4 6j:| |:11 5T 3:| <kl HIF AT

Find the value of x in 315625 —/x =4

315625 —/x =4 H X T AT T L |
(A) 625 (B) 343
(C) 441 (D) 81

19.

20.

21.

23.

25.

26.

27.

The value of 27 + [3(50-20) + 168 +4 +2-11
x 2] is:

27 +[3(50-20)+ 168 +4+2 - 11 x 2] S HM I
Ead

(A) 245
(C) 149

(B) 139
(D) 239

Find the value of 225 - | 42—{25-(18-18+13)} .

095 — [42—{25—(18—18+13)H 51 ST R
(A) 222 (B) 221

(C) 223 (D) 244

The value of 72 -3 (2+24+4 x3-2x2)+8is

72-3(2+24+4x3-2x2)+ 8 % AF Fad |
(A) 72 (B) 32

(C) 36 (D) 24

The value of 10-[121 + (11 x 11) - (-4)-{3-(8
-1} is:

10-[121+(11x11) - (-4) - 8- (8- 1)} AR T«

g
(A) -1 (B) 1
(C)0 (D) 19

What is the value of
(9+3-16+4+10)+{3+5x2+10)}x(18-4
of5) ?
(9+3-16+4+10)+{3+5x2+10)}x(18-4
of 5) =T A I EI ?

(A) 15 (B) 10
()5 (D) 8
Simplify the following.
Tt 1 = 3
Y
5 5 2 4 \4 5
(A)1 (B)3
(€2 (D) 4

3 3
Find the value of 309 + HEJOf(%‘F 35)-12 Z} ‘

3 3
309 = HE]Of(ZSJFSS)_lZﬂ A1 A 0 B |

(A) 8 (B) 16
(C) 12 (D) 4
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3 1 3011
1——|3—-+46—|2———
28. The value of *7 {8 { ( 4 12)H

3 [ 1 3 11
12-[32+16-[2
4 {8 { (4 12JH 1 I T |

29. Evaluate:[7+7 x (7+7=7)]+7+7.
[7+7 % (7+7+7)]+ 7+ 7 % qeoitaa w|

(A) 10 (B) 5
(C) 63 (D) 64
1 1
8 57§ .15
4 1 RS © B © BVl Tt
30. The value of E+SZ of 13 1+1X55+6 is :
5 8
1 1
8 57§ .15
4 Bl i
g+3— of 13 1+1X55+6 HEAT :
5 8
A) = B) —
(A) 35 B) 35
Q) — D) —
© 15 D) 35
111
555 ,1.
32. Thevalueof 1 10f1 45’105 is
5 5 5
1 1 1
7_7><7
5 5 5_ 41_105 .
11,1 °5 A FAtatad | 9 frar g 2
5 5 5
(A) O (B) 2
(C) 10 (D) 5
» 1é_1x(z ),
33. The value of 10 5|5 5°\g 7)|1s:
3.1 é_l
40 5|5 5 aﬂﬁ%
(A) S (B)O
(C) 10 (D)1

34.

35.

36.

37.

The value of
75E+ 15+30f5+7+i—[78+31j is :
5 14 3 )
3 1 1
75-+|15+3 0f 5+7+——| 78+3=
3 { 0 1 ( Sﬂ =T A AT
2
(&)1 (B) 2
€)5 (D)0

L +§0f S5—+2—-|+=-+3=-is
6 9 10 5

o L 1 1) 2 1
The value of 3 5 5

36 9 0 “5) 5 "5
3 5
(A) = B) 15
3 5
(€) 3 (D) 3

The value of [3+5-4)+ (17 -3 x4)]|+[4 +2 -
16 +4 + 3]is:
[(B+5-4)+(17-3x4)]+[4+2-16+4+ 3] =

qEE |
(A) 16 (B) 10
(C) 12 (D) 14

Th al f3l_ 8+ §_ix(§_lj LN
€ value o 3 4 4 13 2 3 1S

31_ 8+ §_ix(§_lj F1H ﬁ'
3 |4 4 13 2 3 I
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Solution

1. (D) ATQ
x-y=43
xy =50
= X +y?=(x-y)? +2xy
=(43)2+2 x 50
= 1849 + 100 = 1949
2. (D) Let Number =x
= X X l><l=35
4 5
= x=35x20

S 7 —ZX35><20—6125
o,8x 3 .

1 3 1
3. (B) 11760 x —x—x— =294

3°8 5
2 .25 3) .97 45
4 A |55 7)%7 T4
Ofg Xi
71" 45
3% 9. 4
= 6 7745
N 2
3
ATQ
(zj 4
X=13) o
81xi—36
=S
9 12
—(2x+3) —(3x+7)
5 (A) 24 :21
3 3

=93
6. (A) Only x = 4 satisfies the equation.

7. (D) 25-[16-{14—(18-11)}]
25-[16 - 7]
25-9=16

8 D) =>7+11+(18-2)+10
=7+11+16+10=44

9. B) -15 +90+[89-{9 x8+(33-3xT7)}]
=-15+90+[89-72-12]
=-15+90+5=3

10. (A) Apply divisibility rule of 11

11.(C) 2.1 +2.25+[63-{7.5x8+ (13-2.5x 5)}]
=2.1+2.25+[63-60.5]

B 2.25
=2.1+ 5= 3.0

12.(A) [0.9-{2.3-3.2 (7.1 -5.4 - 3.5)}]
[0.9-0.9]=

3 gal 18 17 289 (3+gj2
13.(4) A= 17975725 "4 °f |76 a3

3 21 25 17] [280 144
SA= = XX+ — X —
7°5 "18 24 16 ~ 289
Al 7T, o 281
ZAT 04777 g
231
So,8A= - x8=231

14. (B) 45-50f(6.3+9)+7x0.5
45-3.5+3.5=45

15. (B) (72 +34) =2+ [{(75 = 15) + 6} x 2]
=106+2+22="75

16. (B) 4+ [3{35 + (42 + 10 = 2x3 — 40)}+7]
= 4+[3{35+17}+7]= 167

2 2
5i+ 113 + '7301‘8i+1§—i
9 4 6 11 5 7 3

_(49 . 49 [80 44 7 47
9 144)

17. (A)

11 5 12 3
-42x =23 o
. [112-4
__23 =te { 3 }
X7 4
_ 16 _1
5 4% = |2+ 42:223 36x36 81
18. (C) 315625 -Jx =4
=2 - Jx=25-4=21
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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—x= 441

19. (B) 27 +[3(50-20) + 168+ 4 + 2~ 11 x 2]
- 139

20. (B 225-|42-{25-(18-18+13)}]

225 - [42 - 25 — 13]
= 221

22. (B) 72-3 (2+%x3-4j+8

= 72-(2+18-4)x3+8
= 72-48+8
= 32

24. (B) 10-]121+121+4-(3-7)]
= 10-[1+4+4]
= 10-9
=1

16 2
25. (B) (12—Z+10)+(3+5xﬁjx (18 - 20)

= (12+6)+4 x (-2)

= 18-8
= 10

26. (B) 4i+ Ql_l 11_(1_1j
5 5 2| 4 4 5
24 |11 1.6
5 5 2 5

_24.5 .

58

27.(D) 309 = H%)of(zs +35)- 12%}

Z_§4{6_E
=4 |8 6
7125 6

=4 |8 25

7.3

4 3

=1

20. (D) (7T+7x8+7-7

31. (D)

32.(A)

33. (D)

34. (A)

7+56+1
=64
11
sl i ey
7370013 1,1775 6
5 8
4 13 8 3 26 5
— X ——— X —+ —
5 413 13" 5 6
4 1 6 5
—_ __+_
52 5 6
2 6.5
5 5 6
12-36+25 1
30 - 30
1 1
5%°%5 21 1
1 " 57105
~—x25
5
_L_L_O
- 25 25
33 114 1 [—3j
-+ = _ —— X | —
40 5|5 5 8
33 1[4 3
-t | =+ —
40 5|5 40
33 1 35 40
—+—X—=—=1
40 5 40 40
—378+ 15+15+7><14——234
5 | 10
ﬁ+ 1+98—&
5 | 10
378 [990-234
5 10
378 756
5 10
378 10 756 .
5 756 756
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35, (o) 3.5 f(ﬂ+ﬂj+2_16 E__2+{E_LXE
- O 3g g 1075 ) 575 837.8) 374714 1376
73.2,713,2, 5 10 9, [5_1
36 9 10 5 16 3 4 |4 6
73 18 1 ]
3677 8 Doz
3 |4 24
1,15 r
27873 o |5,13
3[4 12
1 1
36.(B) >4 +5+[4x 5 -16x - +3] E__160}:
=9 +[2-4+3] 3 L4x12
=90+2-4+3
=10
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Simplification (CHSL — 2018)

3+{5-5+(6-7)x8+9}
1. The value of dtdxd-dofd is :
3+{5-5+(6-7)x8+9}
4+4x4+40f4

1 1 1
5 BT © %

FHAE

1
(A) D) 3

2. Thevalueof3x2+30f12-3+2x%x(2-3)x2+
3+20f3is:
3x2+30f12-3+2x(2-3)x2+3+2to3#
AR

3. The simplified value of 3 x 2 + 3 of 2 x 3 =+
1
(5+5><5+50f5—5+100fgj is -

3x2+30f2%x3=+ 5+5x5+50f5—5+100féj ol
TATFA A T

WIN

(A) 7 (B) 5 (©) (D) =¢

59
4. The simplified value of

(Z+10f§j+é_(l+1olx7ljxi is :
5 10 4) 9 \16 2 5) 12

7 7 3\ 4 (7 1 _1) 5
—+—of — |+ =—| —+10=-X7 = |x— T
(5 10° 4) 9 (16 2 5] 1p
AR
g %
8 8

141
(&) 1

5. What is the simplified value of 5 + 10 of 10 x 4
+4+40f4x10-(10-4)+16%x4="7?
5+100f10x4+4+40f4 x10-(10-4)+ 16 x

4 T TREAFA T S ?
(A) 1.2 (B) 2.5
(€) 21 (D) 58.5

6. The simplified value of 3 X6 +4t0o6-6+2 x (4
1
—6)+4—2><3+60fgis:

1
3x6+40f6-6+2x(4-6)+4-2x3+60f -
o EAFA T

10.

11.

3 3 3 1
(Aa) 17 (B) 77 (€) 13] (D) 87
The simplified value of 50f8 -6 + [[27 -3) + 6
-4]is:
508 -6 +[(27 —3) + 6 —4] T TAFA AT :
(A) 114 (B) 120
(C) 124 (D)116

The simplified value of
150f8+6+[(27-3) =6 +4]is:
150f 8 + 6 + [(27 — 3) = 6 + 4] Tl TRCAFA T & :

(A) 128 (B) 134
(C) 130 (D) 136
P13k
The simplified value of . 1 6 (11 is
77{7_[775%
P
1 6_[1;1] e o
7 |7 \7°5
13 13 13 13
(A) o (B) 16 (©) ) (D) -

A v 1
(A) 7 8 16 64
1 3 8

7_1'_7 -

[ 5 5) 5

The simplified value of 1. { 5,
7|7
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19 19
(A) Y (B) 16
19 19
(©) 64 (D) 3

8 8 3
IR IR T RS C R ()
(A) 16 7 © 9 (D) 64
46—§0f32—6

13. The simplified value of

37— 3 of(34—6)
4
46—Zof32—6
3 T TR T ¢
37— of (34— 6)
4
A) 2 B) = 9Y o1
W2 B © - (D
46 - of32-6
4

14. The simplified value of 11+ %of(34 _ 6)

46—%of32—6

11+%of(34—6) 1 el A

1 1 1
ws  ®1 ©7 O

is:

15.

l1e6.

17.

18.

19.

46+%0f32—6

The simplified value of is:

11+%of(34—6)

46+%0f32—6

11+%of(34—6) AT S AT
A) 1 B) - g2 (D)=
(A) (B) 3 (©) (D) 5
The simolified val f1.0025+6.25><10'6 .
€ simpliiied value o 00025+095 1S:
1.0025+6.25x107°
gﬁm qﬂﬁ'&[')
0.0025+0.95 " end T AT ‘
(A) 1.0025 (B) 1.0525
(C) 1.0005 (D) 1.0505
¥ 1
The simplified value of 25 of

3 2 2 19 1
— . 4 — 4+~ =
(5 9) ( S5 20 2)

2l f(é—gj (42 B—lj 1 TR A1

5 9 5 20 2
A) O B 1 l D)1
(A) (B) 3 ©) 5 (D)
The simplified value of

il RS () e
o123

TeAIRd A1 T —
A 2 B 1 a1 D A
W ®7 © D) 12
1 8

The simplified value of 2 of 5
2l (S.3aT.2)

5 16 5 8 3
1 8 1 5 3 7 2
2°f5'{5 [16 578 3]}“‘*‘”5““"
FAE 2
A1l B 2 C 1 D) 4
(A) Bz ©z O
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1 1 1
= + + + ... =
20. Ifx= 1593 13.14 12415 2324 Y
1 + 1 + ! + + 1 th
36.37 37.38 38.39 - T o1 R
— 1s equal to —
v q
I S SR S S
*7 12,13 13.14 14.15 7 " 2324 Y T
1 1 1 1 X
+ + o4 |
36.37 37.38 38.39 71.72% y
oo TAM B ?
A) > B L C L1 D) 3
(A) 3 (B) 52 ©) =5 (D)
o 0.01404
21. The simplified valueof —5—5——— is —
24 + 672 —144
0.01404
— 5 1 TcFd "E ?
24% 1+ 67 —144 : arm
(A) 3 x 105 (B) 6 x 105
(C) 2.4 x 10 (D) 3 x 10
. . 1 8
22. The simplified value 2 of 5 -
1 (5 3 .7 2
25| =+ Zx1-—=+= T
{5 [16 578 3]}0“5
1 8 1 (5 3 .7 2
— — 2| —+=x1=+— TTeRd
2°f5'{5 [16 58 Sj}?ﬂ P
TR ?
A~ B) 4 0 = D)5
(A) 7 (B) © 3 (D)
10 .
23. If7 (1-2.43%x107°)=1.417 +x, menxis equan
to:

10

Zlﬁ7(1—2.43><10*3)=1.417+X%,?ﬁxw
3—
(A) 0.0417
(B) 0.417
(C) 0.0081
(D) 0.81

24.

25.

26.

27.

28.

The simplified value of
1 1 2 5 1 1 2 1
l—of | 2=+1— |- 1—( 40 L 24— 1o
{40[ 3 5) 12}+9 *3T7te s
1lof(21+13j—13 L Lt 2
4 3 5 12 9 3 7 6
TeAIRd A1 T —
A 7 B s C 7 D)1
@5 B ©g D
The val f18.43><18.43—6.57><6.57 )
e value o 11.86 is
18.43x18.43 -6.57 x6.57 S
11.86
(A) 23.62 (B) 25
(C) 26 (D) 24.12
If (1.25)(1 - 6.4 x 107 = 1.2496 + a, then a is
equal to:
3R (1.25)(1 - 6.4 x 10°9) = 1.2496 + a §, a1 a a0
&
(A) 0.0016 (B) 0.00016
(C) 0.0032 (D) 0.00032
. - 2
The simplified value of 3 -

iofﬂxﬁ_[sl—zlj is—
7 5 3 2 6

5 (3 .14 2 (.1 1
2 20t %12 (32— 2= | et W B —
3'{70 53 [ 2 6]}?” 7 A E

() (B) 1 @2 (D=

1
3 3

The simplified value of 20 -[2.8 x5+ 0.7 -3 +
0.9 x 1.5 + 2] is equal to:

20-[2.8 x5+0.7-3+0.9 x 1.5 + 2] = TcAFA

T 1 E1T 2
(A) 3 (B) 3.4
(C) 3.8 (D) 3.6
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Solution
© 3+{5+5x8+9} ox4 4x10 3
T 100 16 2
16 15 3
_+___
_3+{14+40} 3 > 22
- - 1 6
5 54x5 I PR
1 1
T 18x5 90 S12
% 6. B) 3x6+-40f6-6+2x%x(4-6)+4-2x3+6
3x2 3 _ 3 =
X of —
—+—X2+— 3
O e 2%
1,,,1 3><6+4><6+2><(—2)+4—2><3+6><%
6 2
3%6 2x3
22 3x244-22
_ 1+18+3 11 _,2 YR 2
6 3 73
- 3
(A) Using BODMAS Rule 2t 6+4-3
3x2+6x3+[5+5%x5+25-5=2] 4
5 3 3
L |5+1-2 Zy7=72
3 { 2} A
7. (A
5 ®)
3= 6—5 24
8. (B) 15x8+6+ ?”‘
3.7 =120 +6 + [8]
2 =134
42 TR’ [16_3j_8 13 5
7 7 5 5 5:€><—
7734721365 9. & 8 [6 5 8
@ 5710%5 )75 Fn 7l 7
5 10°4) 9 (16 2 12 717 7] 7
(Z Q) 2_(1 2, XE) 13
5214 \16° 21 12 _s . 1
1 8 64
8
gx— % 19
47 10. (D) _8 =
-5 I o
(A) 5+100f10x4+4+40f4 x 10-(10-4) = 7177
16 x 4
5+10x10x4+4+4x4x10-6+16 x4 (16+3jx5
1 5 5)8 19
5+100+4+16x10-6x - x4 11. (A) 8.7 8
78
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12.

13.

14.

15.

l1e6.
17.

18.

e

—

S

345
TNy

46—§><32—6
_ 4

ll+§><28
4

_46-24-6 16 1

11+21 32 2

46+24-6_64 4
11+21 32 2

63 (19 13j 5
5 (7 \15 15) 7

6 (3 6 5] 35
—X{=——X— |X—
{5 {7 15 7H 6

4 /11 } 4
5 15 5
+1 1 +1
X= —————=—
12 24 24
+1 1 +1

Y% nn

i:—=3
e
2

4

_19
9

14040%x10°°

21. (A) ——M——
(4) 24 + 6> —24 x6

) (24°+6° )x10°

24 + 62 -24 %6
=(24 +6) x 10°=3x107

1.8, E_[EJFEXEXEJ
22.B8 3"571%5 |16 5.8 2

4. E_[iJrij

5 15 (16 16

4 {11 } 4 1 4
5 |5 55 5
=1.417 x

23.(C) 10-2.43x102=1.417x7
= x =0.0081

§X[Zxﬁj_£ 1321
24.C) 17°\377) 279" 77776

25 17 1 2 1

— X——— et —t—+—

12 12) 217 6

2 1 2 1 21 1

= S AR = —+— =

3 217 6 21 6
25. (B) Using formulaofa?-b* = (a-b)(a+b)

(1843)" -(6.57)°  25x11.86 _ 25

11.86 11.86
26. (D) (1.25)(1-6.4x 107) = 1.2496 +a
= a=0.00032

2 [3. 14 5 4
27.8) 377" "3 3

E
1
+ 7x

7
6

28.(A) Using BODMAS Rule
20-[2.8x5+0.7-3+0.9%x1.5+2]

=20_{2.8><5><10_3><10X1‘5+2}
7

=20-[20-5+2]

=3
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Simplification (CHSL — 2017)

Find the val f43/4913
in e value of 37200

4913

2197 T | T HHIT ?
(A)17/13 (B)13/17
(Cy13/7 (D) 17/7
What is the value of @ ?

24

J96 ++/216
T HHA N E ?
(A) 8 (B) 4
()5 (D) 10

Simplify: (13)2 - (14)2 + (17)>- 250 = /7

WA HT: (13)2 - (14)° + (17)>-250 = /7

(A) 196 (B) 169

(C) 121 (D) 144

If 3.2+ 18 +/50 = 15.55, then what is the
value of /32 1 727?

g 32+ J18 +/50 = 15.55%, @ /32472
HE N E ?
(A) 13.22
(C) 14.13

(B) 10.83
(D) 16.54

What is the simplified value of

1 1 1 1
r + —
V524 24-23 VB2 V22-421

1
b
V21420
1 1 1 1

V5V 2 B2 22

1
+m? 1 TRATF T T T 2

(A) 5+2.5 (B) 5-52
(C) V25 +4/21 (D) 25 -4

6.

10.

What is the simplified value of

1 1 1
N7-J13 1615 J15-1d

1 N 1 »
Vi4a-y13 13-V12

1 1, 1
V17-V13 16-15  15-414

1 1
\/ﬁ—\/ﬁ+ \/ﬁ_\/ﬁaﬂg{E @E‘THEIZH%?
(A) 4-23 (B) V17 -32
(C) V17 +412 (D) 4423

Find the unit place digitin 71 x 72 x 73 x 74
X 76 x 77 %78 x79.

71X 72 %73 x74x76x77 %78 %79 ¥ Tohls

T % GG ?
(A) 2 (B)0
(€) 4 (D)6

Thevalueof 1 +22+23+ 2%+ ... +2%is .

1+22+23 424+ . + 28 FH 9 g2
(A) 255 (B) 511
(C) 1021 (D) 2047

Which of the following statement(s) is/are
TRUE?

Frfafad § 9 SH-978 FT T /8 ?
L 512 x/256 > /343 x /289

II. 121 +31331 > 3125 x+/[125
(A) Only I / Faa

(B) Only 11 / sFara 11

(C) Neither I nor I / a1 [ T&T I
(D) Both I and II / I den II <1

6~/2
Find the value of —(\/5+ \/18)
53

%(\/ﬁﬁ) A T R 2
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11.

12.

13.

14.

15.

What is the value of /729 x f16 + J676 +
V169 ?

3720 % 16 + J676 *+ 169 P AFFNT?
(A) 75 (B) 64
(C) 35 (D) 60

Find the sum of 0.00005 + 0.88885 + 0.77775
+ 0.66665 + 0.55555.

0.00005 + 0.88885 + 0.77775 + 0.66665 +
0.55555 =1 I 1 & 2

(A) 3.88885
(C) 3.6875

(B) 2.88875
(D) 2.9875

Which of the following statement(s) is/are

TRUE?
Tt | 9 SIS Fa T R ?

I /324 +/3.24 +0.0324 =19.98

II. 129+ V121 + /361 + V100 =13
A)Only I / #aa I

B) Only II / &a 11

C) Neither I nor II / I a1 I A gt II
D) Both I and II / I &1 II <1

(
(
(
(
What is the simplified value of
23243 +33/9 - /11252

23243 + 339 — 1125 1 T 61 7 71 & 2

(A) 539 (B) 439
(©) 739 (D) 113/9
NG
Calculate the value of m ,if /5 =2.236.
J5
m =1/ I FI, A /5 = 2.236 F |
(A) 0.809 (B) 0.89
(C) 0.089 (D) 0.807

l1e6.

17.

18.

19.

20.

21.

If x = 1.1, then what is the value of

VA —4x+17

AT x=1.1 F, T Jax® —dx4+1 FIATFTE?
(A) 1.21 (B) 1.331

(C) 2.21 (D) 1.2

1
If ——=0.3127, find the value of

3.197 0.0003197
1 .
— =03127,d ———— ?
M o7 T S 000a1e7 T T AR
(A) 3127 (B) 3197
(C)312.7 (D) 0.3127

If 9* = Wh4s , then what is the value of x?
A 9x = Wy T, WX FHAF FANT ?

(A) 5/11 (B)5/22

€ 5/7 (D) 5/33

Find the greatest number among (2)% s (3)% s

1, (5)

1

(2):, (3)2 1, (5)c % v 7t wheem ¢ 2

(A) (2) (B) (3)2

(€1 (D) (5)¢

What is the value of % ?
Yoi x 121 .

\/@ ~ J@ Rl HIH HT T ¢

(A) 12 (B) 11

(€)1/11 (D) 1/12

5 19
Find the leat number among 9’ \19° 0.43
and (0.7)?

\/%,0.433ﬁ1(0.7)2ﬁm@-¢%q@1maﬁ|

5’
5
A3 (B) (0.7)?
9
©) 35 (D) 0.43

Study Center : Jaipur * Gopalpura ¢ Lalkothi ¢ Jhotwara  Ambabari « Udaipur ¢ Alwar



Mother's Previous Year Questions | Simplification

22.

23.

24.

25.

26.

27.

If 37 +./343=19.21, then find the value of
252 2047

e 3.7 + /343 =19.21 %, @ /252 + 207 F19H
1A 2
(A) 39.4
(C) 56.8

(B) 49.9
(D)92.3

If (/20 + /125 = 15.65, then what is the value
of /45 +./57?

aft 20 + 125 = 15.65 %, @1 /45 +.5 # 9H
FANE?

(A) 6.98
(C) 9.98

(B) 8.94
(D) 11.27

Represent the 0.000256 in vulgar fraction.

0.000256 ! T $TYU H FRfed |
At B 2
(A) 15625 (B) 15625
16 8
© 15625 (D) 15625

Assum 57 + 59 + 109 = 0, then find the value
of 573 + 593 + 109°

Hedl HITOTY 2 57 + 59 + 109 = 0 ¥, 1 57° + 59°
+ 1092 %1 | 1 ST 2
(A) 1099701

(C) 1099801

(B) 1099601
(D) 1098701

What value of 'p' will satisfy the equation

P VM0

V540 p

P I HITETHA %=@ IR0 T TP L 2
(A) 6 (B) 10

(C) 6410 (D) V10

What is the simplified value of
3125 +43/25 + 3675 ?

33125 + 4325 +33/675 1 TR T 1R ?

(A) 18325 (B) 5325

(C) 9125 (D) 3125

28.

29.

30.

31.

32.

33.

1
If ——=04319 find the value of

2315 0.0002315 °
At L—04319 ar _1 1 | A1 |
2315 > 0.0002315
(A) 4319 (B) 2315
(C) 431.9 (D) 231.5

ter!

What is the value of X in

23x —527x +/108x =217

2/3x — 527 +/108x =—21? H 'x' FAF FE ?
(A) 0.33
(€)3

/ 64
What is the simplified form of 288 ?

64

288 T TR B T ?
oo 2 3
@) 5 B35 @5z OfF

Simplify (157 x 157 + 143 x 143)

WA R : (157 x 157 + 143 x 143)
(A) 45008 (B) 46098
(C) 90196 (D)91196

If x = 0.139, then what is the value of

VAT +4x+17?

AT x=0.139%, T 42 4 4x 112 P AR FANE ?
(A) 1.39 (B) 1.278
() 2.139 (D) 1.69

2 _1
Find the value of {(216)3 +(36) ? }

1

{(216>3 + (36>2} A 19 F

216 218
A B 76
215 217
% O 76"
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34.

35.

36.

37.

38.

39.

= I 1
(A)-129 (B)-163
(C) 129 (D) 163

If 4= 7/1024 , then what is the value of x?
af 4x= 71004, T, WX FAA FE ?

N

1 13°
Find the value of [7[643 + 273] ]

N

7[64;+27;]] = I 1
(A)7 (B)6
(C) 49 (D) 343

Which of the following number is largest
among all?

= ¥ 9 o aS Hen B © 2

0.7,07,0.07,007

(A) 007 (B) 0.07

(€o.7 (D) 0.7

What is the value of

Y512 +J169 + 3216 *+ 2257

3512 + 169 + 3216 + 225 FIAAFNT ?
(A) 48 (B) 32
(C) 42 (D) 36

Calculate the value of x if /1—(x /289) = (15/
17).
X A 90 R A (f1-(x /289) =(15/17) #1

(A) 64 (B) 44
(C) 36 (D) 54

40.

41.

42.

43.

44,

Which of the following value of 'xX' satisfies
the equation 4*1.9%x% = 5184?
'x' % T w9 | A e 401,9206 = 5184

= TP BT ?
(A) 2 (B) 3
(C) 4 (D)6
3 5 13 16 3 .

Arrange the fractions 1’12’ 16° 2° 8 in
their descending order of magnitude.

3 5 13 16 3

1012’ 167 29 g N STIAR SR FH A
firer =n1 =HETed L |

3 3 13 16 5
() >

—>—>—>—
4 8 16 29 12
3 5 16 3 13
B) =>—=>—>—>—
8§ 12 29 4 16
13 3 16 5 3
C) —=>=>—>—>—
16 4 29 12 8
13 16 3 5 3
D) —>—=>—>—>—
16 29 4 12 8
Which of the following statement(s) is/are
CORRECT?

et § 9 -8 FAT Te1 2/8 2

I. (\/ﬁ+\/§)>(\/§+\6)

IL (V10++3)> (N7 +6)

(A) Only I / Faa

(B) Only 11 / sFara 11

(C) Neither I nor I / a1 [ T&T I
(D) Both I and II / I den II <1

What is the positive square root of

[25+4439]>

[25+43/39 | = erieeer et = & 2
(A) V13 +243 (B) V13 +32
€) 11+24/3 (D) 11+3v2

Find the approximate valueof '?' in: (14.998)3
=?

(14.998) = ? § '?' =T STIATA I 1T e 2

(A) 3573 (B) 4096

(C) 3378 (D) 3374
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45.

47.

48.

49,

50.

What is th t of \/E_>+29
at is the square root o NEEX
J5+2
I TS FAE ?
J5-2 ¥
(A) 54 (B) 5+2
(C) 5+42 (D)7
If&—&th hat willbe the val f
0256~ x en what willbe the value o
x?
256 25.6
- = ?
0256 x 2, T x =1 9 BT ?
(A) 2.56 (B) 25.6
(C) 0.256 (D) 0.0256
What is the value of

[(V525)+(539) + (/o529 |

[(V529)+(15.29) +(0.0529) | =1 st e # 2

(A) 25.323 (B) 25.53
(C) 23.253 (D) 23.53

Find the remainder in the expression

557 x 653 x 672
9
557 X 653 %672
THTFT 5 ¥ Y G HIfT |
(A) O (B) 3
(€) 5 (D)6

X 16
. 1 —_ — | = —
Calculate the value of x, if (529) ( 23 j

X 1 9 I FI, a5 1—(%}:(%} )

(A) 283
(C) 273

(B) 276
(D) 374

Which of the following statement(s) is/are
TRUE?

Frfafad § 9 SH-978 FT T /8 ?
L. 676 ++/6.76 +~/0.0676 = 27.76
IL. /3394 /36 + /49 + /81 = 19

51.

52.

53.

54.

55.

(A) Only I / Faa

(B) Only 11 / sFara 11

(C) Neither I nor I / a1 [ T&T I
(D) Both I and II / I den II <1

Which of the following relation is CORRECT?

I. (\/ﬁ+\/7)<(2«/§)

I (V17 +45) < (V20 +2]

(A) Only I / Faa

(B) Only 11 / sFara 11

(C) Neither I nor II / a1 [ T & I
(D) Both I and II / I 9e II St

Find the cube root of 287496.

287696 1 ¥ T T FITT |
(A) 64 (B) 46
(C) 56 (D) 66

Arrange the following in descending order.
45,42 and 4

45,1 SR 4fg 1w A A s

A) 6 >Y4>145 B) ¥6 > 45 >4

C) Va>45>46 (D) Y4 >46>45

If /21 =458, then what is the simplified value
3 7
8.2 -3/
of [ \/; \/;]

37
e 21 =458 €, A [S\E—ﬂgjwmﬁﬁwm

FNE?
(A) 0.474 (B) 0.752
(C) 0.655 (D) 1

If /3=1732, then what is the value of

10
[5G
A 3=1732 & @ [ﬁ_%+ﬁj =1 A
?7?
(A) 1.154 (B) 1.577
(C) 1.464 (D) 2.358
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57.

58.

59.

60.

61.

196 19.6 .
If ——=— then what will be the value of
0.196 X
x?
196 19.6 -

afg 01% " < 2, T X 9 I A
(A) 1.96 (B) 10.96
(C) 0.0196 (D) 0.196

1

gof % of g of % of 10000 of a number will

be what percentage of that number?

. 1 1 1 1 .
wm%looooigigigigshm

I 9 59 WA o feman wiqsma g 2
(A) 2.32 (B) 1.32
(C) 0.232 (D) 0.0232

What is the simplified value of

x@+\/1+x@—\/1

V5-V4 B+4

NN N
ﬁ_ﬁ+\6+ﬂw"ﬁ?ﬁ;ﬁmw%?
(A) 9 (B) 10

(C) 18 (D) 20

A zoo has few numbers of penguins and polar
bears. The total number of heads of both of
them is 60 and the total number of their feet
is 160. How many polar bears are there in
the zoo?

Tafearr & %o Sem | TEe iR Yot 9 € 1 S <
i =1 Tt T 60 T SR W H FoA e 160 7

fafeamr o Fot fohaa yeita e € 2
(A) 20 (B) 40
(C) 60 (D) 80

If 16%*° = 64, then what is the value x'

Ife 162+ = 64 B, 1 x' =l 7F G L |
A 9 B 9 c _18 D 18
@& -7 (B ©) - (D) 5

Find the value of 'x', If 8 x 32x= 210
X' %1 HM F6 Y, A 8% x 32x = 210 |

1 10 20 30

62.

63

64.

67.

Calculate

(A) 5
(C

1

(54

[51 j[54+52+54 1} WWE"HW|
(B)
(

value

j(54+52 +54+1

) 10

Find 'x'if \J(2+7x) = \/(3x +4)

x' 1AM I H, AR J(2+7x) = [Bx+4) T

B) 4
D)2

of

(A) 0.5 (B) 1
(C) 1.5 (D) 2
What is the positive square root of
[19+4JE]?
[19+ 421 | =1 erereeer: et = 2 2
(A) 7 +243 (B) V3 +247
(C) V2+347 (D) V7 +33
The value of (0.175§ + o.soﬁ) is
(0.175§ + o.soﬁ) T AA g
(A) 0.4802 (B) 0.48014
(€) 0.4701 (D) 0.4811
16 + 4625

What is the value of W ?
Y16 + Y625 I HA R E ?

4256 ’
(A) 1.75 (B) 1.25
(C) 1.6 (D) 1.5

9n

3n
Find the value of n+7+7+ ..... oo

3n 9n
+—+—+
2 4
0
) 2

(D) Infinity / s7a
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68.

69.

70.

71.

1

gl les

and

1
= {7\5 N \/5} , then what is the value of (x +

y+2z)?

qf= xz{ﬁ} , y{ﬁ%ﬁ} T g

{ﬁ%ﬁ} B, (x+y +2z) FAA AT ?

A) 2(V7 3] B) 53
_
C) V7 +5 D) 5(\7 +3)

1+1+1+1+1+1 tel al
16 30 & is aproximately equ

to

1+1+1+1 T
2 4 16 32 64

(A) 1.5 (B) 2
(C)2.5 (D) 3

e |

3 zJ_

What is th tof ——+—
at istheisquare root of = 2\/—

3-22
3+22

(A) 322
(€)1

1 A T ?

(B) 3+242

(D) 17
Calculate the value of

(59881 x 59881 — 49681 x 49681)
10200

(59881 x 59881 — 49681 x 49681)
10200

(A) 110956

(B) 109562

(C) 109652

(D) 109662

I G R |

72.

73.

74.

75.

76.

What is the

V1054 + 196 + /169 + /64 ?

value of

J1054 1 196 + 169 + /64 ? FTHA FNE 2
(A) 33 (B) 37
(C) 29 (D) 31

A man engaged a servant on a condition that
he would pay him ¥ 80 and a pair of jeans
after service of one year. Servant served for
only 9 months and receives a pair of jeans
and an amount of ¥ 55. The price of the jeans
is .

T STEHT T R il Tk 910 R @ % o 39 T 80
3R U Sl S0 TF 98 i Hel  §E S AR A
Fercd 9 FEHI it Hen < ST ST B U wiSl 3T T 55

o8 o= | S = ha 71
(A)X 80 (B 60
(€40 (D)X 20

. . 2 4 .
Fraction that lies between 5 and 9 is
2 4 .
s GﬁTg % o= STYUTieR ST T |
A B ©r mi
@5 B ] )z D)

Which of the following statement(s) is/are
TRUE?

Frfafad § 9 SH-978 FT T /8 ?

J225 + 441

. ——>25
V256

J@+J5E>3
H.———ji;;——
(A) Only I / Faa
(B) Only 11 / sFara 11
(C) Neither I nor I / a1 [ T&T I
(D) Both I and II / I den II <1

Find the unit place digit in (82)'% + (183)'*

(82)192 + (183)193 o T TohT% 315k I W F1d HiToTd |
(B)6
(D)9
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. 2
77. Find the value of /5,/5,/5./5 ST 7 THRU % S 15 RS ST &, T Qe
foTQ == =areRdl BT A TG I |
5y5y5y5 1 A HT 16 14 11 10
(A) = Y - (D)=
3 3 3 3
Wss B sz @z (D)5
80. If the value of /30 is approximately 5.477,
78. Arrange the following in the decreasing or- 30
D 3
der: then what is the approximate value of \/% ?
(V25 - \21),, (15 ~17) , (21 - J19)
. “ 5
Trrferfiaa =t sed e o sateer i ? q&@wﬁWWSAW%,a‘r\g?ﬂﬁw
(V25 —21), (V19 —17) , (v21 - J19) A 2
(A) 0.853 (B) 0.891
A) (V23 -21) > (V21 - V19) > (V19 - V17 (C) 0.913 (D) 0.937
(J_ J_)>(JE—JE)>( 21— JE) 712-6]-4]5]+5
81. Calculate 7@2)-2x2-2+2
(©) (V19 -17) > (V21 - V19) > (V23 - V21 2 WA
T T .
( 19)>(\/g_\/ﬁ)>( ) —7(2)-2x2+2+2
4 16 o4
, (A) ~15 (B) —
79. Anuj runs 15 laps of 7 laps race, find the 12 12
remaining laps to be run. © 7 (D) 18
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Solution
1.4) 4913 B H 1 . 1 .
) \/2197 13 17:4) 3797 =93127 G 0003107 ~ 512
J96 ++/216 %+% . 18.(B) 9= Y243
- 23 2 = 9= /243
3. (D) 132+ (17)2-(14)2-250 = 5
(D) (17)2 - (14) Vx L om= o3 L ox =
_ 22
169 + (17 + 14)(17 - 14) - 250 = Vx
169 + 3 x 31 - 250 = L. L
x31-250= VJx 19.B) 27, 32,1, 5
169 + 93 - 250 = Vx 22,32, 15,5
N Jx =12 = 4,9,1,5
= x =144 4x%x11
20.(B) =11
(C) V32 + 72 = Y2 + %2 =192 =14.13 17 -13
_ - _ _ 5 3
5. (A) V25 +24-24-23 +23 +.22 -2 21.(C) o, ,0.43,049
J21+421+4/20
3
=25 +20 =5+ 35 = =
6. (C + - - + + - -
(€) V17 +J16 - V16 - V15 + |15 *+ 14 - 14 22.D) 252 + 207 = 97 + %7
VI3 +13+412 = 2677
17 +V12 given 37 +7=19.21
7. (D) 71 x72x73 %74 %76 x 77 x78x79
=6 \/7 =4.07
o/ s Required answer
2% (2% -1 _
8. (C) 1+7(2 . )=1+4x255=1021 V252 + Rf7 =49.9
- 23.B) 45 + 5 = ¥5 + 5 = 45 = 8.94
9. (A) . 8x16=128, 7x17=119 B) Va5 + 5 =35+ 5 =5
1. 11+11=22, 5x 55 =255 =
b ) J5 24.(A) 0.000256 = 552
62 _ 6v2 _ J§ 25.(A) If57 + 59 +109 = 0
10-(A) 5\/§(ﬁ+*/§)" 5\/§(f 3v2) = then 573 + 593 + 109% = 3 x 57 x 59 x 109
11.(A) 9x4+26+ 13=75 =1099701
12.(A) 0.00005 + 0.88885 + 0.77775 + 0.66665 + p 540
0.55555 = 3.8885 26.(C) G0~
13.(D) 18+ 1.8+0.18=19.98
J129+11+19+10 =13 = P= <10
3 3 3
14.B) 2 x 330 + 330 - Y1125 27.(4) 3125 + 4325 + 3675
=53 + 43 + 3
- 699 + 390 - 530 = 499 5325 + 43/25 + 3 x3%/25
= 18325
J5 f(5+f)
15.(8) s G = 0.809 1
28.(4) 5315 0.4319, then 0.0002315 4319
. — = _ 2 = — _
16.0) Vax?-ax+1 = (2x-1)7 = 2x-1 29.(C) 2.3x - 5J27x + Ji08x =21
=2x1.1-1=1.2
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23x — 153x + 64/3x =-21
—-743x =21
J3x < 3

3x=9
x=3

30.(A)

64 8 2
288 12[ E)
[157 x 157 + 143 x 143]

x=0.139
JAx?14x+1 =2x+1=2x0.139+1=1.278

3o 12217
6 6

P= \/72 72 -T72...

S2PP+1=2%x64+1=129

+= Y024

10 10

4% = 27 N a

_ 10 5

= 2x= = = -
Required answer =29 + 1 = 30

1 1/\° Va 1
7{(64/3+27/3j} =7[(4+3)3J4=7

0.7, 0.7, 0.07, 0.07
7

- 7 -
0.7 = 10° 0.7 = 9 0.07 = =, 0.07= =

512 +V169 + 3216 + /225
=8+ 13+6+15=42

31.( = 45098

32.(

T2

33.(D) [216%° + 3671/%] =

34.(C)

35.(A)

36.(A)

37.(D)

38.(C)

39.(4) Jl-—=—

X 225

289 289
289 — x = 225
x =224

= 1-

Ly

4X 92X
40.(C) —x
4 96
4XX92X=44X98
x=4

=5184

Ly

3 5 13

47127

16 3

41.(C) 16°29° 8

13 3 16 5 7
-, =

“127 3272071278

VIT+42)7 =13+ 222

O+3) =13+ 2./30

o)
(VB +45)* =13+ 2/30
(
(/7 +6)" =15+ 242

43.(A)

25+ 439 =25+ 2./156 = (Jﬁ+ \/5)2

= J13+ 23
(14.998)° = (15)° =~3375

V5+2 _ (J§+2)(J§+2)

J5-2 1

44.(D)

45.(B) = (V5 +2)°

256
0.256 b:4
x=0.0256

J529 + 5.29 + 0.0529 =23 +2.3+0.23
=25.53

557 X653 x672 8x5%x6

48.(D) 5 -

=6(R)

49.(C

-
|
Il

Y
|
|
|

Ly

a
e
T

J676 + 6.76 + \J0.0676 =26 +2.6 +0.26
= 08.32

J339+6+7+9 =19
2
51.() (VIS+V7] =22+ 2105

(VI7 +5)" =22+ 265
(V20 +v2) =22+ 230
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~

o a
w N
T T

I’

54.(C

~—

55.(A)

8
@

|/

58.(C)

59.(A)

LIl

|/

61.

—
*
~—

LUl

3287696 =66

11 1
54, 43, 64
53,44, 6°
125,256, 216
8x3 - 3><7 3

8— =
(BN A N

J3 =1.732

10 3-10+343

\/_—£+\/2_7=T=1.154

196 19.6
0.196 x
x=0.0196
Let no. =x
1 1 1 1
Xxloooxgxgxgxg

Required answer = 2.32

V54 V544
J5-v4 5+4

2(5+4)
1

=18

60

i\

P B
60 60 + 40

2foot — 40

40
bolar bear = 7 =20

16%**% =64
4x+12 = 43
4x =12
4x =-9

8 x 32%= 210
23XX 25x = 210
D8x= D10
8x=10

_°
= x=7

62.(B) (5% _1jw -4

5/ -1

63.(8) 2+ 7x= J3x14
2+7x=3x+4

= x=0.5

64.(A) 19+ 421=19+ 283 =(VIZ+7)

=J7 23
65.(B) 0.1759 + 0.3041
0.17599999
+0.30414141
0.48014140
= 0.48014
o J6:Y625 245 7 _
W Tese T4 a2 h
3x Ox
67.(D) X+7+T+ ———————— oo
a n
Soo: = = o0
1-r 1_3£
2
1 1
68.(A) x+y+z= \/g_i_\/g + \/74_\/3 +
_5-\B  JT-5 , T-3
2 2 4
_ 25 -23+207-25+7 -3
4
3
- 375
698 1+l+l+i+i+i
+(B) 2 4 16 32 64
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S, =
1_i
3-
Q\F \/3 2.2)(3-242) =3-2.2
3+2
(59881+49681)(59881-49681)
71.(B) =109562
10200
72.(A) 1054+14+13+8 =.1089 =33
73.(D) Let jeans price =¥ x
) [x+80}
given 12 x9=x+55
= x=%20
748 2,2 2
A 5,709
J225++/441 15+21 36 9
75.(B) 1. = =—=2=225
J256 16 19 4

289 ++/529 17+23 ﬂ _37

J169 13 13
76.(A) (82)1%2 + (83)13=22+33=1

77.(C) /55y55 = 5%
V23 =421, V19 - V17, 21-V19

1 1 1

V23 -421° J19-\17° J21-419
- V23 +421 V19 +17 21+419

2 ’ 2 ’ 2
. 5 16
79.(A) Required answer =7 — 3" 3
5 5.477
) |2 - BB 0
6 6 6

7x4-20+5 12

81.C0 Tia ox1i2 7
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Simplification (CGL_Pre — 2021)

Find the value of the following expression :

T=AifeRa =isteh =1 9 J1a I
372+56x7-5+2
1 93
43= 2=
(A) 5 (B) 258
C —2% D) 58
(€) 2355 (D)

Find the value of the following expression
980+35x16+4 -2 x2.
fr=ifeRa =isteh =1 /9 F1d i |

®) 1%
(D) 74

Simplify the following expression :

Frfafad =i = A 1 I |

31+51+11><51—5l

(A) 556

(C) 448

2 3 3 4 2 .
1 5 i =7 X2
1-x1=-6=
2 3 2
9 13
29 — —=
(A) 32 (B) 147
Q) -2 D) -1>
(€) 128 (D) 14

Find the value of 703 + 20% — 903.
702 + 20° — 90° = A T hiteT-

(A) -300000 (B) -378000
<o (D) 378000
Find the value of the following expression :
Trfafaa =S =1 A 9 Fifm-
5-35+5x15+5
12-2
(A)-9.5 (B)—-2.5
(C)11.5 (D)-13.5

The value 0of 40 + 50f2 x [18 + 6 X (12-9) of 5 -
(3-8)]+25is:
40+50f2x[18+6%x(12-9)of 5-(3-8)] 25

T | [T HITT |
(A)7 (B)8
(€) 5 (D) 4

7.

10.

11.

12.

The value of
z_é{gggioﬂa{lz{g_11_%
7 8 4 2 3 40 5 8
is :

T | [T HITT |

(a) -4 (B) %

© % (D) =24

Find the value of (1.6)% - (0.9)% — (0.7)3.
(1.6)% - (0.9)® — (0.7)* =l A FTd It |
(A) 3.24 (B)-3.24

(C) 3.024 (D) -3.024

Whatis the value of p, if 25(3 + 4p) + 12 0f5-3
x 8 =067

A 25(3 + 4p) + 12 0f 5- 3 x 8= 6 T, A p =l 7
®?

1
(A) 17Z (B) 69
(C)72 (D) 15—
46 + %of32 -6
The value of is :

37- %of(34+6)

46+%0f32—6

?
573 of(3416) T T INE

4
(a) 344 (B) 444

(©) 5% (D) 047

The value 0of 15+6.3+7-3%x1.3-21is:
15+6.3+7-3x 1.3 -2 = AF foHa g ?

(A)7 (B)-10
()9 (D) 10
Find the value of the following exression :
Tt =ik 1 A [0 ST
3+1x2+5-2

3x3-2

(B) ¥4
D) 1%

) 9%
© 4%
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R

13. The value of 1 1 3 1
4= +25x02+=0of 50+| ===
6 5 4 8

is :

R

1 W &~
41+2.5><O.2+1of50+(3—1j g
6 5 4 8
e o 22
(A) =5 (B) =5
o 3 o 24
©) =5 (D) =5

14. What is the simplified value of the following?

Frreferiiaa =t weeiiera o= @ g ?
9+§of(9+6><4—2)+ 1+7—{5+6
7 5 25 |8 16

24+16-10+36+(5+20+4-1)

A hat B S
(A~ (B) =
o7 o 5
© 40 ( )56
15. Find the value of the following expression :
Trfafad =oe % 9 9wt
lg+§><6+i><l+g
3 6 5 2 3
2-|15x[-2]-6{3-[5-2
3 5 5 10
N o4
(A) (B) 3
ol oL
© (D) -~

16. The value of :/ %l 9 A & |
{25+8+2—{16+(140f7+14)—(18+120f%jH

(A) 12 (B)6
(C)9 (D) 3

17. The value of/ %1 &M f&a= g ?

25+10—(£xéjof§+ﬂxi+(l;ij is:

5 3710 \5 25
(A) 11 B)7
(C) 15 (D)9
18. Find the value of the following expresion:
Tr=ifeRa =isth =1 9 910 St
4l+3lx1i+3§x 6lof1i
3 3 5 4 4 15
2 5 2
e x =
3 6 3
1 1
28— =
(a) 28 (B) 5
3 1
289 — 12—
(C) 289 (D) 12

19. Find the value of the following expression :

fr=fafaa =i = 9 9 SIS

(7.03)2-0.027
(7.03)2+2.109 +(0.3)2

(A) 7.06 (B)7
(C) 7.33 (D)6.73
20. Simplify
[51+31Xij_i = 3i+£0f6g of 1l
4 "2712) 16 7 14 "3 3
1 A Fq T |
A = B) =
A 35 ) 32
) = D)
(©) 35 D) 32

21. Find the value of the following expression:

Tr=fafaa s = 9 Fa St
-5+5+625+5x%x5

(A) 25 (B) 625
(C) 605 (D) 121
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Solution
1 =75+ 100P = 1800
1. (A) = 372X X7 =542 = 100P = 1725
=P=17.25
= 382—3 = 37284_24 = 43% 3
10. (D) 46+ZX32_6_64
. 3 7
2. (C) 980><%><16+4—2><2 37=4 x40
196 11. (D) 15+6.3+7-3%x1.3-2
= ?X16 =28X16=448 159—59
10
7,16 3 21 11 . 12, @) 3+1x2+5-2 9
2 3 4 4 2 . =
— 3x3-2 7
3. (D) §X§_§ ><7><2 X
2 3 2
» 0.3 3 _ 3x24 36
- O 3 521 _50 158 79
21-2 5 —x0.02+ — —+ —
N = —1— 3 8 3 8
-14 14
4. (B 70°+20°-90° 14. (B) 9+3of(9+6x2)+[1x25—(1)}
(70 +20)° 7 57
703+203-703-203-3x70%x20%90 24+6+36+9
-378000
9+ 2021427
5. (A) 5-35+5x15+5 7 7 7
12.5 4+4
105410 95 9:9_2 1.2 5
=710 0 = T T ,7.,5
8 8 8 56
6. (B) 40+ 10 x(45+5)=25
4x50+25=8 5 6 2 9
—X—X6+—-+—
2 3 [9 14 (57 57 15. &) e o
7w |24 _+_+(___j o (4. [ 3) g[8 27
7 8 4 3 40 40 3 5 5 10
= i_ﬂzﬂ:j 16 16
56 56 56 7 12+ 12+ -2
8. (C) (1.6)°—((0.95+(0.7)%) = (0.9+0.7)~((0.9)°+(0. 7)) = 4 18 81| ,_ 59
(a+ b)®—(a® + b®) = 3ab(a + b) 2‘[‘5‘5+5} 5
= 3(0.9)(0.7)(1.6) = 3(0.63)(1.6)= (1.89)(1.6)
= 3.024 16
9. (A) 75+ 100P+60-24=6 =60+§_ 196 _ 28 _ 4
75+ 100P 10-59 3x(-49) —3x7 3
- —————=30
60
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8
16. (C) {25 o

po 15

=[29-{23)-(3)}]
=[29-23+3]=9

21
17.

18><l

2_ (L ><9+—+—><25
@ 707 \12)°5"5 "5

3l

25-7+42+50 25+35+50 110

10
=11

10

10

19. (D)
20. (D)
21. (B)

45
3 15x15 205 1
8_
= 8 = 3 3 =2 3
15
(7.03)° - (.3)°
(7.03)%+(7.03)(.3) + (.3)*

)
(7.03)2 +(.3)2+(~7.03)(.3)
(7.03)2+(.3)+(7.03)(.3)
= (7.03-03) = 6.73

=

(21 7 S\J 3 25 5 .20
—+—X—|—-— || —+—of —
4 2 12) 16 7 14 3

21 2 5)_34.(25,.100
=4 "7%12) 16) 7 T a2 )of3

[E_ij ;[éxﬁj 4
=18 16)) 7 “100) °f 3
Y. (8 4
= 16 § 4 Ofg
T, Y 7
216 716 2~ 32

-5+5+ 125 x5=625

J ot
°'3

4
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Simplification (CGL_Pre — 2020)

1 The value of

1

2+110f2—1—
8 4

52-1170+26+13x2

52-1170+26+13x2 ,
is

. . 1 A A9
2+1-0of2-1-
8 4
(A) 12 (B) 11
C) 27 (D) 41

3§+ 32+ E(
2. The value of 6 3 4

equal to :

4 1
5§+ 14§j}:| is

S 2 |15(_4 1
3—+|3=+4—|5=+14= ¥
6 { 3 {4( 5 QJH A A

(A)9 (B)6
)7 (D)8
3. Thevalue of25+150f4 x[4+5x(9-7)]-(20
+50f9)is:
25+150f4 x[4+5%x(9-7)]-(20 = 5 of 9) I HA
|
2 2
A 3 (B) 3
4 1
©) 5 (D) 3

4. Thevalueof32+ 120f3 x[5-(15-12)+9]of

3
?+4—8+20f4is:

32+120f3 x [5-(15-12) = 9] of
4 =1 AF TG FA —
1
(A) 3= (B) 35
7 7
€) 45 (D) 15

§+4 8+2of
Z+t4-8=20

51_{31_{1@;_1}}} B
5 2 6 5 10 15
12 22
(A) 37 (B) 37
72 52
©) 37 (D) 37

Simplify the following expression.

7 1 .1 4 1 5 1 3
—+—of = [X——=X—+—+—
16 2 5)°5 38 2 4
o =isTas =1 | 910 |

7 1 .1y 4 1 5 1 3
—+—of - [X——=X—+—+—
16 2 5)°5 38 2 4
A RS B 7
(A) & B) 155

317 b 10

26 (D) 5

The value of 18 + [26 — {25 - (15-5) + 2}] of 12 +
2-2+4x161is:

18 +[26-{25-(15-5)+2}]of 12+2-2+4%x 16
A

9 23
(A) 7 (B) =
3 25
©) 5 ) "5

Simplify the following expression. /T =I5/ &l
A T

(375 +125)" — (125 - 375)°
375x375-125x125

3 27
@A) 5 ) 58

15 3
(©) 3 (D) 4
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10.

11.

12.

13.

Simplify the following expression /= =S &l
A T
6+40f3-4+6x(13-10)-2%x15+6%6

1
(B)- 317

1
(D)- 197

Simplify the following expression :/ = =&
T AT T |
3x8+90f6-2+3x(5-2)x2+18+30f3

5
(A) —15 (B) - 4
12 1
(€) QE (D) 25

Simplify the following expression,/ T =I5/ &l
A T
15+-30f2x4+9+180f2%x3-4+8x2

3 3

() 125 (B) 95
3 3

(©) 425 (D) 397

Simplify the following expression : / T4 =&
1 AT T |
8-40f2-15-20f5-6+5% (-7 +5) of 2

7 3

(a) 3175 (B) 455
1 3

©) < D) 775

Simplify the following expression
71 =Stk =l A 91 iTT-
7x4+210f4-5+4x(9-13)+2-2+8

1 1
A 75, (B) 51c
1 1
(©) 5% (D) 12

14. The value of / = |4 710 X |

15.

1e6.

17.

18.

423+{27O+;X35+[17+%j—[81_§ﬂ is:

2 2
A —3_ B —7_
(A) 2455 (B) 2455
c 51 D 41
(©) 2455 (D) 2455

The value of 54+16 of 3%x[12+40f{6x3+(11-
20+ (12+8%2) is:

54+16 of 3x[12+40f6x3+(11-2)}]+(12+8x2) &AM
Eickeay

A) 2 B) >
(A) 5 (B) 5
02 D) >
© 3 (D) 15
The value of
sl glopsl 1 11 11 1 1)
5 2 4 4\2 8 4
= G 1
N g 17
)60 ) 60
o 37 5 37
) 60 ( )60

Simplify the following expression :

Tt =Tk 1 7 9@
7 1 2 5 9 5 3 .2
—+—of = ——x—+—+—of =
12 10 3 3 10 8 4 3
23
- 322
(4) -4 (B) 35
29 1
77— 8-
© 75 (D)
Simplify the following expression :
Tt =Tk 1 7 9@
S_ L. 1e2).(3. 23
4 4 4 5)\4 3 5
W32 g 14 T0 14
(A) 75 (B) 15 27 75
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Solution
b0 oy (mtol) 2 1.5 1.2
52-1170+26+13x 2 B (1672%5) 573 8 273
2+150f2-11 7 1) 4 1 5 3
8 4 = _—— X — — X — 4+ —
16 10) 53 8" 4
1170
_52- 26 78_45 33 _ L 0,4 5,8
- _ 2% -1 16 5 12 4
2+8—§ 3 3
8 4 T_5.3
2712 4
2. (A) ByBODMAS rule = 2-5+9 46 23
23 [11 [15(29 2 - T 12 12 6
S |3 |45 29
7.B) By BODMAS rule
23 [11 3] 23 31 54 10 2
6 {3 2} 6 6 6 18[ [ 2ﬂ”2+2 5 16
3. (A) By BODMAS Rule __LeaT
T6x12 4
25 Xix2_§
15x4 |5 45 8.(A)  a=375+ 125=500
b=375- 125 =250
= _ = 2 _hHh2
(375)2-(125)2 ~ (@-Dbl(@a+tbj=a’-b
3 _
4. () 32+12 of3 x [5(15-12)+9] of = +4-8-2 of 4 (500 -250)(500+250) _ 250x750 _ 3
7 (375-125)(375+125) ~ 250x500 2
520 3 | g5wa_8 9.(B) By BODMAS rule
36 9|77 8
6 _4,.,.30 6
=§><49—2><g+3 126 6
1 1
16 7 7 =5 ~2-30=-315
=?+3=1§+3=4§
10. (A) 3x8+90f6-2+3x(5-2)x2+ 18+3 of 3
1 [.1 (5 (3 1 4 . 2 .
5. (D) Sg_|:3§—{g—(g B—Ej}} :>3X8754— 3 X3X2+ 18_9
i S,
_ 26, Z_{E_E = 54 9
5 |2 16 30
] 14 _ ;5
2 1_2} T
5 L2 30 11. (B) 15+30f2x4+9+180f2x3-4+8x2
26 30}52 15+6x449+36x3— ~ x2
= x| —=|== +6 X = X3 - — x
5 93] 31 - 2
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12.

13.

14.

15 4 2w
%6 36
3 3
+ —=-1=9—
=10+, -1=97

(B) 8+40f2-15+20f5-6+5x (=7 +5) of 2

6
8+8-15+10~ = x (-2 x2)

=1- + x 4

N W
ol o

3 24 10-15+48 43
25 10 10
x 4

(A) 7x4+21 0f4-5+4x(9-13)+2-2+ 8

5 2
+84 - —x(4)+2-—
Tx4+84-  x(4)+2-7

7x4 5 7
= +—=x4+—
84 4 4
1 7 4+60+21 85 1
= —+5+—=—""—"—"—"7-—"=—=7T—
3 4 12 12 12
(B) By BODMAS rule

423 = {270 x%x 35+(17 x 3) —(6)}
= 423 - [90X7x35+51-6]
= 423 + [22050+45]

47

_ 423 4T
~ 22095 2455

15.(D) By BODMAS rule

54 _ _ '(ij
= g ¥ [12:40f(6x3+9)]+ |3

2 «[12+4of2] x =
= g [12=4of2pxy

9 12 1_9
~ 878 "3 16
16.(C) By BODMAS rule

:>? Eof? g—aof
E>< 6 — x84+ — x1
= 5 "9x16 8
2, 1_ 2%
- 15 4 60
17.(D) By BODMAS rule
A WY 5 T 5 3 ;
=~ 12 10%373 170 "8 4°
7 30 45 5 12
= — X —_ — + = x =
12 2 30 8 6
35 3 5 34 17 1
o, 2 2,2 2 21 _g-
4 24 4 72
18.(B) By BODMAS rule

(3 1 20) (3 15)
4 4" 2 4”6

33 ()52
“la 2)7\8)773%157 15
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Simplification (CGL_Pre — 2019)

If '+' means '-','-' means '+', 'X' means '+' and '+'
means 'x', then the value of

42-12x3+8+2+15
8x2-4+9+3
-&lﬁq"a’ﬂa?j v_v,v_va’ﬂ-azl-s,j '+','X'aﬂ3§[$} ot aﬁTv+va’ﬂ-
42-12x3+8+2+15
8x2-4+9+3

a1ef 'x' BT B, O FHIEH

o Ll

a5 o 15

(A) 3 (B) 1o

o 15 05

© 15 (D)

1 2 3 5
18 - 20f — —+—X—|=

Thevalueof( o 4j><(3 2 8)'
2 3 .3

(§+Zof1jls

1 2 3 5 2 3 .3

18 - 20f — —+—X— —+—of —

( © jx(s 4 8] (3 4° 4)““

ARy |

5
(A) 8= (B) 16 —
8
7
2— 10—

(© 22, (D)

The val f—§+§*6><l' al to :
e value o 5 5" 21sequ to :
5 3 1

——+—+6X—= it
25 23@"[‘41‘[3”’?[ |
) 5 (B) -5

C = D S

(© -3 (D) ~1;

Find the value of — /9T 1 sifsw —
36 +420f6 X7 +24x6+18+3+(2-6)—(4+3x2)+8

21+30of 7

1 1

(A) 75 (B) -
1

(©) 85 (D)7

7-[4x3(2-2x2+5)-8]+5
2+20f(4+4 +40f4)

The value of is :

7-[4x3(2-2x2+5)-8]+5

- 20f(4+dzdofd) T A H
1
(A) 26 (B) 25
1
(©) 85 (D) 24
-yt

On Simplification x[(x ty) - SXYJ

iy x E—y? is equal to :
x° —2)’3 . y (x— y)2 + 3xy}
x[(x—i—y) —3xy} = S x

(X+Y)2—(yx2—Y) ot

(A) 4 (B) 1
oL D) &
( )2 ( )4
-8 242x+1
fP= 2 Q= >2"""" andR =
X" —x"=2x x“—4x-5
2x% +4x+8
x ; , then (P x Q) + Ris equal to :
—
1-8 242x+1
gt p= % og=XT2X" gk R-=

2 2 > 2
X" —x"=2x X" —4x-5

% g1, dl (P x Q) + R =1 | 1 shiforg |
1

(A 5 (B) 1

(€) 2 (D) 4
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8.

10.

11.

5f—3f of +(5—7—99j o

9 8 20) 11
The value of
5+50f——10><10+20
10
is:
5——3— of — +(51—7—99j 2
3 4 9 8 20/ 11 .
<kl HIF ddqTU
5+50f——10><10+20
10
4 9
1= 1—
(&) 13 ERES
4 1
3= 9=
(© 37 (D) 95

The value of / %1 9 T e |

8+[(8-3)+{(4+-40f8)+4-4x4+8}-2]
8x8+4-8-80f2-7 18
17 8
@A) g (B) 3
c 16 D 2
(€) 170 (D) 17
x* +y° (x+y) -3xy
IfpP= ( ) + 3xy ’ ,Q= W and R =
(x+y) - (x-y) :
Xy then what is the value of (P +
Q) xR?
x* +y° (x+y) -3xy
B T R A

(x+y) —(x-y)

%, (P+ Q) x R AN T T ?

<2 _ y2
(A) 2xy (B) 2(x* +y?)
(€) x* +y (D) 4xy

The value of / =1 9 F1 & ?

G2,11,,2 1 1.3 4
3 30 3 4 2 5 5
2 1 3 3 1 1 is :

o : x1=+2—
5 2 4 4 2 4

12,

13.

14.

15.

l1e6.

@A) <3 ( )21

6 4

2— 3—
(€) - (D) -
The value of / =1 A F1d I |
§x11+1lofi—(3l+4lofsljx21+l+l+l
58 3 16 |5 2 3) 72 28 4
is:

1 5

41 52
(A) 3 (B) 6

1 1

51 4L
© 6 (D) 3

1 1
The value of -1 + r + = x2+514s:

2

1+ 11045 7
— — + = X —

273 = A
(A)5 (B)2

17 7
© D) ~5
If “+” means ‘-, ‘" means ‘+, ‘x” means ‘+" and ‘+’

[(80%5)+(84x6)]+5

means ‘%" then the value of [2 - 18} ~[4+2]
3
is:
R+ = a1ef -, et 4, xR a1 Y SR
[(30%5)+(84x6)]+5
s & [2+18}_[4+2] 1 A AT |
3

(A)-2 (B)2
O-1 D)1
Solve the following

Frfafe Tt i 7a

113 x87=7?

(A) 10000 (B) 10026
(C)9831 (D) 10169
Solve the following

1 e =01 5 Y

4 1

—+=X2-1=7?
3 6
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17.

18.

19.

20.

21.

22.

23.

(A) =2 (B) 8
(C) 3 (D) 15

[54-(5+2)+8]+13
48 -4+3x8-2

The value of

[54-(5+2)+8]+13

= HH FG I |
48-4+3x8-2 o
A 89 5 89
( )127 ()106
c 141 5 141
( )127 ( )106

The value of 3-(9-3 %8+ 2)is
3-(9-3x 8+ 2) UM [T FHifoA |
(A)-21 (B)6
o (D)21/2
The value of / %1 91 I i |

(ol 30} 2L, 22, 11
8 4 2

S S 3 5 3 20
1 1
1= 1=
() 15 B) 1]
1 1
33— 3=
(© 33 (D)
Solve the following expression.
rrfafaa st = 7 s ?
5.6 -{2+0.6 of (2.1 -2.6 x 1.12)}
(A)4.0871 (B) 4.0872
(C)7.7113 (D) 7.7112

The value of 1800 + 20 x {(12-6) + (24 - 12)}is :
1800 + 20 x {(12 - 6) + (24 - 12)} =1 A FAT TN ?

(A)1720 (B) 1620

(C) 840 (D) 2720

Solve the following expression.
Frfafe =ioes =i 5a 1 |
11+11x11-11 =11

(A) 131 (B) 11

(C) 121 (D) 22
The value of (26 - 13 x 2) =+ 2 + 1 is
(26 — 13 x 2) = 2 + 1 =AM I TS |
A 2 B)0

(A) (B)

1 (D) 14

Solution

42-12%x3+8+2+15
8§X2-4+9+3
Change signs
42+12+3-8%x2-15
8+2+4-9%x3

42+4-16-15 15
4+4-27 19

(18+20f1j (Eixﬁ) (E_E fij
4 3 4 8 3 4 4

(g éxsj (2X4X4j
18 x 2137378 )73 3x>3

5 3Ix3x3 135 7

= =16—
36 % 9 2x4x4 8 8
Y . A
2 2 2
5 3 1
= — —_— _—_+_
2 2x6 2 2 8
_—20+1_£
8 8

36+420f6X7+24x6+18+3+(2-6)—(4+3x2)+8

21+30f7
O
42x6 18 4 8
—148-2-2_9_0=7
4 4

7-[4+3(2-2x2+5)-8]+5
2+20f(4+4+40f4)

7-[4+3(2-4+5)-8]+5

2+20f[4+1j
4

7-[4+3(3

)-8]+5

2+ 2><£
4
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6. (A
7. (A)
8. (B

7-[5]+5 _7-1
o2 2
17 17
_ 6X17:§:251
4 2 2
&~y ’ y[(x—y)2+3ny
x[(x+ y)2—3ny X +y’ *
(x-+y) ~(x=y)’
Xz_yz
3 3 3 3
) X" -y y X +y y 4xy

2

x(x2 +y’ —xy) y(x2 +y° +xy) X -y

4(x+ y)(x2 —xy+y2)><(x—y)(x2 +y° +xy)
(x2 +y? —xy)(x2 +y’ +xy)><(x2 —yz)

4 2
X" —8x X"+ 2x+1
x? —x? = 2x Q x2—4x—5
2x* +4x+8
x—5
x* —8x X +2x+1
(P x Q) = R= X2 —2x X —4x—=5|"
x—5
2x* +4x+8

()(—2)()(2 +4+2x)
(x2 —x—2)

(x+1)2 . x—5
(x* —4x-5)" 2(x* +2x+4)

(x—2) y (x+1)* ><(x—5)
(x+1)(x—2) (x+1)(x-5) 2
1
2

3 4 9 8 20, 11
5+50fl—10><10+20
10

5;+320f1+(51—77+99jx9

: oo
2 3x4 9 8§ 189] 11

10-5

11 11x1 [46 63 20}9

10.

11.

(B)

(11 12 (46 5) 9
—X—F——— X —
12711 {9 6} 11}

6+in}:1{6+z}
| 18 11] 5 2
1@}_19_12
502

Ul =

Q1| =

10 10

8+[(8-3)+{4+40f8)+4-4x4+8-2]
8x8+4-8+80f 2-7

8><E
6
16-1-1
2 7
68 2 8
= —X— = —
3 17 3
P x%+ y? _(x+y)?-3xy
(x—y)*+3xy’ x*-y°
R EHY)P-x-y)
v x2—y2
X3+y3 Xa_ya
P=QR= Typiaxy  (x+y)?-3xy

(XY - (x-y)?
X2_y2

_ EHy)xT+y?-2xy) (X -y)(x*+y°+ xy)
S Xy ) (x*+y? - xy)

X 4Xy
Y
(x-y)(x+y) Y
3g+£0f2—10f21+§x4i
3°30.3 4 2 55
Zor7li3 3 tiot
5'274747 27 %4
11 30x3 1 5 5 24
—x — X x—x—
3 11x2 4 .23 5
2x15 4 3 3 4
X=X X —
5x2 3 4 .29
15-5 10
4_1_1 =@=29
2 2 7
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3 7 1 .3 1 1 1
Zx1=+1=of — - |3=+4=0f 5= |x2=
2. ©Q gxlg=1zof1g [5 2 3]X22+
1 1 1
_+___
2 8 4
3,15 (16, 1)5 1 1
==X — X4-| X | =+ =+ =
5° 8 5 24)2 2 2
273
6 6
1 1
13. (A)Valueof—l+z+§><2+5
=-1+1+5=5
14. (A) [(30+5)-(84+6)]x5
{2x18}+[4x2]
3
[6-14]x5 —-40 )
12+8 20
15. (C) 113 x 87 =(100 + 13) x (100 - 13)
= (1002~ 13%) = 10000 - 169 = 9831
41
. —+—x2-1
16. D) ¢
-2 6x2-1=15
3
47
[54-(5+2)x8]+13 3 141
17. (D) =46 32 = ——
48 -4+3x8-2 5 106
18. (B) 3-(9-3x8+2)=6
1 1 3 1 2,1 4 2 11
1=+ 4=+ 20f8= |- Ex1=+—of 12+ —
19. (C) 75 [ 4°5° 2) 5'375°M 3%
9.6 2 11
= —X— — —_—
8 5 5 20
_2r 2, u
20 5 20
27-8+11 1
- = 1—
20 2
20. (B) 5.6 -{2+0.6 of (2.1 -2.6 x 1.12)}

1

21. (B)
22. (A)
23. (C)

=5.6 -{2-4.872}
= 4.0872
1800 = 20 x {(12 - 6) + (24 — 12)}

Wi+ 12
20 T3

=90 x18=1620

=

11+11x11-11+11
=11+121-1=131

(26 - 13 x 2) + 2 +1
0+2+1=1
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Simplification (CGL_Pre — 2018)

1. 21.6+3.6x2+0.25%16+4—-6isequalto: (2)11?) (][3));1
216+36x2+0.25x16+4—6 7R : () (D)
(A)6 (B) 5
8 1 1 2 4
)8 (D)7 10. The value of gof (5Z+2§0f4j+ (8+§0fgj
2. The value of 15.2+5.8+2.9x2-3.5x2+0.5
is equal to: of (8xg+ij is
15.2+5.8+2.9%x2-3.5x2+0.5 A IUR &: 3 5
(A) 4.8 (B)3.2 11 8 2 4) 2 4)
5-+2>ofd|m == |8+ Zof gxZ:2
(C) 5.2 (D) 5.4 (4 230 ng.( Jofz ) = (XS Sk
7
3 [.1 1 (1 3 I
3. 9772571437125 75 )(| isequalto 1 4 1 1
A) 15 (B) — ©€) 550 (D) =
8 15 200 100
S 23 S
11. The value of 7=x|3=+4—0of5— +
s 2 5 2 2
(A) — B)3 5 1 3
4 {11—[§+3—1Zﬂ+5——5+5><50f5+
39 4
© 5 (D) 4 25 is:
. . 1 1 1 1 5 1
4. Thevalueof3.8+(8.2+4.1x2)-4x3+1.2 7o wl82+4-mm5=| 4 |11-|2+3-1=]| -
3.8+(8.2+4.1x2)-4x3+12FAAE: 2 (5 2 2 8 4
(A) 2.2 (B)-1.2 3
(€) 1.2 (D)-2.2 5, ~9 5 xX5H5+25 =AM B2 /4
5. Thevalueof7.5+(54+4.5x2)-8x4+3.2 A 1 B 1 c 3 D) N
7.5+(54+4.5%x2)-8x4=3.2FMAAE (A) 5 ®) 1o © 1o (D) None
(A) 0.1 (B)-0.1
(C) -0.2 (D) 0.2 12, The value of 6 -6 +6 X6 + (6 + 6 0f 6) X 6 —
2
6. Thevalueof: 108+36 x4 +2.5%x4+0.5-10 [ g—%f j+Sis:
108+36%x4+25%x4+0.5-10FTAE
(A) 18 (B) 16 ) ) (32_2%7 2]
(C) 22 (D) 20 6-6+6x6+(6+66)x6-| 37 3573
MR
7.  The value of
€ value o (A)O (B)2
28+(52+13%x2)-6x3=-8+2 (C) -1 (D) -14
T HEA B
(A) 6.45 (B) 4.55 3.,2,5 1.2 .52 1
(C) 8.45 (D) 10.55 13. Thevalueof4>< 3 9of 5 23>< o 7of 3
8. The value of 1S :
7.2+(8.4+0.12x0.2)-5x3+0.05+3 3,52,5 41,2 .52 1 N
=1 /I BT ? 4"73°9 5 23" 76 7 3
(A)-75.5 (B) - 275.8 5 ) 1 5
(C) 21.2 (D)-175.8 (A) 1g (B) 15 (©) 35 (D) 4g
9. The value of ]
5.8+ (7.4+3.7x5 -6x2+2.5 14. Thevalueof4.5-(3.2+0.8x5)+3x4+61is:
1A 29T 2 4.5-(3.2+0.8x5)+3x4+6HAME:
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(A)-13.5 (B) 4.2 .

) -6.5 D) 5.7 Solution
15. Thevalue of3.8-(4.2+0.7x3)+5x2+0.51is: 216 16

3.8-(4.2+07x3)+5x2+05HAAE: 1. (D) 36 X2+0-25XZ_6

(A) 5.8 (B) 18.4 ~ _

(C) 21.8 (D) 15.6 =12+1-6=7

2. (C) 15.2+58+29x2-35x2+0.5

16. Thevalueof (5+3+5x5)+(3+30f6)of (4 x4

40f 4+4+4x4)is: 15‘2+ﬁ><2_3‘5xi

(5+3+5x5)+(4x4+4H/M4+4+4x4)FH(3+ 29 0.5

6 =1 3) T HM T: 152+4-3.5x4

1 1 3 2 15.2+4-14
8- 7= 99— 6—
(A) 5 (B) 3 (€) 5 (D) 3 19.2-14=5.2

9 (2 2 ij (3 B f4j 39, E;{E_(Ej
17. The value ofﬁof 373%5 ) ZXZTZO 3 3. (€) 7 6 3 4

Mg 275 5)® =§{EXE}
4 |6 13
(&&,ﬁj 9 . (ixi;imij =1
37°372) ¥ 13 4747473 39 1 39
= —X—=—
(5.5>< m4j 5 42 8
4 275" 5) ™ ;
A 20 4 18 4 |4 D 38*(5“]‘4 12
A3 B 25 ) 125 ) g
=3.8+4-10
18. Thevalueof16 +40f4 x[3+40of {4 x3 + (3 + =78-10=-2.2
)1+ (2 + 4 of 8) is: 5. (B) 7.5+(5.4+4.5x2)-8x4+32
16+4 4% [3+{3+3}F4]+ (2+8F4) FAAE:
(A) 6 (B) 9 (gxz)_sm
(C) 48 (D) 16 (SR VTR Y'Y
19. Thevalueof2x3+20f3x2+(4+4x%x4+4o0of 6
4-4+4x4)is: 7.5+g><2—10
2x3+2HM3*x2+(4+4x4+4F4-4+4x4)
FHER : 1B.12
(A) 8 (B) 1 (C) 4 (D) 2 2 5
20. Thevalueof5+50f5x2+2+20f2x5-(5-2) =7.5+24-10
+6 X 21is: =99-10=-0.1

S+OHOX2+2+2H2x5-(5-2)+6*x2HAA| 6, (C) 108+36x4+2.5x4+0.5-10
7

(A) 9 B) 19 (©) 19 D) 23 %X4+2.5X4+O.5—10
5 10 2

12+ 2.5x4 10
0.5

=12+20-10

=32-10

=22

7. D) 2.8+(52+1.3x2)-6x3+8+2
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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10.
11.
12.
13.

14.

15.

l1e6.

e
2.8 + 13 —6><§+2

2.8+.8 2 +2
. . - 4
12.8-2.25=10.55

8.4 3
52 02]-5x——13
7.2+ (0.12 ) 0.05

7.2+(70%x0.2) - 5>5<—3><100+3

=7.2+14-300+3
=24.2-300=-275.8

58+t 5 _gx 2
Y 25

6X2x%x2
5

5.8+ 10 -

15.8 2
' 5

15.8-4.8=11
Use BODMAS
USE BODMAS

3.2 4
_ | —X5[+3x—
4.9 (0.8 j 6

4.5-20+2
=-13.5

4.2
3.8 - ﬁx3 +5x2x10/5

3.8-18+ 20
3.8+2=5.8

(5+§x5)+(4xi+éx4)x(i)
5 16 4 18

3
=8+ (1+4)x —
(1+4)x 72

gs 2

" 18

g x 18 _ 86
15 5

20. (B)

=§=9§
5 5

9 (2) (9] (5 5 2 4)
—X| = |+| = |X| =+ =X=X—=
15 \3 16) \4 2 55

9 2 (9] (5 2 8]
X =+ X X=X —
15 3 \16 4 5 25

X
w|N
X

—
9 9

16+4x4x[3+4x{4x3=(6)]+(2+4x8)

E><[3+4><2]+(ij
16 32

&x2+(4+ﬁ—%x4j

1x2+=(4+1-4)

1x 229
1

5+50f5x2+2+20f2x5-(5-2)+6x2
5+5xXx5%x2+2+2%x2%x5-3+6x2

5+25x2+2+4%x5-3+6x2

1><2+1><5—1><2
5 2 2

= %+E_1
5 2
_ 4+25-10_ 19
10 10
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Simplification (CGL_Pre — 2017)

8. Select the correct option:
{ 12 18 g;nvert decimal 99 to binary.
1. Whatis the value of (5+v3)| T (V53 ? ofehed U
( ) ( ) T 99 T FERI | I |
(A) 1100101 (B) 1101001
12 18 (C) 11100011 (D) 1100011
?
(5+3)|*|(VB-1B) | P ™I 9. 216+36x2+0.25%16+4-6isequalto:
216+3.6x2+0.25%x 16+4 -6 WA T :
(a) 15(v5 - V3) (B) 3(5v5 ++3) (A) 6 (B) 5
(€) 8 (D)7
(€) 15(~5 +3) (D) 3(3¥5+43) 10. Thevalue of 15.2+5.8+2.9x2-3.5x2+0.5
is equal to:

2. Which one is the largest among the fractions 152+58+20x%x2-35x02=0.5 &7 IEE:
(5/113),(7/120), (13/145) and (17 /160)? (A) 4.8 (B) 3.2
(5/113),(7/120), (13/145) T (17/160) H | T4 (C) 5.2 (D) 5.4
Je g em AT E?

(A)5/113 (B)7/120 03 . 1ol lql (o1 33,
(C) 13/145 (D) 17/160 11. 9551265145725 % 5[ | is equal to:

8. Which value among /5, 6, {12,'3276 is

3 1 1 1 3
the largest? 9Z+ 2€+ 45— 2§+Z FHIAF S :
35, 46, V12,3276 H A HeR T HE HAH T2
15
A) 5 (B) Y6 & (B) 3
(C) 12 (D) '¥276 20

4. Select the correct option: (C) = (D) 4
Convert binary 1101111 to decimal. 8
el famed gfHu: 12. Thevalue of 3.8 +(8.2+4.1x2) -4 x 3+ 1.2
AN 1101111 BT S¥HeAd A 95 | 38+(82+4.1x2)-4x3+1.2FAFE:

(A) 111 (B) 101 (A) 2.2 (B)-1.2
(C) 110 (D) 100 (C) 1.2 (D) -2.2

S.  What is the value of 9991 x 10009 ? 13. Thevalueof 7.5+ (5.4 +4.5x2)-8 x4+ 3.2
9991 x 10009 1AM 1§ ? 75+(5.4+45x2)-8x4+32FTATE :
(A) 99999099 (B) 99999819 (A) 0.1 (B)-0.1
(C) 99999919 (D) 99999019 (C)-0.2 (D) 0.2

6.. Select the correct option: 14. The value of: 108 +36 x 4 +2.5 x4 +0.5- 10
Convert decimal 101 to binary . 108+36 x4 +25x4=05-10BTaHY :

w e g (A) 18 (B) 16

IR 101 Rl AT | a5 | (C) 22 (D) 20

(A) 1101001 (B) 1100111

(C) 1101011 (D) 1100101 15. The value of
2.8+(5.2+1.3%x2)-6x3+8+2

7. 9997 x 10003 =7 T
(A) 9999991 (B) 99999911 (A) 6.45 (B) 4.55
(C) 99999991 (D) 9999911 (C) 8.45 (D) 10.55

E HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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16. The value of

7.2+ (8.4+0.12x0.2) -

BT A BIETT?
(A)-75.5
(C) 21.2

17. The value of

5x3+0.05+3

(B)-275.8
(D)- 175.8

5.8+ (7.4+3.7x5)-6x2+2.5

BT HH BII?
(A) 12
(C) 10

8 1 1
= 5-+2—of4|=
18. Thevalueofgof( 4 30 j (

of (ng—ij

3 5

1 1
5—+2=of4
( 47°3° jaﬂ

AN E?

19. The value

{11—[§+3—
8
4137751j + (11— E+3—1l .
2 2 8 4

25 is:
1 1
7= x|3=~+
2 X( 5

3

(B) 11
(D)9

2

8+—ofij
3 5

8 2 4 2 4
S (820 gx2.2
9" ( 3° 5) ( 3 5}”

1 1
of 7§X[3g—4 of 5= j +

1
1Zj}+5%—5+5><50f5+

55 —5+5x 5% 5+ 25 @ am ¥4

4

1
@A) 5

B) 75

10

(C) — (D) None

20. The value of 6 -6 +6 x6 + (6 + 6 0of6) X 6 —

of

52,112
3 30" 3

—j +5is:

6—6+6><6+(6+6Eb‘r6)><6—(3——

M B
(A) O
(€) -1

2 11_ 2
—h —
3 30 3

gk

21.

22.

23.

24.

25.

26.

3 2 5 2 5 2 1
X2—+= 1— —X3=—+= of 2—
The value of — 1 279 of 5t 6 7 of 3

5 25 1 2 52 1
—X2—+— 1+ —%x3—=+— 2— :
123 Mgty x3gry B 2y WAME

5
@1 B ©3 D4

The value 0f4.5-(3.2+0.8x5)+3 x4 +61is:
45-(32+0.8%x5)+3%x4+6FAAE :
(A)-13.5 (B) 4.2

(C)-8.5 (D) 5.7

The value 0f3.8-(4.2+0.7x3)+5x 2+ 0.51s:
38-(4.2+0.7x3)+5%x2+0.5FAAE :

(A) 5.8 (B) 18.4

(C)21.8 (D) 15.6

The value of (5+3+5x5)+(3+3 0f6) of (4 x4
+4of 4+4+4x4)is:
(5+3+5x5)+(4x4+4P14+4+4 x4 BT (3+
6 &1 3) HT A &:

1 1 3 2
(A) 8- (B) 7% (©) 9g (D) 6%
9 2 2 3) (3 3 3 .4
= of | 2+ Zof 2 |a| Ex 2+ Z0f =
Thevalueoflsof(3 3 2) (4 P 40 3)
(5320
%\ 275 5)1
(2;% §j 9 (ixi;imij
3 32 P 15 4737373) T
(225 2n2) qrmrt
4 275 5) ®TAM
20 L 18 40
(A) 9 ( )25 125 ) 9

The value of 16 + 4 Of4 x [3 +4 0of {4 x3 + (3 +
)} + (2 +4 of 8) is:
16 4B 4%x[3+383+3yBT14]=+(2+87B4)d0

M B
(A) 6 (B)9
(C) 48 (D) 16
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27.

28.

29.

30.

31.

The value of 2 X3 +20f3x2+(4+4x4+4o0f
4-4+4x4)is:

2x3+2P3x2+(4+4%x4+4DB14-4+4x4)
PIAFE :
(A) 8 (B) 1

(€) 4 (D) 2

The value of 5+ 50f5x2 +2+2 0f2x 5-(5-2)
+6 x 2 is:
S+5B/IOEX2+2+2PBI2x5-(5-2)+6 x 2FHIHN
T

19

A 2 B) — Q) 19 D 23
Wz B © (D)
If '+' means '-','-' means '+', 'X' means '+' and '+'

means 'x', then the value of
42-12x3+8+2+15

8x2-4+9+3
BRI LI B A i C I |

42 -12%x3+8+2+15
el ! B R, T W 8x2-4+9+3

= Huill
5 15
(A) —3 B) 1o
15 5
©) 19 (D) 3

1 2 3 5 2 3 .3
18 +20f — —+—X—= —+—of —
( © jx(s 4 8] (3 4° 4)““
SRy |
5
(A) 8- (B) 16—
8
7 2
2— 10—
(©) 2 (D) 103
The val f—§+§*6><l' al to :
e value o 55" 21sequ to :
5 3 1
——+—+6X—= it
55 meﬂsnﬁ |
) 3 (B) —5
C L D—i
(© -3 (D) 13

33.

34.

35.

32. Find the value of — /¥ I Fif¥@ —

36 +420f6 X7 +24x6+18+3+(2-6)—(4+3x2)+8
21+30f7

1
(B) =

(D)7

7-[4x3(2-2%x2+5)-8]+5
2+20f(4+4+40f4) 187

The value of

7-[4x3(2-2x2+5)-8]+5
2+20f(4+4 +40f4)

1 A 1 IS |

(B) 25% (©) 8=

(A) 26 2

(D) 24

22— Y
x[(x—i— y)2 - 3xy}

On Simplification

(i_Y)
y

y[(x—y)2+3ny . (x+y)2

y[(x— y)2 + 3xy}
x[(x + y)2 - 3xy} - N ys

(x+y) =(x=y)

2 y2

1 A 1 RIS

: 242x+1
pr=ﬁ,Q=¥a

5 nd R
X" —4x-5

, then (P x Q) + Ris equal to :

2
+2x+1

x1 —8x
P= ——+—— =
At Q x? —4x -5

b
x? —x* = 2x

2 xS g1, dl (P x Q) + R =1 | 1 shiforg |

Xx—5

1
(&) 5 (B) 1
(€)2 (D) 4

is equal to :
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5f—3f of +(5—7—99j o
34 79 "8 20/ 1

5+50f——10><10+20
10

36. The value of

is:

5f—3f of +(51—7—99j x>

3 4 9 8 20, 11 .

<kl HIF ddqTU
5+50f——10><10+20

10

4 9
1— 1—
() B) 15
4 1
3— 9—
(©) 35 (D) 95

37. The value of / &l A1 A HI5 |

8+[(8-3)+{(4+40f8)+4-4x4+8}-2]
8x8+4-8+80f2-7 18
'l .
® 3 ®) 3
16 2
© 176 (D) =
Xy (x+y) -8y
38. IfP= (x—y)2+3xy’Q_ S andR =
2 2
x+y) —(x-y
( )32_(3,2 ) then what is the value of (P +
Q) xR?
X 4y (x+y) -3xy
TP xyPasay QT ooy MR=

(x+y) —(x-y)

%, (P+ Q) x R AN T T ?

< —y?
(A) 2xy (B) 2(x*+y7)
(€) x*+y* (D) 4xy
39. The value of / HI AF F1T ?
,2,11 2 1,1 3 .4
3 30 3 4 2 5 5
2 1 3 3 .1 1 is :

o : x1=+2—
5 2 4 4 2 4

40.

41.

42,

43.

44,

(A) 9 ( )21

6 4

2— 3—
(€) - (D) -
The value of / =1 A F1d I |
§x11+1lofi—(3l+4lofsljx21+l+l+l
58 3 16 |5 2 3) 72 28 4
is:

1 5

41 52
(A) 3 (B) 6

1 1

51 4L
© 6 (D) 3

1
The value of -1 + % + by x2+51s:

1+ 11045 7
— — + — X —
773 HAR_

(A)5 (B)2

17 7
© (D) =3
If “+" means -/, *~" means ‘+’, ‘x” means ‘+" and ‘+’

[(80%5)+(84x6)]+5

means “x” then the value of [2 - 18} ~[4+2]
3
is:
A+ e, e, ) et SR
[(30%5)+(84x6)]+5
aﬁlx’%’?ﬁ |:2_18:|_[4_2] <hl HIH d¢ 5Q|
3

(A)-2 (B)2
O-1 D)1
Solve the following

Frfafe Tt i 7a

113 x87=7?

(A) 10000 (B) 10026
(C)9831 (D) 10169
Solve the following

1 e =01 5 Y

4 + 1 xX2-1=7?

3 6

(A) -2 (B) 8
()3 (D) 15
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[54 _(5+2)+ 8] 13 48. Solve the following expression.
45. The value of ’ i AT Seioreh 1 HF 1 ¢ ?
48 -4 +3x8-2 5.6 - {2+0.6 of (2.1 - 2.6 x 1.12)}
A)4.0871 (B) 4.0872
54-(5+2)+8|+13 (
[54-(5+2)+8] A 7 R (©)7.7113 (D)7.7112
48 -4 +3x8-2
49. The value of 1800+ 20 x {(12-6) + (24 - 12)}is :
(A)ﬁ (B)ﬁ 1800 + 20 x {(12 - 6) + (24 — 12)} =1 A 1 T ?
127 106 (A)1720 (B) 1620
c 141 oy 141 (C) 840 (D) 2720
© 127 ©) 106 50. Solve the following expression.
46. The value of 3- (9-3 x 8+ 2) is et =fre il & |
3- (9 -3 8+ 2) %A T I | 1A1;3111X11‘11 =1
(A)-21 (B)6 EB)) o
©o (D)21/2 (©) 121
47. The value of / =l A @ HIS | (D) 22
1l+(4l+§of81j—gxll+i0f 12+£ is 51. Thevalue of (26 - 13 x2) +2+ 1is
8 {45 2)5 35 3 2 (26 — 13 x 2) + 2 + 1 1 W 9 FAR |
1 1 26
1= 1-— ==
(A) 15 (B) 15 (4) 3
1 1 (B)O
() 3% (D) 3= (€)1
(D) 14
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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Solution
12 18 216 16
+ 9. D) —x%x2+025x—-6
SR -FIN NI P 3 !
=12+1-6=7
12 X(Jg_ﬁ) 18 X(£+ﬁ) 10. (C) 15.2+58+29%x2-3.5x2+0.5
+
\/g—"_\/g (\/g_\/g) \/g_\/g (\/g"l‘\/g) 152+ ﬁXZ—SSXi
209 T 05
6(J5-3) +9 (J5++3) 15.2+4-3.5x4
6v5 ~ 643 + 95+ 93 i
155 = 3/3
5573V 39 [13 [13 (13
=3 (55 +/3) 11.C) 37 %3 |7
2. (D)
3. () _9 (112
4. (A) Binary 1101111 T4 [6 13
Fromoption 2 | 111 1 = gxlzg
2| 5 | 1 472 8
2 27 1
8.2 3
2 13 1 — X2 |—-4x—
T 6 1o 13D 4R+ (4.1 j 12
2 3 1 =3.8+4-10
|1 =7.8-10=-2.2
13. (B) 7.5+(54+45x2)-8x4+3.2

5. (C) 9991 x 10009 54 8x 4
= (10000 -9) . (10000 + 9) 7.5+ (;XZJ——
= (10000)? - (9)? 45 32
= 100000000 -81

6
=99999919 7.5+ 5x2-10
6. D) 2| 101
21 50 1 4 §+%—10
; i 2 =7.5+2.4-10
=9.9-10=-0.1
21 6 |0
2| 3 0 14.(C) 108+36x4+2.5x4+0.5-10
1 1

108
101=1100101 ¥><4+2.5><470,5_1o

7.  (C)9997 x 10003 25%4

= (10000 - 3) (10000 + 3) 12 + - 10
= (10000)2 -9 0.5
= 100000000 -9 =99999991 =12+20-10
=32-10
8 (D) 2| % =029
2| 9 ]1 15. (D) 2.8+(52+13x2)-6x3+8+2
2 24 1 5 3
T 2.8+(;><2j—6><—+2
2] 6 0 13 3
2 3 0
1 1 9
2.8+.8- +2
= 1100011 12.8-2.25=10.55
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26. (A) 16+4x4x[3-4x{4x3=(6)}]=(2+4x8)
(ﬁx02j—5x1+3
16. (B) 7.2+ |h12"™ 0.05 16 2
—X[3+4X2]+ —
53 16 32
7.2+ (70 x 0.2) - ——x100+3
> 3] 32
=7.2+14-300 +3 LxeX%5 =6
=24.2-300=-275.8
74 5 2x3 ( 4x4 4 j
= —x2+| 44+ —-—x4
17. (B) 5.8+ ;-x5-6x — 27. D) —4 16 4
c a1, 6X2X2 1x2+(4+1-4)
s 1x 2 =2
24 1
=15.8-+ 28. (B) 5+50f5x2+2+20f2x5-(5-2)+6x2
=158—48=11 5+5X5X2+2+2X2X5_3+6X2
18. (C) Use BODMAS S+25x2+2+4x5-3+6x2
19. (D) USEBODMAS 1 1 1
20. (D) EXZ+EX5—EX2
21. (C)
2 5
3.2 4 - 2.2 9
| =—x%x5|+3x—
22. (A) 4.5 (0‘8 j A 5 2
4.5-20+2 _ 4+25-10 19
=-13.5 A 10 " 10
4.2
it 42-12%x3+8+2+15
23. (A) 3.8—( ><3j+5x2x10/5 )
0.7 29. (€) §x2-4+9+5
3.8-18+20 Change signs
3.8+2=5.38
42+12+3-8x2-15
(5+§x5j;(4xi+éx4jx(ij - 8§+2+4-9x3
24- (©) 5 )" 16 72 18 ’
42+4-16-15 15
Sge(l+d)x o e 2 T 4vd—w 19
B 18 18
18  8x6 30. (B) (18+20f1j (2 stj (2+§0f§j
SXE_T 4)\3 4 8 3 4 4
_8 8 (g éxsj (2X4X4j
"5 75 =18 2x137%37%)7 (3733
9 2 9 5 5 2 4
25. (D) _x(_j+(_jx(_+_x_x_j g x Dy 3X3X3_15 7
15 \3 16 4 2 5 5 9 ox4x4 8 8
9 2 (9 5 2 8 5 3 1
—xZa| x| ExEx— _2. 2. st
15 3 (16) (4 5 25] 31. () -5+ 5%6x7
_ ( _Zﬁj __ 5%, 3  1.51
‘153 5725 2 2x6 2 2 8
9 2 100 40 0 -19
= _— = _
15 3 9 9 8 8
ﬂ HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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32. (D)
36+420f6X7+24x6+18+3+(2-6)—(4+3x2)+8
21+30f7
_ %6 .. 6 310
 42x6 18 4 8
—148-2-2_9_ =7
= -, =9-2=
7-[4+3(2-2x2+5)-8]+5
33. (B) 2+20f (4+4+40f4)
7-[4+3(2-4+5)-8]+5
2+20f[4+1j
4
7-[4+3(3)-8]+5
2+2><£
4
7-[5]+5 7-1
2}(3 i
17 17
_6x17_51_ .1
4 2 2
&~y ’ y[(x— y) +3xy}
34. (A X|:(X+y)2—3xy:| » +y3 X
(x+y) ~(x-y)
Xz_yz
x° -y’ \ X +y° by
T XXy exy) vy xy) Xy
4(x+y) (3 = xy+y* ) x(x—y)(x* +y* +xy)
- (x2+y2—xy)(x2+y2+xy)x(x2—yz)
=4
x* —8x X +2x+1
BP0 9T oo BT
2x” +4x+8
x—5
x'=8x X' +2x+1
(P = Q) = R= ) G ¥ —ax—5|"
xX—5
2x* +4x+8

()(—2)()(2 +4+2x)
(x2 —x—2)

(x+1)2 y x—5
(x —4x-5)" 2(x* +2x+4)

) (x—2) y (x+1)* 1
(x+1)(x—2) (x+1)(x—5) 2 2

51+320f1+(51—77+99jx9
2 3 4

><(x—5) 1

9 "8 "20) 11
36. (B) 1
5+50f ——-10x10+20
10
11 11x1 [46_63 20}<9
2 3x4 [9 8 189 11
= 10-5
1[11_ 12 {46 519
= —| —X—4———FX—
502711 |9 6) 11
- 1 6+ZX2:|:1|:6+Z:|
5 18 11] 5[ 2
l_ﬁ}_ﬁﬂi
" 5L2] 10 10
8:[8-3)+{(4+40f8)+4-4x4+8}-2]
37. (B) 8x8+4-8+80f2-7
SXE
“16-1-1
2 7
_68 2 _8
T3 17 3
38. (D) b X3+ y® Q:(X+y)2_3Xy
(x-y)2+3xy’ x*-y?
2 _ _ 2
R:(X+y)2 (x2 y)
x*-y
X%+ y? x*-y?

P=QR= Typiaxy  (x+y)?-3xy

(XY - (x-y)?
X2_y2

(x+y)(x*+y°-2xy) (x-y)(x*+y*+xy)
(x*+y*+xy) (x*+y* - xy)

X47Xy _
(x-y)(x+y) =P
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39. (C) ,2 11 .2 1 1 3 ,4
3 30 3 4 25 s
Zor7li3 3 tiot
5 2 4 4772 "4
11 30x3 1 5 5 24
— — X —=X—X—
3 11x2 423" 5
= 2x15 4 3 3 4
5x2 "3 47279
N
2 2
3 7 3 1 1 1
1L i1 of = _[3=+4=0f 5=
40. © 5X18 1 0f16 [ j
1 1 1
_+___
2 8 4
3 .15, 16 115 1 1
==X — X4 | X_—— |-+ =+ =
5° 8 5 24)2 2 2
23
6
1 1
41. (A)Valueof—l+z+§><2+5
=-1+1+5=5
42. (A) [(80+5)-(84+6)]x5
{§x18}+[4x2]

43.

44,

45.

47.

48.

49,

51.

[6-14]x5 —40
12+8 20

113 x 87 = (100 + 13) x (100 - 13)

= (1002 - 13?) = 10000 - 169 = 9831

41
|
376

=2

—éx6><2 1=15
3

[54-(5+2)x8]+13
48 -4-3x8-2
3-(9-3x8+2)=6

11+[41+§0f81]_leg+i0f13+

27-8+11 1
B e 1—
20 2
(B) 5.6 —{2+0.6 of (2.1 -2.6 x 1.12)}
=5.6-{2-4.872}
=4.0872
1800 = 20 x {(12 - 6) + (24 — 12)}

1800
X {6+ 12

B)

=90 x18=1620
11+11x11-11+11
=11+121-1=131

(26 - 13 x 2) + 2 +1
0+2+1=1
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Simplification (CDS — 2022-2021)

CDS EXAM Paper 2022 -1 (C) V2021 ++2021-1 (D) V2021-1

1. What is the value of the following? CDS EXAM PAPER 2021 -II
(5.4)° -0.064
(5.4)° +2.16+0.16

5. What is the square root of 23 - 4,/15 ?
23 - 415 FITFHAFE ?
(5.4)° - 0.064 (A) V6 - 32 B) 7-3J5
(5.4)° +2.16+0.16 AL 2 (©) J3-25 (D) 5-43
(A) 4 (B) 4.4 ~2 -
(©) 5 (D) 5.4

2. Whatis the value of the following?

1 1 1
+ +
5V4+4J5 6J5+56 76 +647
+ L + L
8J7 +7J8 9V8+8V9

1 1 1
+ +
5x/Z+4x/§ 6x/§+5\/€ 7x/5+6\/7

1 1
+ + ?
8\/74-7\/5 9\/§+8\/§ a’ﬂ":ﬂqw%

® B
©1 (D)

3. If x=9999, then what is the value of the follow-
ing?

4x° - x
(2x+1)(6x —3)

g ox 59
Zlﬁ‘(x—9999, (2X+1)(6X—3) I AT HT T ¢

(A) 1111 (B) 2222

(C) 3333 (D) 6666
' LI S S
4, What is 1+\/§ \/§+\/§ \/§+\/Z

1
J2020 ++/2021

(A) V2020 +1 (B) V2021+1

equal to?/ TaF IR T ?
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Solution
3. (C) x=9999
(5.4 —(.4) © x
1. (© 2 2 4 —
(5.4)" +5.4x.4+(.4) X —x
, = (2x-1)(6x-3)
a®—b® = (a-b)(a2+ b2+ ab)
3_ 3 2
= a—b = % . x(4x —1)
a +b”+ab (2x+1)3(2x - 1)
54-04 =5
1 1 1 x(2x-1)(2x +1)
+ +
2O 574405 5061645 647 + 746 = 3(2x+1)(2x-1)
I X290 3333
7J8 +8J7 80 +98 73 3
) . ) 5. (D)
= x/2_0(\/5+\/1) @(J@h/g) R SR S
1 1 1 > 2B B
+ + +
\/E(x/?+\/€) x/%(x/g+\/7) \/ﬁ(x@+x/§) 1
+
020 021
B-Va_ Jo+\5 T-6 V2020 #7202
=
J20 V30 Jaz =>2-1+3-V2+/4-3+...
J8-\7 Jo-48 +4/2021-+2020
ke | Vm2 R
= 4/2021-1
1 1 NER LB 8
~F BB B BT 5. (0 \23- 4415
111 = J23-2x2J5 x /3
8 8 9
111 = |[V3-245]
2 3 6
= J3-25
H HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
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Simplification (CDS — 2021-2010)

CDS 2021 1
b+ vb? — 2bx
What is the value of x,if —— ————=a?
b —+b* —2bx
w= a®, MxFHAAFT ?
b —+b* —2bx
ab 2ab
@A) @a+b) B) a+1)
2ab ab
©) (a+1) D) (2 11y

(x* -1)(x* —9x +14)

The expression (X2 + X+ 1) (X2 - 8x+ 7)

simpli-

fies to :
5 i i (x* -1)(x* —9x +14)
(x2 +X+1)(X2 —8x+7)
TR R Trm ?
(A) x-1) (B) x-2)
(€) x-7) (D) (x+2)

What should be added to (x-

2x—-5 5
(x2 —5x+6)(x—4)'

] 7 Fr Sigr e =rfsw arfew

1
(x-2)(x-4
2x-5
(x2 —5x+6)(x—4)

T B ?
o
(4) (x2 —-7x +12)

1
(B) (x2 +7x+ 12)

1
(€) (x2 —-7x- 12)

1
(D) (x2 +7x— 12)

CDS 2020_II

4. Ifxm= 1Y /x/x then find the value of m.

A xm= Wy xJx © T m AT FME ?

A) = B) L
(A) 3 (B) 3
3 7
(C)Z (D)Z
1 1 1 1 B
V2 2B B A T J8g 100
(A) 1 (B) 5
(C)9 (D) 10
CDS 20201

Ifx=2,y=3J3.2= 66 ,then which of the
following is true/ F=fafad & @ Fna@ T ?

A y<x<z

(B)z<x<y

(Clz<y<x

(D)x<y<z

If n is a positive integer, when Vx _ x/xx then
what is the set of solution?

A 1. T T O €, W EHFT (Vx _xfyx FEed
o1 T, Treferiad o 9§ S R ?

(A) {1, n% B) {1, Jn}
(€) {1, n*/% (D) {0, n%
CDS 2019 11

1
Ifa= /74,3, then what is the value of a + =

1
=/ qd a+ — =kl 71 sarel |
-&r&:a 7+4\/§: a a

(A) 2 (B) 3

(C) 4 (D)7
What is square root of 16 +¢./7
16 +@.f7 T TS |

A) 4+ 7

(B)4- 7

€3+ 7

(D)3 -7
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L
a+71 23
b+

10. Ifa, b & c are positive integer &

then the average of a, b & c.
. 1
IfE a, b 3R ¢ TATEF YR E R ———————— = —

a+
b+

9 a, b 3T ¢ =1 Sirea ae |
(A) 1(B) 2

(C) 1.33 (D) 2.33

CDS 20191

46 x+2J2 x+243
11. Ifx = ——=———7=, then + =?
J2+43 x-2J2  x-2{3

46 x+242  x+2V3
afg x = ,qd + =7
J2+43 x-2J2 x-23

(B) V2

(D) 2

12. 10 _5, 1
11 1

X+

, Where x, y and z are natu-

1
y+—
z
ral numbers, then what is the value of (x +y + 2)

%:3+%,w,x,yaﬁ?zmw%,
X +

1
y+=-
Z

Ta (X + y + z) T AH Faws |

(A) 6 (B)7
(C) 8 (D)9
CDS 2018_1
‘ 5-3 J5+43
13. What is the value of 5+ -3
\/g—\/g \/g'i'\/g %7
55~ (53 P ENE
(A) —2J15 (B) 2415
(©) 15 (D) -J15

CDS 2017_II

14. The value of /1 + 1+ 1+ ...
141+ 1+ ... 1 1

(A) Equalsto 1

(B) Lies between O and 1
(C) Lies between 1 and 2
(D) is greater than 2

(0.35)2+0.70 +1

15. What is the square root of

2.25
0.19?
(0'35);;2'70 oo 1 A fHEF TR E 2
(A) 1 (B) 2
(©)3 (D)4
CDS 2017_1
Ja+tb -va-b

a—
16. Ifx = m+\/r,thenwhatisbx2—2ax+b
equalto (bza)?

af x = Ja+b-+va-b
| Ja+b+va-
TR (bza)?
(A) O
(C) ab
17. What is the value of

[on

, @ bx2? — 2ax + b &=

[on

(443 +547)% +(443 -547)%
443 x 443 + 547 x 547

A S ?

(A)O (B) 1

(€)2 (D)3

18. The values of x which satisfy the equation 5'*
+5!* = 26 are

IO 51 + 51-% = 26 ! TE F qA X F HAE hiA

qE?
(A)-1, 1 (B)0, 1
©) 1,2 (D)-1,0

12
19. What is the value of 34/412—5 ?

12
34— mrum g ?

125
3 2 4 2
(A) 13 Bl ©1lz (D27
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CDS 2016_11
20. The value of the expressions
2 2
(243 +647) +(243-647) is equal to
243 x 243 +647 x 647
2 2
(243 +647) +(243-647) S N
243 x 243 +647 x 647
TR E ?
(A)0 (B) 1
(€2 (D)3
x 10
21. =% "4/7 and x —y = 8 then the value of
y 3 b4
Xy is equal to.
x 10 y .
fe \E— 3 \/;aﬁI x-y=8% @ ® xy FAH
feperh s & ?
(A) 36 (B) 24
(C) 16 (D)9
22. If m and n distinct natural numbers, then

23.

which of the following is/are integer (s)?
e m &R n for=1 e qoifer §, @ Fr=fafaa & @ wF-9v
Y g § 2

., m n
i —+=
n m
N m n
ii. mn | —+—|(m?+ n?
n m
oo mn
ili. —5——
m® +n”

Select the correct answer using the codes given
below,

= T T e = W W FE W A
(A) iandii/ iR id  (B) Only ii/ ¥aa ii
(C) il and iii / i 3R iii (D) Only iii/ = iii

b
If % =" % then which of the following is/are
correct ?
b " . .
e =2 = = &, et o & e @ € 7

b’+c’+d® d

a’+b’+c® ¢
.. a’+b’+c® a
. —/——5——7=—
b’+c’+d® d
Select the correct answer using the codes given
below

24.

25.

26.

27.

== fSU 7T Fe =1 TENT R HE W G
(A) Only i / %aa i

(B) Only ii /%o ii

(C) Both i and ii/i 3R ii gt

(D) Neither i nor ii/ 741 i 3R = & ii
710 — 519§s divisible by

710 - 510 foped faums ¥ 2

(A) 0 (B)7
(C) 10 (D) 11
CDS 2016_1
If x = 213+ 2-1/3 then the value of 2x* - 6x - 5 is
equal to.
Ife x = 213+ 23 ¥, 1 2x° - 6x — 5 1 A fFEH
TR E ?
(A) 0
(B) 1
(€2
(D) 3

Let m be a non-zero integer and n be a positive
integer. Let R be the remainder obtained on

dividing the polynomial x"+ m" by (x — m) then.

T AT m T Y= g 3TR n T SFTHS qoi € |

A TSE R, 98IR X" + m" il (X — m) ¥ faim #6 =

T ATHA B |

(A) R is a non-zero even integer
R T YRR 9H Ol §

(B) Risodd, if m is odd /R fovm ¥, =fe m famm €

(C) R = s? for some integer s, if n is even
et gk s F AU R = 2%, e nwm &

(D) R = t* for some integer t, if 3 divides n
fort qfer ¢ % U R = € &, 4% 3,0 %1 fawifem
FAE

If 42v = 128 and 3%2% — 99 = 0 then the value

of x + y can be equal to.

g 420y = 128 3T 330» — 9w =0 ¥ A x + y 1 fFek

T E THATE 2

(A7

(B)

(€)

(

5
3
D) 1
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28.

29.

30.

31.

32.

33.

_ \/a+2b+\/a—2b
\/a+2b —\/a—2b
equal to (given than b = 0)

If X then bx? — ax + b is

_ \/a+2b+\/a—2b

qﬁx_\/a+2b—\/a—2b T bx?-ax + b fwer
R e ? (=€ b= 0)

(A) 0 (B) 1

(C) ab (D) 2ab

Ifa®=117 + b® and a= 3 + b then the value ofa
+ bis (given that a > 0 and b > 0)
e a® =117 +b* s a=3+bT, da+bFHaAFI

22 (fmmmE fra>08Rb>0)

(A)7 (B)9

(©) 11 (D) 13
CDS 2015 11

1 1
Ifx = \/3 + 4/2, then the value of X3+X+§+x_3

is.
3 1 1 .
A x =/3 +4/2,T X +X+§+X—3wqﬂw%?

(A)103 (B) 203
(C) 1042 (D) 2042

Which one of the following is correct ?

frtferfiad & & He-w T el F 2
(A) V2 <¥6 <4 (B) V2> 46 >4
(€) ¥6 <J2<¥4 D) 46 >2 > ¥4

91 1

If X=—— then the value of 3 — is.
216 (_X)%

tri%:x——gl%?ﬁS FHIHA RS ?
216 (_X)%

A 8 B § C i D i

@z B ©5 (D3

34.

35.

36.

37.

38.

. 5++/10 5
What is 575 _ 2420 — 32 + J50 equal to -
5+410 .
(A) S5 (B) 572
(C) 55 (D) V5
CDS 20151

0.75)°
The square root of %+ [0.75+ (0.75)2 + 1]

is.

(0.75)° ) :
o5 T 1075+ (0.75)+ 1] =1 e T E ?
(A)1 (B) 2

€3 (D) 4

Ifa-b=4and a? + b2 = 40 where a and b are
positive integers then a® + b® is equal to.

At a-b =43l a2+ b2 = 40 ¥, 5T a 3K b *AHH
quiiek €, @ a® + be forash aer ¥ 2

(A) 264 (B) 280

(C) 300 (D) 324

2
When a ball bounces it rises to 3 of the height

from which it fell. If the ball is dropped from a
height of 36m then how high will it rise at the

third bounce ?
N S e %wﬁ

T SR St ¥ | AfE 9 i B 36 H H = @ frEn
S, @ ST AT 39T | 9% fohaet S ST ?

1 2
(A) 1051# (B) 10§ =,

1 2
(C) 125 =, (D) 125 =,

What are the possible solutions for x of the

equation x"* = Yx* where x and n are positive

integers ?

et x 7 = ¥fx* % < x ofR n o i x %
fusE s FA-9 € ?

(A) 0, n? (B)1,n

(C) n, n? (D) 1,n?
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39.

40.

41.

42.

43.

Let A and B be finite non-empty sets with the

number of elements in A = m and number of
elements in B = n. Let m > n. If for some inte-
gerk > 1, the number of non-empty subsets of
A = 2¥+ the number of non-empty subsets of B
then which one of the following is correct ?

o e TR A 81t B uiifia, stfafied o= € am A ®
Tl % HE = m 3R B H q@l %1 e = n ¥ |9 i
m > n ¥ | Afg freh guiew k > 1 % fau, A % sifafem
SUH=El i G d frefataa § | we-w wg ¥ ?
Am=n+2

Bm=n+1

(C) m =n + t FFelt foom st wem p & fag

(D) m = n + t &t =21 T t & fau

If n is a natural number and n=p}'p;’p;

where p ,p,,p, are distinct prime factors, then
the number of prime factors for n is.

afe n Tk o o ¥ SR n = pliplpd T p,,p,.D,
=1 e19w TorETS ¥4 n % SIS UFEUE T SE
FNE ?

(%, * 1)x,+ 1) (x,+ 1)

CDS 2014 _1II
What is the remainder when is (17 + 23 +
29%) is divided by 23 ?
(172 + 23% + 292%) I 23 H AT T T ATFSA M E ?
(4)0 (B) 1
(€)2 (D)3

CDS 2014 1

The difference of two consecutive cube.
S SHATT T T SR R € ?
(A) is odd or even/ fou =1 ¥4
(B) is never divisible by 2 /2 ¥ faur= it 75t
(C) is always even/ Hed TH
(D) None of these / ST | ¥ =g T&1
The product of for consecutive natural number
plus one is.
=R SFATTG F Uil 1 TOF®E 3R Tk 1 ANTRe S
g2
(A) a non-square / 3 T&1
(B) always sum of two square number
TS < o Heed! 1 ATEa
(C) a square/ =Fi
(D) None of the above / ST # & 1§ 781

44. Consider the following in respect of the num-

45.

47.

48.

ber /2,33 and {6
Hemstt /2,33, Y6 % an # frafafaa = faam wifsm)
i. {6 isthe greatest number / Y6 TETHEEE |
ii. V2 is the smallest number
V2 T s E
Which of the above statement (s) is/ are cor-
rect ?
SR FA B W HEA-H/D FoH T E 2
(A) Only i/ aa i
(B) Only ii/%aa ii
(C) Both i and ii/i TR ii T
(D) Neither i nor ii /7 i iR 7 &1 ii
What is the remainder when 4!°?is divided by
77
e 41000kt 7§ faefor e smar & o Sroe o E 2

(A) 1 (B) 2
(€) 4
(D) =79 & =g Tl
CDS 2013_11
Which is the smallest number among the fol-
lowing ?
frfafaa & wom S1e) den -9 E 2
(&) (5772 (B) [(5%)1*
(€) [(27)=] (D) (2791

fraF gea T ?
(A) 6
(B) S
(C) 4
(D)3
CDS 2013 1

(A) 2

B) 3

C)3.5
4

(
(
(D)

Study Center : Jaipur * Gopalpura ¢ Lalkothi ¢ Jhotwara  Ambabari « Udaipur ¢ Alwar



Mother's Previous Year Questions | Simplification

49,

50.

51.

52.

53.

54.

55.

ﬁ

2

NG
The expression [(\/5) } gives.

win (3)° ] et

(A) a natural number,/ &9 Ui &

(B) an integer and not a natural number
quiieh © 3R & qoie e §

(C) arational number but not an integer

(D) areal number but not a rational number

If16 x 82*2= 2mthen m is equal to.

A 16 x 87 +2=2m T d m FFEH g € ?

(A)n+8 (B) 2n + 10
(C)3n+2 (D) 3n + 10
CDS 2012 11

The least number of four digits which is a per-
fect square is.

o =R STl i =IaH e HA- g S o o ¥ 2

(A) 1204 (B) 1024

(C) 1402 (D) 1420

If V10 + ¥x = 4 then what is the value of x ?

A 10 + Yx = 4% 790 x oheh s ¥ ?

(A) 150 (B)216

(C)316 (D) 450

Ifa=2+ \/§then what is the value of (a? + a
2)‘

AT a =2+ /37, W (a2 +a?) FAT FNE ?

(A) 12 (B) 14

(C) 16 (D) 18

If 196x* = x° then x® is equal to which one of the
following ?

At 196x* = x° 7!, 99 x* Fr=fafaa & 9 et w =+
TR E ?

(A) f—4 (B) 14x* () i‘—4 (D) 14x?
(15+\/200)aﬁ1(27— 648)mqwquﬁw%?
(A) 4 (B) 147

(€) 345 (D) 5V3

56.

57.

58.

59.

60.

61.

CDS 2012 1

What is one of the square roots of 16x°—-24x°+
25x*+20x%*+ 10x2-4x + 1

16x° - 24x3+ 25x* + 20x% + 10x? — 4x + 1 Fargat
HTFHAE?

(A)4x*-3x* +2x+1 (B)4x*-3x* -2x-1
(C)4x*-3x* +2x-1 (D)4x®>-3x*> -2x+1

V5 ++43 5 -+3
W i + ?
hat is NN NG equal tor:

J5 +43 5-3

55 Bids T s 2
(A) 16 (B) 8
(C) 4 (D) V15
What is the value of w ?
0.32

v0.0032 T T E 2

0.32 ’
(A) 0.0001 (B) 0.001
(C)0.01 (D)0.1

If 2=+ 21*m =24 then what is the value of m?
Afg Qm+ 21+ m = 24 T, A m FHE FNE ?

(A4)0 (B) 3

3
What is the smallest number that must be
added to 1780 to make it a perfect square ?

1780 H =qH hi-Hl HEA Sesh 3§ 07 o1 S S

THATE ?
(A) 39
(B) 49
(C) 59
(D) 69
CDsS 2011
What is the square root of

0.324x0.64x129.6 5
0.729 x1.024x36

0.324%0.64 x129.6 .
?
0.729 X 1024 x 36 T A FNE

4

— —

(A
(B) 3
(C) 2
(D) 1

~— —
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62. What is one of the square roots of 9 — 2./14?

63.

64.

9-2J/I4 FITF THAFNE ?
A) J7-3
B) J6 -3
C) J7-5
D) V7 -2
If 3*x 27*= 9*** then what is x equal to ?
AfE 3% 27*= 9* 171 @ x foFeh IR T 2

gl W

(
(
(
(

(A) 4 (B) 5
(€)6 (D)7
1 3 1 N 1
What o " J8 JB-v7 7-6
1 1

- + i ?
NN \/g_\/zlsequalto.

Torerar S € ?
(A) 0 (B) 1 €5 (D)%

If p= "= m and " = p?= n then which one of
the following is correct ?

T p*= 1= m R r¥ = p?= n T, T FrAfeAEa # 9 FF-
T UH TR E ?

(A) xw=yz

CDS 2010

What is the value of /= 9 1 € ?

J29.16+4/0.2916+/0.002916+/0.00002916

(A) 5.9949 (B) 5.9894
(C) 5.9984 (D) 5.9994
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Solution
b +b* — 2bx 5. (C) V2-1+3- 2+ Ja-3+5-/4+
1. ( ©) — 5 —=
© o= J100 - Jo9
2b  a+1 =-+10=9
2Vb?-2b>  a-1 13 8
6. (D) 22, 37,62
b(a—l) — (21/2)6 (33/2)6 (63/2)6
(a+1) = vb?-2bx . 23,39 69
square both side T Z>y>X
b?(a —1)2 7. (A) P _xxx
W =b*-2bx .
VX _gn
S o D=2 o
Xx=b2—- ——F——F—
a?+1+2a . _Xx
N o
a?b? + b? + 2ab? - b%a? - b? + 2b’a ,
= 2 = X
(a+1) = x=_3
4ab? 2ab x=n?
= 2bx= W = X= (a+1)? Both option (A) and (B) are right. So we putx =
1 which satisfy the equation when x = n does
(x - 1)(x2+x +1)(x2-9x + 14) not satisfy the equation.
2. B
B) (x2+x+1)(x2-8x+7) 8. (C) a= J712/12
_(x—l)(x—7)(x—2) _ 2 a=2+ /3
x-7)(x-1) ~®-2 .
—=2_ 3
1 2x -5 a 3
8 A x-2)(x-4) "A" (x*-5x+6)(x-4) 1
at+t— =4
2x -5 1 a
A= —_—
= (x2—5X+6) (X—Q)(X—4) 9. () \/16+6x/7 = \/16+2 63 = l(@_,_ﬁ)z
. 2x-5-x+3 (x-2) =3+ /7
(x-2)(x-3)(x-4) = (x-2)(x-3)(x-4)
1 1 1
s S VR S R A
= (x-3)(x-4) T x2—-7x+12 by 1 16 16
1
4. (A) x™= Wk xJx°7? C+§
xm = 14/XXX3/4 soa=1
1 1
Xm: X4 14 = = Xm: X8 + 1 J,-?
c+§
1
m= g "~ b=2

ﬁ HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions | Simplification

3+2+1_

Required answer = 3

46
11.D) x= m
x _ 2¥3
22 V2+43
by C/D

x+2\/§ _ 2\/§+\/§+ 3

x-2J2  2J3-2-3

__46
T2+ B

X 22
- 23 J2+.3

by componendo and dividendo

x+2\/§ _ 2\/§+\/§+\/§
x-243  2J2-2-3

x+2\/§_ 3\/§+\/§

X—2\/§_ J2 -3

by adding (1) and (2)

x+2\/§+ X+2\/§

x—2\/§ x—2\/§
3\/§+\/§+3\/§+\/§_

RN NN R

*
12.(9 3+—1 7 :3+%

NEEN)

3J3 +2

[-(a+Db)(a-b)=a?b?

(5+3—2\/E)— 5+3+2\/E)
5-3

[ (a+b)2=a%+2ab + b2
and (a—b)? = a%? - 2ab + b?]

8-2J15-8-2J15 4415
2 2

14.(C) Lety= 14+ 1+1+...
Then, y =

= 2|15

1+y Also,y>0
On squaring both sides, we get

y*=1l+y
= y?-y-1=0

_1+41+4
2
-y can’t be negative

_1+J§
Y= 73

(0.35)2+0.70+1
2.25

(0.35)2+2x0.35x1+(1)2

= (15)2 +0.19

(0.35+1)2 019 1.35)? 019
(1.5)° - 1.5 '
=(0.19)2+0.19=0.81+0.19=1
\/; =f1=1
Ja+b-+va-b
16.(A) We have x =
Ja+b+va-b

_\/a+b—\/a—b Ja+b-+a-b
~“ Ja+tb+a-b * Ja+b-+a-b

(Va+b-Va-b)
(a+b)-(a-b)

a+b+a-b-2va%-b?
2b

2a - 2Ja? - b?
= 2b

a—-+a?-b?
b

=Y

€ (1,2)

15.(C) Lety= 0.19

=X

=x=

=x=

= x=
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= bx=a- /g2 _p2
= a-bx= /g2 _p2

On squaring, both the sides, we get
= (a—-bx)?=a?-b?
= a?+ b?x? - 2abx = a? - b?
= b2x?-2abx+b?=0
= bx?-2ax+b=0
(443 +547)2 + (443 - 547)2
443 x 443 + 547 x 547
(443)% + (547)2 + 2 x 443 x 547
+ (443)2 + (547)% — + 2 x 443 x 547

) (443)2+(547)7

17.(C)

_2[(443)2+(547)2]
 [(443)2+(547)2]

18.(A) We have 5" + 5! * = 26
= 5.5* + 5.5 * =26

55X+i—26
= . ox =

Let, 5 =y
5
5y+§=26 = 5y?-26y+5=0

Sy2-25y-y+5=0
Sy(y -5y) - 1ly-5)=0

(y-5y)(5y-1)=0
5*=5o0r 5!

§/4 12 _ §/4><125+12

12 125
i/5
y 1
§] 3 ) 8 3><5 ) § 1
5 {5 5

(243 +647)" +(243-647)°
243 x 243 + 647 x 647

Ly

1
=>y=5,g

.

= x=1or-1

19.(A)

5
00+12 i/512 _ 3(§j3
125 V125 {5

3

o) w

20. (C)

2[(243)2 + (647)2} +2x243 X647 -2 x 243 x 647

(243)2 + (647)2

2(243)" +(647)" _
 (243) +(647)

21. (D) fe®, x-y=8

10
:>x+y:?«/xy

(x+y) =122 (x)
100
= (x-y) +axy = — =
(xy) [ (x+y)? = (x~-y)* + 4xy]
100
= (8)’= (T— 4] )[R

64
=64 = ?(xy):xy=9
22. (B) 3t m qen n fir=-f= wrpfaes e €, q@

i. (%+%)@5Tﬁ%ﬁ@mqﬁ3ﬁ'{wq{%{m=naﬁ:
FoT { ST B |

B m n
ii. mn| —+— |(m? + n?!
n m

m® +n’ 1
= mn :1

n m® + n?

ST FU il, m 9 n F It 7E F T e |

mn .
ili. 9 ——— =T, akm=n
m-+n

m® +n’ 1
= mn 2 2:1
n m +n

ST T iii ST & |

23. (A) fen# %=%=§

ad, a=bk, b=ck, c=dk
~a=dk® b=dk? c=dk

=k (=]

b+c®+d® (k) +(dk)’ +d°

atebtret (a) + (dk?) + (dk)’

HEAD OFFICE : 201, Himmat Nagar, Gopalpura Mode, Tonk Road, Jaipur-302018
0141-2711689, +91-7073909991 | www.motherseducationhub.org



Mother's Previous Year Questions | Simplification

24.

25.

26.

27.

ii.

B @’ (k° +k° +1) _dS(k6+k3+1)_ 1 d
KK K] B +1) 3 a
o7d: e { TR E |

a?+b?+c? [(dk) +(dk?) + (dk)’

b? +c? +d? (dk2)2 T (dk)? +d?

@ (K°+ K"+ k) 1P (K + K7+ )
& (k'+k+1) kK41

=K==
d

ST AT il STTI© |

(D) 710 _ 510 = (75)2 _ (55)2 = (75+ 55) (75_ 55)

= (1680 + 3125) (75— 5%) = 19932 x (75— 5)
a7d: 19932, 11 A faamsa ¥
ﬁm%x 2134 27113
L2X% - 6X - 5 = 2(2U3 + 2133
- 6(21/°+ 2°1/3)- 5
= 2[2+271+ 3(21/3 + 219)] -6(21/3 + 2°1/3) -5

1
= 4+ 25X 6210+ 21| -6(21°+ 2°1F) =5
4+1-5=5-5=0

(A) ?il‘f;c:agﬁ(xn+mn)ﬁ(x—m)ﬁ%rmrﬁlﬁwq?

%A R I B E, @9 (X7 + m" - R), (X - m) 51
fausa g

A f(x) = x*+ m"- R

o f(x), (x - m) 5 FI=T € |

S fim)j=0=>m*+m"-R=0=R=2m"

. m T ST YOI & T n T S Jorieh § |
31d: R T YT 9 Uik € |

(B) ﬁ?’:ﬂ'%’ 4x2y = 128 :>22X+y= 27

=>2x+y=7 [ a"= a®"=n=m]...(J)
qer 38%xQ2%y — O = () = 3%+ = 3%
= 3x + 2y = 2xy [- a”=am=n=m]...(ii)

[t (i) |y = AE A (i) H W W,
3x+ 2% (7-2x)=2xx(7-2x%)

=3x+14-4x=14x-4x2

=4x%2+ 15x+14=0

54x2+8x-7x+14=0

=24x(x-2)-7 (x-2)=

=Ex-7) (x-2)=

P
x 4

LX=2 [Ff x 1 7 fmreres =1t 21 wekan]

28.

X =

29.

30.

(A) g, x=

(\/a + Qb)2 + (\/a - Qb)2

X 1 AE 9ot (1) § W@ W

2x2+y=

=y=3

7T>y=7-4

L X+y=2+3=5

\/a+2b+\/a—2b

\/a+2b—\/a—2b

379, TR TR T W,

+J(2a + 2b) + 2,[a + 2b) (a - 20)

(Va+2p) = (Ya—2n)’
a+2b+a-2b+2va®—4b?

= xX=

a+2b—-a+2b
_ 2a+2Va® —4b’
4b
a++va® —4b’

S>X=—"—

2b
=>bx?-ax+b=0

A) fmg a®-b*=117 .o (i)

T a-b=3 ... (i)

et (i) o < 9Rl I A R

=a*-b*-3ab (a-b)=27

= 117 - 3ab(3

=117 -9ab
=ab =10

(a-D)* = (3)°
) =27 [FF (i) ]
=27 =9ab =90

379 (a+b)2=(a-b)*+4ab
=(a+th)?=(3)2+4x 10
=(a+h)?2=9+40=49

. (a+b)=7

[-a>0dqa@b > 0]

ﬁ":n%, x:\/§+\/§

1 1

N

"X B2 B2
BNt N SN

3-2

.'.x+l=2\/§

X

T vel /A B W,

1
x3+—3+3(x+
X

ij =243
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31.

32.

33.

','x3+i3+x+l:24«/§—2(x+lj

X X X
=243 -2x2J3
=243 - 43 =203

11 1
(&) e 2, 46,34 M 22,6°,4°
2,4,374 12%F)

()56 )

1 1 1
(64)1= ;(216)1= ;(256)12

J2 <6 <34
.91 91 125 (5Y
(A)ﬁqT%X_216:>1"216_216_[6j
5 1 6
=(1-x'*=¢ _1 5
(1-x"=6"(1-x)1, 5
3o+ _3.8.9
(l—x)% 5 5
(C) =T

\/4+\/4—\/4+\/4—.... = xX=+4+V4-x
T 9l = o T
X’ =4++4-x
= x°-4=y4-x
= (x2—4)2:\/4—x
= x'-8x2+16=4-x
= x'-8x2+x+12=0
= (xX2-x-3)x*+x-4)=0
= x*-x-3=0

T x2+x-4=0
x*-x-3=0

L1412

2

C1+413 _1+413
2 2

[ o fag Biet W]

5++/10
3. O 55 2720 B2+ 50
B 5+410 _5+\/ﬁ
"5J5-4v5-4V2+52 V5442
5+\/ﬁ (\/g_\/E)

_(\/g_i_\/g)x(\/g_\/g) [afF=feRo T W]

_5V5-5y2+50 - 20
J5* -2

[- (a—b) (a+D)=a>-b?|

:5J§—5ﬁ+5ﬁ—2£:3£:£
3

5-2
.75)°
ss. ) (107

_ \/(0.75)3

0.25

+[0.75+(0.75)" +1]

+[1.75+(0.75)°]

=J1.6875+2.3125 = /4 =2
3ra: 31fiE e 2 ¥ |
(B)fen® a-b=4 ... (i)

QU &l = I A W,
(a-b)* = (4)°

= a2+b2-2ab=16

= 40-2ab= 16

= 2ab=40-16

=2ab=24=ab=12

a+b=+a’+b*+2ab
=J40+24=64=8

atb=8
[eft (i) @ (i) = ST R
2a=12=a=6
A () HaFAAWIRE6-b=4=b=2
3T a® + b? = 6% + 20 = 22 x 3% + 0= 23(3% + 29
=8(27+8) = 8x35= 280
37. (B) Tt SV F 9, 7T At S = [%] x 36
ol At ST % dTe, T hi S = [%) x 36

36.

[ a2 + b2 = 40]

:ix36:8><4:g:1021ﬁ‘
27 3 3 3

a1 et SoTet ¥ e e F S 1o§ HE

Q
»
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38.

39.

40.

41.

42.

(A) e € x = yfx* Wl x 9o n T iR §
T TF log T ™

log xV = log [\n/xx J

= &log x = log (XX )Un =logx*"
X

= Jxlog x = Zlog x
n

= \/glogx—ilogx:o
n

= logx [&—E}:O
n
logx #0

.'.\/E—E:O:M/gzi:i:n
n n

Jx
T T T FA T, );—2=r12

=>x*-n* =0=x(x-n?)=0

L x=0"x=n?

M X HEETA0, n2 T |
(B) THIIER 2m— 1 = 2K+ 20— 1

= 2m= k4 Dn

e (B)¥ m=n+1

so2ntl= Dkt Dn—y D Dn= Dkt Dn

= 2°(2 = 1) =2k= 20 = Ok

- n =k NfE g
(C) =% < 7T HeEe % [OTETS pi,p........ p’s 9
H €, 79wl % ST TIETs (o, + 1)(o, + 1)..... (0, +
1)30T | 370 n ST TORETS (x, + 1)(x, + 1) T20(x, + 1) T |

o 177+ 235 4 20%
A 23

(23x1-6)" +(23x1+0)” +(23x1+6)"
23
(_6)23 + (6)23

. ST e = g =0

(B) f&w Tu foreredi # T (B) €, wifw < swamma
BT T TR oo oo g 8N 2 | A A B € |
S — (2)*=8, (3)* =27
=27-8=21

21

o =10.5

43. (C) @R FHAFT & YUkl 1 TUAH SR T H AR
oo foreht e ot =i ol Sran € |
S — (17 x 18 x19 x 20) + 1 = 116280 + 1
=116281
= (341)2
44. (D) fu T HEmst & gar FH ™
21/3, 31/3, 61/6

2,3,6HAH =6

45.

1 1

@) (5772 = 5%= 5~ (o)
(B) [(57)71° = 5*
y- __ 1
(©) 129712 =22 57~ (o)
D) [(27]2 =2
‘qg’r (5—2)4 < (25)4
1 1
(@) (&)
S (29 < (5
<. T B e = [(279) 2] 2

47.

Ax =6+ o
= x*-x-6=0
= x*+2x-3x-6 =0
= xX(x+2)-3(x+2) =0=>((x-3)(x+2)=0
Sx=3 [ x#-2]

(B) wr

X2=6+x

48.

T aedl = o e
y’=6+y=y*-y-6=0
=>y?-3y +2y-6 =0=>y(y-3)+2(y-3)=0

s y=3T-2
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V2 2 2
49. (D) ﬁmwm=[(x/§) } (V2) =(2/"* =2

i T e arEfern dem € T aiis e 1
50. (D) ¥ 16 x 8»2= 2m=(2)* x 23*2= 3n + 10
— QA +30+6) = Dm 5 D(Bn+10) = Dm
=3n+10=m [var=a”=n = m]
~m=3n+ 10
51. (B) 5T, Wewd il o7k &l HEAm = 999

w
—

9, 3

O

VIO

61 |099
—1 61
38
=999 - 38 =961 = (31)2
= (31 + 1)? = (32)% = 1024

o

52. (B) €, Jiordx =4

o7, T gl 1 T wH W
x=(6)*
x=216

53. (B) ¥, a=2+.3
=23 [EgE A
o9 a2+ az- /3
:(2+J§+2—J§)2—2
=(4)-2=16-2=14
54. (D) feng, 196x* =x°
= :
=| 2 |7196=(14)*=> =14
X
soxE = 14x2
55. (C) (15++/200)siRt(27 — V648 ) = wemrgeeh
=\/(15+\/2ﬁ)(27—\/@)

\/(15+10\/§)(27—18\/§)

=405 + 27042 - 27042 - 360
=J45=3.5

56.

57.

58.

59.

60.

61.

62.

(C) fashea (C) ¥ 4x° - 3x> +2x -1
= (4x®-3x%)* + (2x-1)2 + 2(4x*-3x?) (2x- 1)
16x° +9Ox* - 24x5+4x2+ 1 - 4x
+ 2 (8x"- 6x® — 4x° + 3x?)
16x° +9Ox* - 24x5+4x2+ 1 - 4x
+ 16x*— 12x° — 8x® + 6x2
16x°— 24x5%+ 25x*+20x% + 10x2-4x + 1

NN RN
_(V5+aJ +(¥5 V5]
(5-B)(5+a)

_5+3+2\/E+5+3—2\/E

8] - (i

__16 _ 16475
5-3 2
32
1/0.0032 _ Y10000
0.32 32
100
J32 (1o 1
J32 100 10

(C) fea g, 2m+ 21+ m = 24
= 2m+ 21, 2m= 024 = 2m(] +2') = 24
=2m3=24=21=8=2°2
~m=3 [ aT"=a'=Sm=n]

(D) &9 9 § R, qof S 1849 S 43 x 43 €, & ik
el < S gl o W@ 1764 = 42 x 42 Mt | HfE
e 1780 H o 95 = S o I 1 © e
% 01 ot & = |
. o1l g = 1849 - 1780 = 69

D O.324><O.64><129.6_\/324><64><1296
(D) 0.729x1.024x36 \729x1024 x 36
_18><8><36_1
27 x32x6

D) 9 - 2V14 =7 +2-2x 7 x+2
= (ﬁ—\@)2 =J7-2
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63. (A) fem ¥ 3xx 275= 9=+ BB B T +T+6-B -5+
. 3xx 3%= 32(x+4) = 3x*3x= 32(x+4)
=>x+3x=2((x+4)[a"=a"=m =n] V54
=4x=2x+8 =J9+J4=3+2=5
_8_, 65. (A fm¥p=r=r=p¥
LXESE qAM p?=1"=1 = p*/¥
Tt (i) = (i) §
1t 1 1
o4 & B8 B-7 - Vo5 P g s X2
y W
1
- = XW=YyZ
V5 -4 66. (D)
_Vo+V8 VBT J7-6 J29.16 +/0.2916 +/0.002916 + +/0.00002916
- 9-8 87 7-6
\/2916+\/2916 +\/ 2916 +\/ 2916
6+V5 J5+4 100 V10000 1000000 = ¥100000000
SRCES. PR IR U —
- - _54 54 54 54
=(\O +8) - (V8 +7)+ (N7 +6) 10 100 1000 10000
=5.4+0.54 + 0.054 + 0.0054
(V6 +5)+ (V5 +4) =5.9994
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Notes
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